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CanYou Square the :
number 32 in your If X= 950 then X times X is =
6 . Multiply: 97,875 by 99,999 =7
head in O seconds? a09)2=2
NO . (99.999)2- (99,998)2 =

. 3+7+10+17+27+44+T1+115+186+301 =2
Calculator
. (95)2+975-10000+ (31)3 =2

&

Series Calculations

20,000
Minus (100)?
Minus (95)2
Plus 25

+ (10)°

+ (999)2— (998)2
Minus 997

+ 7000
Minus (100)?
+ (995)?
Minus 99000
+ (105)?
Result =

JOIN US at FB:

www.facehook.com/groups/immii.bhd

N N[N [N [N [N [N [N [N [N [N ) [N
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COINIT & GF(O BFICATER AT
&: e> I: do fANG
1. 10000-8154= 2. 100000-16634=
3. 10000-1469= 4. 100000-6348=
5. (55)? = 6. (65)2 =
7.(75) = 8. (85)% =
9. (95)2 = 10. (105)2 =
11. (115)%= 12. (125)°=
13.33x99 = 14, 79+81 =
15. 29+91 =
16. 987979756x999999999 =
17.58+12 = 18. 88+22 =

19. 12+12+12+12+12+12 =
20. 42+42+42+42+42+12 =

21. 246757 22. 380038
=153535 -234534

23. 8979655 24. 979798

-2309809 ~-180909
25. 46x125= 26. 900 x 250=
27. 680 + 5= 28. 320 + 5=
29. 430+5= 30. 1000 + 5=
31. 304300 + 500= 32. 204040 + 500 =
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oP: 33-36: T

3
2

1
8

37.
38.
39.
41.
43.
45.

47.
49.
50.

ol.

+7 +10 +17 +27 +44 +71 +115 +186 +301=
+9 +11 +20 +31 +51 +82 +133 +215 +348=
+7 48 +15 +23 +38 +61 +99 +160 +259=
+9 +17 +26 +43 +69 +112 +181 +293 +474=

9+3+1+7+8+5+2+5+10=
23+12+27+22+28+28=

416 x 1000 = 40. 37x42=

6 +9= 42.999999x999999=
099999x999999=  44. (999999)%=
(99993)2= 46. i faed 34
412032014 =

(93)%= 48. 994x999=
12343443212+50=
345273122443542324311+ 99999999999=
Write in number: Ten thousand trillions, 122

billions, 200 millions, 5 thousand, 9 hundred and

%WW @ kT TS FACF Wo-8offT5 I AT |

fog 2 g A.......

o W@ so RfNCE (@R wF =@ ot b RiFE Fa0e ARR) @t
¢ofb /e T AT FACO AR | AR S_F G 9, IR
2 YT IORT L AT @R ]G | S < (T R T @ 4G | G
IR fFC IR AT | (AT oV AR Wi v zeR | S_Ie
PR MG AR IRFATHHC |

we sy - 2wt s (cem: 01633-686868 )
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Math Genius-I

CONTENTS

TR U
WY e afs
e e ¢ Prommer ofe

0: «=f6 spirgre ez Trick!
3: 1’s Trick
R: 2’s Trick
©: 3’s Trick
8: 5’s Trick
: 959 Birthdate <59 Trick!

¢ A

. TFT IR FO GBI AR O ¥ Trick!

q: T S <=9 Trick!

b IET PR FS O AR 8 O 7707 T Trick!
9. IFT IFF @ I w9 I Trick!

10: owRIR @b @re Trick!

11: 8’s Trick!

12: 15’s Trick!

13: 37’s Trick!
www.tesolbd.com ~7~ www.Kkids-inL.com
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14: fox ST 9B WY @@=t I+ Trick!

15: T R (T ¢ TR 99 { KT [T Ry Wi
Trick!
16: e@tag sz Trick!

17: e’ s=e Trick!

18: wzR{B @i =& Trick!

19: «=f e Trick! (I¥cer... =e.....)
20: 9 «aT® Tricks!

21:15’s Trick

22:100’s Trick

23: 0’s Trick

24:1000’s Trick

25: 1111°s Trick

26: Birth Date Trick! (Just Amazing!!)
27:266642998’s Trick!

28: A Cool Multiplication Trick!

29: 5 fac ot 9 Trick

30: 50, 500, 5000.... e = w1 Trick
31: @6 qr=Iw @ =9 Trick

32: @,3¢e, 00, 3¢, ’¢o, ¢oo, Sooo AT
www.tesolbd.com ~8~ www.Kids-int.com
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atg Trick

33:  SRIIA RANE @, @ S YA SRS Go @t
FACET do TR GR T GAIF kP 9fo G AFCI Gt G0
& Trick

34: % sErgrEe wfR Trick

35: «fb wprgEe wifR Trick

36: wwR{b SEiEe @t Trick

37: s e wraw wpmgRe @ Trick

38: % =3 R vl UK (459 GAT RFGCHT AT
So e ) wro SR e Trick

39: P 0a-GF MY IS vd A QWFT M....., W.....,
©09.... 391 IS A2

40: SSC/HSC/Hons./Masters-aa GPA/CGPA == Trick
41: 9 q T @FIF RYIF @ I YITT 5odddd TOR
FACS ARCI?

42: IR TR 9K =09 Trick!

43: T oM oRF FA! FREeg =

44: -7 FAN(S et !

45: Y 8 »-«F (S (73!

www.tesolbd.com ~9~ www.kids-int.com
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46

47
48:
49:
50:
ol:
52:
93:
o4:
55!
56:
o7
58:
59:
60:

;e A e Trick! (Amazing!!)
Y, 98 5-F @S AL

br-F (RS Y

-4 &I, (7!

\09q-¢q T (!

39 T, (7!

0 AT i &g (e

oo e et &g (e
0-g &g (X!
BIHIT GI(B @R &g (!
>-4F &g (79!

TR &g L

TR SR &Y (7!
YIRS «is wIfR Trick

0 (TF 55 qR o, 517 ¢ v sy T FfR

Trick

61
62
63

. Rt @6 segEe Trick
: Rt wiESt segEe Trick
© ST ARG S Trick

www.tesolbd.com ~10~ www.Kids-int.com
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64: IR fees s Trick

65: *-fefes e wfR Trick
66: o-fEfEn TR wfk Trick
67: TSI PN 04 TS A2
68: @ MY &Y ML

69: a fawx etiw &g (e

70: WG TRk @ &g ¢

71 ST @R &g (e

72: SERH @R &g @ (b, S, W, O, 8b, &b,
Vb, b, b, b T &t 72w Awfe.....)

73: > e wtem g (vt

74: 2 facx fom fefenba itz weow g (et

75: e @6 &taF Trick (3!

76: SR 7S GRfo @rad Trick @yt

77 =R @ W 9@ e T T caeg o =1 1 rick
78: 5-9F ORI Trick

79: IRFTEN OIFY TR I ST FICA & O &R
AR !

80: Y (AT do IRY &K+ ey et I Trick

www.tesolbd.com ~11~ wwwkids-int.com
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81: Wl =K Trick !

82: I ©IR-IIC IRAYT < Trick

83: @b @R Trick 2!

84: IF TSI TSI TACS (I AR O 7 Trick!
85: TN VI TG (0 FS IR ©f F#1'F Trick!
86: W 1 “EIw F© o1l Y ¢Aw= of T T Trick!
87: ‘% SReFF YK FfR Trick!

88: ‘o (F ¢>-97 TR Trick!

89: ‘8o (T 85-9F TR Trick!

90: ‘@ fie 7fb IR TR GF @M @@ ¥ Trick!
91: wR == R 7o AT 94 FAF Trick FwT @
A SRFRH R R T YA SR (P FHCT =T

F do!

92: SRTIA YT W 8 J§ WYT ¢RI Trick

93: ety Trick

94: T Soo TIRW A&®: [bro TUF Yoo «F ]

95: T (IIF IRYICS /15 (TS S EFCSH Wy ¢ fex e
39 Trick!

96: 2 R T YT 50 e ed TR “A=fS !

www.tesolbd.com ~12~ www.kids-int.com
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97: AN RSN ST 7wl !

98: ot Sk Rmeea T

99: fifver/ e TR @ATIFT (77 T &g !

100: SGER0 AT [ETT @4 T @ ! !

101. A wow squaring trick!
102. Multiplication Trick!
103. SES SpirRe FfR !

104. (IC3eT ke ~eara @ wifR Aafs ! !
105. Writing the biggest numbers

m

Q IZER (T (P SR FIEPE
R CTFS (AT 3¢ CTITST ML FAC© TA |
* (PN TP I I ACI A |

“FIBIF I TP JOIF I JRFACH !

T TEEET - QT e 93 -
T-AR !
www.tesolbangladesh.com
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www.facebook.com/TesolBangladesh

01633686868

www.facehook.com/TesolBangladesh

www.facehook.com/groups/immii.hd
IRETCACIT 5¢ % TA-Z@F SRS SIS WCZ | ORF WG @ AArs
IS (g FI ] O OV AR (FONTO2 (73 | ‘AT N 8 A
(TR SB-GF IIIAR (74T (0r IRFCe e Rers wa-gas
TR S/ R T AR | GF I AR SRI-Of | O, TAC*
G G e AfEfore FRh 2eTe oyl qE wfeAE S
q FG QAT | PP RA-RAH SRR A NG FACO
AR NF v 10 o e 2 B3 | @ &=y = @t Math
Genius-1 & 1l o7 o T@-T@wma Ty TR | ORF Ty
e gNdl IE w@ Math Olympiad and ALOHA
Bangladesh-« =i 1 e F9012 19 | @ VIoT AfSdieag sAneranft

o338 dfefie =1 Internation Mental Math &
1Q Institute [IMMII], == @rm= =1 “Connecting

Math and Brain” «x I 5 Sy 2 9me<| S00% Ta-
QAR FICE TAF G S (ST | 512 BMMII 2059 7T (At
Mental Math Competition-az wes Iz @
ARSI T '@ FTTer AR T-RIQAITHS SRR A A |
JREICACH SifeiTed & (P 9 BINTR—

TS
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e e @

T G0 TV [, SRF W 9| F @RIE 1w, e s
T a1 Y A9 [ T Aog@ g Y G0 FA FCe 2T,
TR (AT *SFT S O RIQ-RIANe 08 AN [MCF 1 7 fereeasy
FE, R, @ erfrs @A FOT ANCE?, @ RIOI W] AT
R, 9 SRIF0 F Serg AN I AW A7 LACoT SRl
fRrFFaele g I SARTE | W @, & faw firiee oft stiaw #iits
7, ™7 Ry ofi I QR RIS Fe AMITS AR 7| (o
SR fOfG *I& 7 20T GIA *[F (AF F 9 | qIP A A | ITKY
P A SRS OF ([FEIT B (I 7S ZCF A | A @, (SN
AT, COTNCIE FACO J(J | I 39, AN ANS | el (O
T TRl Face | W[ g1, 2019 s s Mental Math
Competition-« Sk*==d FACo o1 @S 7l 78 ! (O &y S
(AT AT | (SN FEFeO[ ST I3V |

TS

Htad e e Prer-rer ¢

T HrEd e ¢ SfeeRs,

T TSR HeTR I | Fwareie e 98 0 @I @It g@-
A oy frena g-*fe ferer foves | epeai ! g e
(P18 G TR 1 (SI? WAV BG-T@idl & fArarg, wifs =1 s
Gy 4G FACR? W WooRS RENT 6 vy ema e W 5%
@ g8 I o fFg wwged Sfiel SN St ! GTete! OT=eeT JF
Py @ FRPYECTT IO AR SR 6 @it 9y fwit e oite =ieg,
TOE TGI8 B AW &Jl AMThR? @ TSI ARG LT
SISET S A AN TRl GO Y = @ | o
I (FC B2 FACR 9 | O befd Q12 N AT F@d
12 fFeIE FITe 27 92 F00 = | W[© FEAE- GRS
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“A leading astrophysicist suggests that the

answer to the millennia-old question is both.”
—Mario Livio

WG & T9g F$ 38 @ 7w, 7 egfe e oa Anea
I @2 Wite ffos e, Wb afe @ e e
I ¢ W] I8 A e w9 | g Wiy fogwe ¢ 37 | =i
T I WIAWITH] F=901R T2 JBE 8 dFfore [arem & |
I, W Focer? cof 2ipfon @l ooy =i JBiE a5 8 !

TE F @ 57 TEE 32 (@ RO AT N (o
TN CT AR S N (B, (PR Pfed fOrag A1 2N o | R
Tl ORI AL RGP I ¥ (AP (1 g B a1 787 |
@ff (P TFCIT 2CF P I W, FAS 9 | G0 SR «&l
[ | NI FBT T FIRRCTT A1 ¥ (e Rt g~ Mo SRR
e AT, oX P q@mr Mg qreg bt siwee e
aquEEaR afs (T fFerg AR To Fwe oy e
FIEFEGT 8 FAT AfS (oFTe IR @ TP WepBey | o
TN B O @ @ WO WILAWIGRET | 2T, Ww G]e
PRICS PIt SkF @ AT L& TR | B8 GT (OF MRANTER T
IRITHE GO ! (T (S TS 1 (o1 M I? @7 (S TS 1
S-F 5 T Sl T ST (I (1T T Ter ~ANeq AE 1! @
et afefs - egfers afse | Tz 78R/ 38 o, 5%, @i,
AP1 @ ARCIH (A TTF WS L& (AR, AT IR S *1
[ ST O QTS A | GG AL (2CACR R AR, IR AFE A2

GG e FASPTE D B |
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P @ IO N-AWE 20O AT W5 doeT TFy 2
o of¥l A1 Tt FACe AR | Aoy FFCe 6, e
PA-RAIAE FIE SHF G T G2 dS 7 I
Q@ I2 G SRR, &{oEw, W, @i, awEs
SO MFA B IPCE AT e (707 e 205= |
2fSfs Trafe et I WY N S SR 20y,
eferfrer zhR| GHF R EAFPSHLEsS AR 9@
MESETCS | @ J30 @THE T AWEe WH BCACR
QAT GG (ot W1 ZINPOHTE AfdT 1 WP |
2], (SNIMR &, T O SEIE & | (STInd @
AfeHaib N fcafe qweea= (ot e ENF5HE5° | «ft
TIFICS SRS B8 A (TG G FAF | TIPS
e @ ofopElGr | Srwmer 1 At aft
TG RRIETE JE I T RF W@ {60 I |
TRCE SERPITS 2= W [0 e Face *ee 23 | s
e e Mty 18 uR o Fress, JR-N, IHOHR
YT FEA A8 |

WS FIN, A IR |

www.facebook.com/phonetician
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The Biggest Numbers......

SR IO ST (b I=F] @ forcees Seaeet, “S<g, > T
5 SO0 q@ A" W 5 1 I TICS AR | €
e, 3N, T, G TEE I@ AR, CONE G | ST
T, “q, ofi FAHC T AT (@D | @O O W
GFeN 7 SRE 9@ R @G A PREeE | Aoy [eiem
ATTIRET | G TV CCATET & A I IR R08 17 |
T =TS | G TACS (BTN SNICHR (MR doer HifFFe
W @ I@ MR S | IS fEweest I, (G2 Sl =1 | Ol
Q 33 9 R Sege TN | (SRS O «ita Biggest
Nubmer-&t= t&t |

Centillion (cf5fFwEe)s 1030
A large number: -7 == 303 5 ==y |

One Centillion (% c )3

1,000,000,000,000,000,000,000,000,000,000,000,000,000,000,
000,000,000,000,000,000,000,000,000,000,000,000,000,000,00
0,000,000,000,000,000,000,000,000,000,000,000,000,000,000,
000,000,000,000,000,000,000,000,000,000,000,000,000,000,00
0,000,000,000,000,000,000,000,000,000,000,000,000,000,000,
000,000,000,000,000,000,000,000,000,000,000,000,000,000,00
0,000,000,000,000,000,000,000,000,000,000,000,000,000,000

www.tesolbd.com ~18~ www.Kids-int.com
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Standard Dictionary of Numbers

Million = 10°= 1,000,000 (-« *& uf& *r)

Billion = 10°=1,000,000,000 (5-4% =& » 5 =)

Trillion=10"=1,000,000,000,000 (5-&% =& 335 *77)

Mitio R
Billion 10° | sz o0 0

Trillion 0° | e srae
Quadrillion 10° | oirem -
Quintillion 10% S

Sextillion 100 | <% A @,

Sentillion 100 | GfEFREL S

Octillion 107 | GEFRE ) e @@ T T,
Nonillion 109 | 0,000 GIfEFRN EIGfFR?
Decillion 0% | G, 99 5-41 o MG =y
Undecillion 10 | fee =@ vy wow fre e
Duodecillion 0% | T© RYT T0R FAFGRER!

Tredecillion | 10% | i5Gqie | mfs smifess

Quattuordecillion | 10%

10° |2 MRF? FC O G

Quindecillion

Sexdecillion 10
Septendecillion 10%
Octodecillion 109
Novemdecillion 10%°
Vigintillion 10%
Centillion 10%%

Googleplex = 10" = (s system): (s-a =& 3005 %)
10,000,000,000,000,000,000,000,000,000,000,000,000,000,000
,000,000,000,000,000,000,000,000,000,000,000,000,000,000,0
00,000,000,000,000

www.facehook.com/grouns/tesolbangladesh
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0 CTICT T =17 (105)? - (104)? = Fo?
T @, 6 RS wAE [el... t=6t] v [Remw
T @ WA 6T @ AW |

SIRE,

1. (105)2 - (104)2 = 105 + 104 = 209

2. (1006)? - (1005)? = 1006 + 1005 = 2,011
3.(10)2- (9)2=10+9=19

4. (10500)2 - (10499)2 = 10500+10499 = 21,999

Dare to Solve
Time: 30 Seconds

(50)2- (49)% =7?
(150)2- (149)2 =7
(1500)2- (1499)? =?

(15001)2- (15000)? =7

5 R SRR IS B G
(6)2-(2)2="7

Solution:

(1st number + 2nd Number) x their difference
= (6+2) x (6-2) = 8x4 = 32
Now it’s your turn:
(16)2-(12)2="?

(26)2 - (20)2 =?
(100)2 - (95)2 =?
(1000)2 - (900)2 =?
(900)2 - (100)2 =7

apop=

www.tesolbd.com ~20~ www.XKids-int.com
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W

Ol AI*T2 DI AP U T ORF AP CICT I
(0O AR | R T (A D FIETHCGCRR AR QST
JC JC TCHFF AN T FCF AR | @ & (SN 9o

feac vpefoe 2o 2=
S, v IR
. f@mEN ewnsr

92 @ 1Y f&feT, comE @ wdt 9o =g ol

G G0 I @Gl ST SOl FefR:
ﬁ'ﬂ‘:‘wmﬁsww:'”

Tex: I8« |

A @A, g @I e W97 wex g 1y [ArR ©oF |
©iz-

o TN IR g Gt Ty Fee 2T, SREH TR
(BB FACO =T |

) P! S (67 it R =7 @R 2earee I3
S 2T |

. ! g e vy RITe =7, THg I A
AT 91 |

S 7T &R 20e BIReE #7067 kF Fifde g fofe
PCOR (S

F. S (AP ¢ WA ®. GG @I-feE |
o | 5. Q0 O |

<, SFHS G T | v, fqae= Gf<e |
. ey fofe |

9, BC0T el |
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100 85 70 55 40 25 10
99 84 69 54 39 24 9
98 83 68 53 38 23 8
97 82 67 52 37 22 7
96 81 66 51 36 21 6
95 80 65 50 35 20 5
94 79 64 49 34 19 4
93 78 63 48 33 18 3
92 77 62 47 32 17 2
91 76 61 46 31 16 1
90 75 60 45 30 15 0
89 74 59 44 29 14
88 73 58 43 28 13
87 72 57 42 27 12
86 71 56 41 26 11
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5. @u-aF *tda RIS 52 =ee

7. bo-F 45 RGP =ve
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"The only way to escape the corruptible
effect of praise is to go on working."

---Albert Fin<tein
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QAT TN TS J | (FF? — 92 ‘& -9 T8F 9
(T A | GF G T A RCO AT |

1 5+5=10 27. 10+4 =14
2 6+4=10 28. 9+56=14
3 7+3=10 29. 8+6=14
4. 8+2=10 30. 7+7=14
5. 9+1=10 3. 10+5=15
6 1+9=10 32. 9+6=15
7 10+0=11 33. 8+7=15
8 1+10=11 34.  11+4=15
9. 9+2 =11 35. 12+3=15
10. 8+3=11 36. 10+6 =16
11. 7+4 =11 37. 9+7=16
12. 6+5=11 38. 8+8=16
13. 5+6=11 39. 11+5=16
14. 447 =11 40.  12+4=16
15. 10+2=12 41. 13+3=16
16. 9+3=12 42. 14+2=16
17. 8+4=12 43. 15+1=16
18. 11+1=12 44, 10+7 =17
19. 7+5=12 45. 9+8 =17
20. 6+6=12 46.  11+6=17
21. 10+3=13 47. 12+5=17
22.  11+2=13 48. 13+4 =17
23.  12+1=13 49. 10+8 =18
24. 9+4=13 50. 9+9=18
25. 8+5=13 51. 11+7=18
26. 7+6 =13 52. 12+6 =18
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53. 13+5=18 7. 57+3 =60
54. 10+9=19 78. 77+23 =100
55. 11+8=19 79. 44+56 = 100
56. 12+7=19 80. 90+10=100
57. 13+6=19 81. 95+5 =100
58. 14+5 =19 82. 94+6 =100
59. 15+4=19 83. 92+8 =100
60. 16+3=19 84. 75+25 =100
61. 17+2=19 85. 80+20 =100
62. 18+1=19 86. 85+15=100
63. 10+10=20 87. 67+33 =100
64. 11+9=20 88. 88+12=100
65. 12+8 =20 89. 69+31 =100
66. 13+7=20 90. 70+30 =100
67. 14+6 = 20 91. 89+11 =100
68. 15+5=20 92. 87+13=100
69. 16+4 =20 93. 74+26 =100
70. 17+3=20 94. 50+50 =100
71. 18+2 =20 95. 45+55 =100
72. 19+1 =20 96. 43+57 =100
73. 20+5=25 97. 61+39=100
74. 25+5=30 98. 59+41 =100
75. 35+4=39 99. 49+51 =100
76. 55+5=60 100. 52+48 =100

Mental Math will ensure your LOVE
for mathematics. It is NOT everything
of Math BUT it is a great thing to start
with! So, LOVE Mental Math.
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@t 8 Rersee gt

% 7@ “ivear ooz, IWOW....
ﬂ:@‘:

T, (STIRDT + LT TRAT)+(ST IR - T TRAT)

= X (ST IR

Rg: @riEeT ¢ REmie (@iee 0o T | (4 @b wifi
W AR | A AT (AR

@+ | e -
X R R
STIRAT | RAT | WIS | REAET | =dqoRYIXR | =T IRAPIXY
101 56 157 45 202 112
108 60 168 48 216 120
115 64 179 51 230 128
122 68 190 54 244 136
129 72 201 57 258 144
136 76 212 60 272 152
143 80 223 63 286 160
150 84 234 66 300 168
157 88 245 69 314 176
164 92 256 72 328 184
171 96 267 75 342 192
178 100 278 78 356 200
185 104 289 81 370 208
192 108 300 84 384 216
199 112 311 87 398 224
206 116 322 90 412 232
213 120 333 93 426 240
220 124 344 96 440 248
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227 128 | 355 99 454 256
234 132 | 366 102 468 264
241 136 | 377 105 482 272
248 140 | 388 108 496 280
255 144 | 399 111 510 288
262 148 | 410 114 524 296
269 152 | 421 117 538 304
276 156 | 432 120 552 312
283 160 | 443 123 566 320
290 164 | 454 126 580 328
297 168 | 465 129 594 336
304 172 | 476 132 608 344
311 176 | 487 135 622 352
318 180 | 498 138 636 360
325 184 | 509 141 650 368
332 188 | 520 144 664 376
339 192 | 531 147 678 384
346 196 | 542 150 692 392
353 200 | 553 153 706 400
360 204 | 564 156 720 408
367 208 | 575 159 734 416
374 212 | 586 162 748 424
381 216 | 597 165 762 432
388 220 | 608 168 776 440
395 224 | 619 171 790 448
402 228 | 630 174 804 456

o S @ @I YB TR T 8 [eamt = @rmiwe
o8 IR TRTAMIT= a8 | 2T 7f’ Fo?
Te: wia wi e,

F. (ST RYE + T IRAM) + (57 R - T MRAT) = o8
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=3 X (ST M) = bo8
SR,
RC o1 = 2 X (ST FRAM) - (ST AT + T IRAJT) =dq8
ARY,
(STIRAT + T IRAT) + (ST IRYT - T FRAT) = R X (ST TR
=X 8o
AR, &N IR 80X |
548 = Q X (SN FRAYY) - (S IRAJT + T L)
Or, a8 = 3 X (80%) - (803+ T YY)
Or, 348 = b08-80%-3T T
Or, 598 = 803-3T A
S0, T TR =80R-548 = W
AT,
(2RI FRAFT-fASI FRATT) = 3a8
or, (803- TR R4TT)=>48
S0, faSi AT =80%-548 = 3
Tex: 2w AT 8o}, from AnfG 23 |

SRRy @ 7S IR @RI ¢ R @i
b0 , SITAT QAT Ldb | TRT FfG 62

SRR (G Wb IR R ¢ Ramiee qmie
qqY , S[TAT GG TR 30 T, T AT Fo?

SRS ¥ W b SRR R 8 R Qe
880 , ST (B AT [0 T, T YT T2

"Common sense is nothing more than a
deposit of prejudices laid down in the mind
before vou reach eiahteen." --Albert Einstein
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B AT AT 8 ST N 3
S O[T TP

(NIxN2)x | (N1xN2)+
N: | Na | NixN; N1=N, (N1+N2) | (N1+N2)
3 |1 3 3 9 1
4 | 2 8 2 16 4
5 | 3 15 | 1.666666667 25 9
6 | 4 24 15 36 16
715 35 1.4 49 25
8 | 6 48 | 1.333333333 64 36
9 | 7 63 | 1.285714286 81 49
10 | 8 80 1.25 100 64
111 9 99 | 1.222222222 121 81
12 | 10 | 120 1.2 144 100
13 | 11 | 143 [1.181818182 169 121
14 | 12 | 168 | 1.166666667 196 144
15 | 13 | 195 | 1.153846154 225 169
16 | 14 | 224 |1.142857143 256 196
17 | 15 | 255 | 1.133333333 289 225
18 | 16 | 288 1.125 324 256
19 | 17 | 323 [ 1.117647059 361 289
20 | 18 | 360 | 1.111111111 400 324
21 | 19 | 399 | 1.105263158 441 361
22 | 20 | 440 1.1 484 400
o

HB TR @ 8 Ot FTTH weFe 4wt 2w FRYi67 0k
AT | o TR QAT 8 Ol FEF ST FAT {F MABF
O I |

"It is true that my parents were worried
because I began to speak fairly late, so that
they even consulted a doctor. I can't say how
old I was — but surely not less than three."

----Albert Einstein
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105 Math-Tricks

Trick 0: @5 sty Reaess Trick!

000 (AT (T (I TR (Sooo (AF (RT) Framt Faiw Trick!
foam: @ RIS R T OF o, 76F gAY SRS qo
5 (AT IV TS TF IR GFF FA I So (AT [t

fore 217 | 9 Trigge (R T
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d.10000000-6377477 =?

4 TR it ¢ v
99999 910 fefecsa ondwr:
70000000 S TC T *7 T
-26377477 T TS A
43622523 O T FETI

8 (1 T ¢ I
oRife,) FEE 0 S FA
forate 73 |

€.100000000-998877 =? [ oz wrars Soian

999999 910 SRATR BT T et w5
100000000 = ot * e o4
-00998877 T T R TR e

99001123 G | R

Dare to solve each of the following problems in
your head in just 8 seconds:

1. 1000-110 2.1000-102 3. 1000-109
4.1000-186 5. 1000-814 6. 1000-166
7.1000-149 8. 1000-638 9.1000-417

10. 1000-712 11. 1000-998
1000, 10000, 100000, 1000000...... (TF & (FIF IRAT

(@ YT AT ®B) R F717 Trick 8!

1. 100000-1610 2. 100000-1072
3. 100000-1609 4.100000-18546
5. 10000-8154 6. 100000-16634
7.10000-1469 8. 100000-6348
9. 100000-4173 10. 1000000-712
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11. 100000-9968 12. 10000000-1702
13. 1000000-109 14. 10000000-1886
15. 1000000-814 16. 1000000-16336
17. 1000000-149 18. 1000000-63538
19. 10000-45317 20. 100000-73312

21. 100000-998 22. 1000000-34998
23. 1000000-56 24. 100000000-557

25. 100000000-35210 26. 100000000-85091
R e i s G 8 &S wiees #iE Math
Genius—I 1 I2BTS | @T: =TT 3-9F ARRCS o=y fEfeD

P I A? (T G3f6 71 7o FfE qar TR 2oy
ST D Brd? Wi Hiers f[&fts sra 1 11

______________________________________

Trick 1: 1’s Trick

T &eeT oo, wwe @ trick-6a = 1°s Trick. ==
ST S RS | B OF 1 A1

Step 1: I3 I @ (@I GG IR 43S |

Step 2: WG AL © @ 4 |

Step 3: ¥ TP e @i 59|

Step 4: &lf® T (A3 8 [ 9 |

Step 5: 2@ T=TF ey o 99 |

Step 6: @Ry @ WY qwAfRwe o7 A 2fe T+ @
s 94 |

TES: (O T&d (I NPT S T(A |

S ==
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Trick 2: 2’°s Trick

T fE&eT oo, wiwe @ trick-6a = 2°s Trick. @
TPTR R F(A | 551 & ol e

Step 1: I%¢F 991, “@ (@ G0 R € 1"

Step 2: WG © MR @l 39|

Step 3: @D AN & Q@ 9 |

Step 4: &% @E@IBCE © W o 9 |

Step 5: @ IRAYIMT L= YA G RAM &S F&eD
(TS [T 99 |

TeR: (O TG FPTRE =S |

Trick 3: 3’s Trick

Step 1: I%¢F 991, “@ (@ 96 WA € 1"

Step 2: R faged T7 o & e @l 34|
Step 3:  2i® (@EICH A & @ |

Step 4: &% @@ (At © [ w4

Step 5: ¥ @@IBeE & ey ot 39 |

Step 5: @RI 2R YA G RAM &S @D
(TS e 99 |

TER: (O TS HPTRIL © J(A |

Trick 4: 5’s Trick

Step 1: JHCE 1, “@ (@ G0 R 4717
Step 2: q @M 9 |

Step 3: A @B faed 37 =R 2 M ed 39 |
Step 4: Y @D (AT 8 R 39 |

Step 5: Y @EDCP X e o) 39 |

Step 6: @ WG &=y Lrafees o7 Ry e @&
RICHECIREEN

TSH: (O TS HPTRR ¢ (A |
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Trick 5: Birthdate Finding Trick!
TOINR I AL HIICe 39 @ O @ @I T G
30T e #f17 | 063 ArefeteT Spre 34
Step 1: IX G @ FACI SICP 1, “TONE @ WA
T ©© OF WPE ¢ MeT od I (SWE: FIET G
(TIRNITS BCT XE = 30)
Step 2: &% @ECHd AT 9 @ 79 |
Step 3:  2i® @&IBCS 8 ex @ 3 |
Step 4: ¥ (@EICH AL SO @ 7 |
Step 5: ¥ @EIBCE ¢ M e 9|
Step 6: &I¥ T AL & OIY @ T (TARA: A1
T + Qb Ol G 7 Qb @1 F9) |

Step 7:  *I¥ &% FEID (AT 0¢ [ 79|
TSI &A1 FCER (< S-S Yo & Ol | G 2T GG qf
96 SF W7 R | ANGjR Wifers, ©iL 712 .20, ...
Trick 6: ‘IFa FIR F© 51! =R ©f F=79 Trick!
COINE IHT I ©F IR F© B AR ©f 9N =T Mee
AR (SN F© LI (T | ¢o GIFR I AMMer = 71 158§
PR O FGFR IS AR | N6 LTIt Seprael Fai:
Step 1: TOINE IF9 FICR T© 51T O fagd F40 I |
Step 2: &le &6 AL © @ FAC© I |
Step 3: &le WEBd ¢ W @ FACS 47 |
Step 4: HOR TREIT (AT Y RE FACO 37 |
IHS T, WD FO?
@EICBT (KA SRPO ZOR & R 2 ORP A SRYCER
STRARI BTl SR (SN I FICL |
Trick 7: TS s 30’7 Trick!
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(O IFCTF T VN W T (o B iegaloa = ey

T 9, W oM N0 T e | (eva omfs Sepre
<4

Column >

s | e 3
ap| b *e @l d| é|
g —>
g h * 6 | J ® I
m n,, o p q r O}
S 4o U y W X
Y v Z

TR TS I G0 KRS IR TF oS | (74, OF o
ST Row € Column SR TSI 2CACR | €[ (SR
IHC =1 O fery A foel Face | WG Ok (78 @ «ft (@"
A O EIE FE 3 | TONR % O & F ANiG W [
4R | AR T AT P B9

Step 1: 3% =1 ©OF T ANGT ST A TR =
P TR Row-9 SI(R | 8 F7T » R Row-9 | of¥ ¢oif3eT facx
T T A @O > ol A4 GO 2T, 0¥, 8 8¢ wrEe
& (FW Row-4 =t Ol fereas] 39 4R Row-43 [
RISEINE

Step 2: SRR IFHCT I OF &7 NG 5N D ToitRd
ZH O R AT SCZ | 8 FTT 5 R FCT | 9N (AT
AT (74T =1 A GO0 IR TR #1041 Go10F _T,
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oF, 8 8¢ STFARTE (P FACT IR ©f et F7 R

BIKIERS SN

Step 3: WFAF TARR =P (MK, SR G 8 SR FHICH (A
Ce S[ge SR CS (I o2 (A1 TRCR | 9FA, T @
8 QT T (=W [, 0T (& 8 0¥ FACH (=W 77, G
8¢ 1 ¢ 8¢ T=IITH (=M RV SFFaSCel ColleT W= WIS |
Step 1: oI a1 Srwaecell Afed M CONE %9 24w
NG (I = 10”1 @ RO et 59 AN FACS A,
e P07 | O faw el A =k ARIT,

w7, % 7 2. & @g @, Just FUN WITH MATH!

Trick 8: I%7 1R ¥ BISl WItr @ O 37 % Trick!
CONE THCP T+ OF IR F© GIFT AT IR OF I3 F©
O Y T TS 21T (OMICE F© BIFI (AT | doo BIFIR
¥ Afe =@ 7 8, e o AferR F#ce ARE | o
YA PR e

Step 1: TONR % FICR TS GIFT SR ©I(H e F© 947 |
Step 2: 21 FER AN q @AM FACS I |

Step 3: &ie TF ¢o M @9 TS I |

Step 4: YOR® FCTF AL IFHF I3 (@1 FACO 47 |

Step 5: &g T (AP vy [EH F0o 41 |

Step 6: TER TR AT S¢ @ FACS I |

IHS 1, WD T2

TRGCDBR (¥ITTT O G/ 9T 20R OF T30 R T SRF
I SRPGCIA ST BIHT TR O % IR |

Trick 9: g I3 8 IB T F© Trick!
COINE IS I O AP THE F© 8 OF T F© ©f N
I MTS /0T (SINITE F© 51! (AT | Soo BB B ey
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T 9 58, FRe o o2 0o ARG | WH qrotetEn

NOUERISEE

Step 1: TOINR I I RS awe HCo 397 |

Step 2: &1 FER AN 9 @AM FICO I |

Step 3: AI¥ T=F ¢o M @ FACS 7 |

Step 4: JTR T A IFF I @17 FACS I+ |

Step 5: &1 T (AP wue [ F900 1 |

Step 6: PO TR AN S¢ @ FACS I |

IHS 1, WD 32

B 4N RSP Y5/ G620 O I AR T IRF
1 SRPECET 20 OIF IR = | Wow..... I did it!.....

Trick 10: <K @ @d-9g Trick!

CONF IHCP I DN O TP IG G5 @0 SRIPH (FED
T (A0 | (@ (@A TOF SRCFF IR 20O = AP A
q, 3%, S M @l F90e 207 | [H6F QAT STPiael F2:
Step 1: TONE IFF @ @I foq et @G Ry
4R 397 | RAIT G7 2T (oI 0 eq | (@: Hbry)
Step 2: G q MR @ FCS 347 |

Step 3: 2ie T=TCF 5> M wd FACS 3+ |

Step 4: 7ER T3 S M @ T 37 |

IHS 1, FEID o742

TOTE @O R 2T (@ o SREEa TR e F F7adfe | wdie
Shrudby | TG SRIH IR FEPEHE FACO I O TR
IF @35 Q@M puzzled == 31 [Frs =63 | Amazing numbers, ha!
Trick 11: 8’s Trick!

W &P 2w, sewe @ trick-6a = 8°s Trick. =
ST b 2GS | BT, P [ A

Step 1. I, T, “Q@ (@ G0 TRIAT 47 1"
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Step 2: RG> RKEawm 1 |

Step 3: AI¥ TP © WA @ 957 |

Step 4. ¥ FER AN S @ F9 |

Step 5:  @li® T3 © e o 34 |

Step 6: &1 TR ACL ¢ @A 9 |

Step 6: &I @RI QAR (7 R &1 7 (A
T %4 |

TSR (O B8 PR b BT |

Trick 12: 15°s Trick!

R &Rt 15, SIewR @ trick-f5= % 15°s Trick.
T TP 3¢ A | 5o SF [ A

Step 1: 3% 01, “@ (@ G0 R € 1”

Step 2: R © Mex @l 3|

Step 3:  AI¥ TC=F AN 8¢ @ T |

Step 4: A% T=F & e @d 59 |

Step 5: ¥ T F b Wx o 9 |

Step 6: &=ty @ WA «rafees ¢7 A &l T (AT
ISR

TER: TOMIR TEF PR 3¢ =CF |

Trick 13: 37’s Trick!

Step 1: @ @F 938 I3 for SHA WA 47 | @I:
wOY, 888, ¢¢¢ 29I |

Step 2: SRILTET @AM I | (@F: 0+9+9 = )

Step 3: 3R TR for sk TR fae 4resta
Q=T ez o 9 | (099/5=99)

TER: (OIIF TS HPTR2L 09 J(S |

Trick 14: o7 srt= v Ry @M% =17 Trick!
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Step 1: IS o1 for a2 @@ 90 MR €A,

7 2fefb o foq F0 20e =03 | @3 253
Step 2: RAFIMHE ©CHT 4 | I =05 352
Step 3: @I IT WG (T (@G WG [{eamr 7
e.g. 352

-253

099
Step 4: I GFF Tl *OF FA @ (@I G SRS FO
T | RO T wEF g SR M S A | GR G
8 63 P ORI AR @I FWT & J(F |
TI5: R w1 por {2 20T [0 T 95 P *
R |

G TR0 TP
qrof >: Sba
it & s
g ©: Sbq
P
Sobr

IF I T REATER oS A SR S, O (SN
RO AT (ARY 4T AT RS 6 *[O A SRPT
QT 5 | ©I% TR APHIHTO G JF b SR | A&
ST T TR, TP T vl & A |
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Trick 15: T R T ¢ TR G  NIREHT Ty

R Trick!

152 \

1xp e 5/

o | T “/25\ T e
RSP Eoik

o |E
NS oiF
=922 RS TG e
ﬁﬂﬂ“ W’@sﬁ?‘

[(".T‘W A SRIXTHT G S 2T OF) (IFF

A WF)Y = (3%R)(€) = 23¢

RA: @am () T 09 T, *Ro7 =T P S @RITE |

Dare to solve the following in your head:

152 =225 65° = 4225

25% =625 75% =5625

352 =1225 852 =7225

452 = 2025 952 =9025

552 =3025

Functions Squared || « ey fog fow

1052 = (10x11) 52 11025 || SRRRME AT

1152 = (11x12) 52 13225 i@[ﬁ RS

2- (19x 2 2 YIS

to5Pm (i 5| taazs | T I
IR 78 |

145% = (14x15) 52 21025

1552= (15x15+15) 5% | 24025 ||  ** Tz 97T a7

www.connectingteachers.online ~46 - WGWW g
TR (T ST TR
3G FoRIT At
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1652 = (16x17) 52 27225
175% = (17x18) 52 30625
1852 = (18x19) 5 34225
1952 = (19x20) 52 38025
205% = (20x21) 52 42025
2452 = (24x25) 52 60025
2952 = (29x30) 5 87025
555%=(55x55+55) 52 | 308025
645% = (64x65) 5 416025
7952 = (79x80) 5 632025
855%=(85x85+85) 52 | 731025

"Imagination is more important than
knowledge. Knowledge is limited.
Imagination encircles the world."

--Albert Einstein

Trick 16: etaq 9=er Tricks!
Multiply by 5: 5<51f5tE so e wel Fca & ez ot
9|

@: 68%5 =72
ANE: 68%x10 = 680
680+2=340

Multiply by 6: &=t 3RIfG So M @ 34, WS
2 0T oI 9 U TY© FFCTR AN IRAMCS @19 39 |

QA b XY = ?
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ST [(LrXxd0) +3]+bb = Sobr

Multiply by 9: &=t wfbes 10 ea e 37 @R

@D (ACF TR [ 9 |
@: 68%9 =72
AALI: (68x10)-68 = 612

Multiply by 12: &=y sepifocs 10 eg ed 39 @R
TRATIGT fawd &fle wopeTa A @ 39 |

: 68%12 = ?

SAI: (68x10)+(68x2) = 816

Multiply by 13:

2R RAIBE © M ed I @R RAIBT &A1Y @R
MY Q@ S |

: 68%x13 =72

Sr: (68x3)+(68x10) = 884

Multiply by 14:

(CrABE 10 e e 9) + (R fawd+ sanfoa
faaa)

@ 68x14 = ?

T (68x10)+[(68x2) +(68x2)] = 952
(RT:) @IF RANSF So T @t FA7 T2 2= T&F AR
T AT ¥ (o) AT |

Multiply by 15:

(RA7GE 10 M ed 39) + (RA1oE 10 W ed 39) +2
: 68%15 =7

FTATL: (68x10)+(68%10) +2 = 1020
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Multiply by 16:
g 3: (A 10 o eat 390) + (2o 10 o
@ F9) +2]
I : FCTR A RIT @1 39
N: 68%16 = ?
RAISICE
g »: (68%10)+[(68%x10) +2] = 1020
g7 3: 1020+68 = 1088

Multiply by 17:

g™ 5: (FRATBTE do W wel F7) + (UM o ex @l
) +R

g9 X: BT AL RGO fawel @ v

T 68%17 =7

-

4o 5: (68x10)+(68%10) +2 = 1020

qr7f : 1020+(68%2) = 1156
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Multiply by 18:
g 3: (FRAME 20 W@ ¢4 F7) - (R { @t 79)
T 68x18 = ?
ANI:
qrof 3: (68%20)-(68%2) = 1360-136 = 1224

Multiply by 19: Multiply by 20 and subtract the
original number.

o >: (RANBTEF 0 M wdt 9) - (1)

: 68%19 = ?

FAI:

4rof 5: (68%20)-(68) = 1360-68 = 1292

Multiply by 24: Multiply by 8 and then multiply
by 3. (R b 7= @ T | PR © TR @ 79 1)

{1 3: (RIMT 20 foea war 7)) + (FRAB*4)
: 68%24 = ?

AAI:

4171 3: (68%20)+(68%x4) = 1360+272 = 1632

Multiply by 27:

TRAHE vo M vt F9 @R T (AT RYIHT © @

e 59 |
30%27=(30x30)-(30%x3)=900-90=810
Multiply by 90:

MG & M @l F7 G TP do M &d 37 |
30x90=(30%9)x10 =2700
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facehook.com/TesolBangladesh

Multiply by 98:

MAFMGCE Soo MTT @l F7 @I T (ACF MM fawe!
R 39

30%98=(30x100)-(30x2) =2940

Multiply by 99:

MAIMBTE oo M wo 7 IR T (AP WA [T 39 |
30x99=(30x%100)-(30) =2970

Trick 17: @@ e Trick!

o ST ¢ CLICT FA0© A2

79+81 =7

G0 2E (GI P (7L !

7+S19+811 =80 +80 =160

SRET, (XIRATT FHT T FRAT) = b 8 brd-GF LT TR
bo X = HVo
Gl TCER SRPETET AL B4:
$.19+91 9.87+13 . 77+27  €.99+81
€. 119491 ©.817+17 = 777+33 . 91+79
¥.29+491 @ 22+12 5.58+12  5.88+22
Trick 18: wita=® s s=er Trick!

@9 +102 £ 609 + 112 =7

+1 -2 -9 -12

900 + 100 + 600 +100 =1700 +22 =1722
TIG: MRPT R ST Qe = @R A Resiiacet et =9 |
Solve the following:

IR+¢o¢+880+9d3=

©)+890+E8+@Y+Yb+od=
€Y+CO+E8+@Y+Cr+Ed=
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931390 +38+3v+db+d0=

SFIFIIFIHIHIR=
83+83+83+83+83+33=

Trick 19: «=f6 fRcames= Tricks! (Fetel... =e.....)
O 8 b 9
+

R84V 10
[ 5135 9/]
% TS AT I A

Y, mfelt 37 v=er! fea afsft =ke o Atz Rear wat
AR GR FEW AL TAE RS Q@ F1 MR | @I do
(AT AR T TIRS T 2o @y (carry) F9I | o |
P carry I A | Telfe R @ =k (T @6 =T
Rt =41 T of 3909 | 98 Toiww v’ =it =0+ @ G
3R e 8 Feox | But you need a lot of practice.
Good luck, math genius! ¢t R oI 5] T
TS A Of I O O ¥ T (ACS AN | T 7

J. ¢+€ =do
. v+8 =0 /ﬂﬁfﬁﬁmﬁmﬁaﬁmﬁ@ﬁiﬁ?@a\
9. 4+9 = do (G SR AR | SR SF W5
T, b+ = Y0 I | WY fEfEe-2 R @ omfen
8. 5+ = Yo WWWWlW%W,
FTPOE, 8 T&F | COIF JITO SOl =6
SR WY fEfeae-y @3 o6 fefefe «ar
W fGfeme-2 920 2@ | oRee =1 e
CFICT S ARFAT (N8| ¥ &<, T

\T /
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W8 b0

35899
[51359]

oty | 103=7 || 74229 |

R [ 10-(7+zmon 11=2 || 243=5 |

qote: | (4+awer =5 || 853 |

qoig: | 9-8=1

[ 10-9=1 [ 1+4=5 |

qrie: [ (2+=2re7 1)=3 ][ 3-3=0 ]

T = IPim SRR QEE e =@ 3
Toea o [Neoa o TN R IT =@ o W
Rt sare 21 | B TeiiRe Ram sag o)

ST

1. 340987 2. 380038
- 209008 -180909
3. 530958 4. 3058002
- 285034 -2503890
5. 2465455 6. 879879
- 1353456 -180909
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7. 246757 8. 380038

- 153535 -234534
9. 8979655 10. 979798
- 2309809 -180909
11. 498790 12. 9879786
—345356— —5353634

13. 7868689 14. 380038
—4878060 26—

15. 3453566 16. 7777555
- 2555554 -4445556

Trick 20: 9 @339 Tricks!
a) [ @ RIH @ TG I ©f =71 ee

AT !

g9 3: IR I T (@I 916 BIF A1 /5 fefereta I eyl 47 |
@T: AvEd

ot R: fEfEBets SFWISE @7 F9Co 7 | (@ol:
b+a+Y+E+d=R4

g ©: IF (T 0 TRAMT AT ©F (A0S G @roFeet e 54 |
T brQbEd-9= brab8

4+ 8: 470 wF &le AT (AF @ &9 G0 [T @7 Jes
IO | @AV r eV 8

qrof @: @1 1S5 341 TEfers s Aem Jife fefabet SFmreid
(M) FECS T | (TN br4+Y+34+8=30 | €3 (FEB0 TONF
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THCP (S PICL IS 47 | (O T 4T B O ST

R0 |

I Y: GIF 7T T4, 0 9T A& @ I8 AT & e
faerey | TRAM 9 1| 927 3-20=4 | TSR TSN IF 9 &
ST PCATR |

b) 5 93w @4

12345679 | x 9 | 111111111 | 12345679 | x | 162 | 1999999998

12345679 | x 18 | 222222222 | 12345679 | x | 171 | 2111111109

12345679 | x 27 | 333333333 | 12345679 | x | 180 | 2222222220

12345679 | x 36 | 444444444 | 12345679 | x | 189 | 2333333331

12345679 | x 45 | 555555555 | 12345679 | x | 198 | 2444444442

12345679 | x 54 | 666666666 | 12345679 | x | 207 | 2555555553

12345679 | x 63 | 777777777 | 12345679 | x | 216 | 2666666664

12345679 | x 72 | 888888888 | 12345679 | x | 225 | 2777777775

12345679 | x 81 | 999999999 | 12345679 | x | 234 | 2888888886

12345679 | x 90 | 1111111110 | 12345679 | x | 243 | 2999999997

12345679 | x 99 | 1222222221 | 12345679 | x | 252 | 3111111108

12345679 | x | 108 | 1333333332 | 12345679 | x | 261 | 3222222219

12345679 | x | 117 | 1444444443 | 12345679 | x | 270 | 3333333330

12345679 | x | 126 | 1555555554 | 12345679 | x | 279 | 3444444441

12345679 | x | 135 | 1666666665 | 12345679 | x | 288 | 3555555552

12345679 | x | 144 | 1777777776 | 12345679 | x | 297 | 3666666663

12345679 | x | 153 | 1888888887 | 12345679 | x | 306 | 3777777774

Trick 21: 15’s Trick

WY f&femeT oo, wewe @ trick-6a =W 15°s Trick. ==
Y 15 2T | 551 BT 41 A

Step 1: I%CF 9, “@ (@9 G0 TR 67 17
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Step 2: MM fawd 7 |

Step 3: =e=a M 30 @A F9 |

Step 4:  elie T=TF 2 ey o 39 |

Step 5: &=ty @ WA WAl @7 R &ffe Te (AT
ISR

Ted: (OIVF Ted FPhRE 15 =3 |

FREE Mental Math Workshop/Seminar
A Q- WSS, e @ e RIfFFe Trad FIig AT ST
AR T IR (ToET e ZAPBHTE [[F aw @ wig] afs waraw R
o5 3P vt syrer ey i StTen < 2w | R G T @i @
EfEIE s ffeg o oaar, B oriear, s e 9 I@weR o
SRES T, SRIFA ([F2PF CRICAT, I5AT F2& (G5 S 41 72 [{feg
eferifror St @ ACE | REW FE @ T T@-TAW FIE R
a6 Sifer g, ome F FRETR EMTR SIEes FE A0F | @
CIRAIGER 1 Sr] FEFETT ool FAR @ET (MR 8 RIS GFT0
TS [T RO SRR F108 96T <1 |
S AHOA 2o, (TS, e @ SAfCeRFv TR T 200 =T
AN BT e ¢ RE-R@E @ G SRR R G e
T |
AR/ STEITs SRered e

o 5 IR LY THRIZTT GAINGH-GF TILITH S (56 FA0 A |
o A GITH AGORT A F(J | (FEH TA-TAA ()
o THRIGRK i Yoo BT ity GGG F4te =3 |

ferr: 80 Siddeshwari Lane, Mouchak Dhaka

www.tesolbangladesh.com
01633-686868

"The ordinary adult never gives a thought to space-
time problems ... I, on the contrary, developed so
slowly that | did not begin to wonder about space
and time until | was an adult. I then delved more
deeply into the problem than any other adult or
child would have done."

--Albert Einstein
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Trick 22: 100’s Trick

M f&fEeT o<, smerR @ trick-5= i 100°s Trick.
T 7P 100 26T | 551 & 40 e

Step 1: I%¢F 91, “@ (@ 96 WA € 1"

Step 2: R A 4 @ 7 |

Step 3: TR AN 10 @1 F1 |

Step 4: 2@ T=F 2 ey ot 99 |

Step 4: @ T 10 e ed w4

Step 5:  4dI® TC=w AL 50 Q@ F9 |

Step 6: &=y @ R «CafeeT ©F 20 24 AIE T (AT
ISR

Te3: (O Ted we 100 =3 |

Trick 23: 0’s Trick

T &eeT oo, wwe @ trick-6a = 0°s Trick. ==
PR 0 =S | BT S 1 A1

Step 1: I%CF 991, “@ (@ 96 TR € 1"

Step 2: R A 4 v 77 |

Step 3: T ACT 10 @ F9 |

Step 4: 2@ T 2 ey ot 99 |

Step 4: ¥ T 10 e oo 341

Step 5: &A@ T AL 50 @Y 4 |

Step 6: @Ry @ R qeafees o= 20 @ e 41 (A
ISR

Step 7: @@ == (At 100 e 91

TeR: TOMF Teq R0 7P 0 |

"The important thing is to not stop questioning. Curiosity

has its own reason for existing." ----Albert Einstein
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Trick 24: 1000’s Trick

W &P 2o, wwe @ trick-Ba = 1000°s
Trick. == 513w 1000 20 | 5e7 &F 41 I
Step 1: IF W, “@ (@ GG TR < 1"

Step 2: R AN 4 @ 7 |

Step 3: TR AN 10 @1 F1 |

Step 4: 2@ T=F 2 ey ot 99 |

Step 4: @ T 10 e ed w4

Step 5:  4dI® TC=w AL 50 Q@ F9 |

Step 6: &=y @ R «CafeeT ©F 20 24 AIE T (AT
ISR

Step 7: &® T 10 ez e 34

TR (o1 Ted wPrRig 1000 =63 |

Trick 25: 1111°s Trick

T Eo=eT oo, wwe @ trick-a W 1111°s
Trick. == 7w 1,111 =09 | 557 OF 41 T
Step 1: 3% F°F1, “@ (@ G0 R €7 1”

Step 2: R A 4 v 77 |

Step 3: FER ACL 10 @ F9 |

Step 4: 2@ T 2 ey ot 99 |

Step 4: @ T 10 e oo 34

Step 5: &A@ T ALY 50 @Y 4 |

Step 6: 2=tN @ R YeaArRes O 20 @9 &S T+ (AT
s 94 |

Step 7:  aie Tt 10 fcx @ 3|

Step 8: &A@ T AL 111 @1 F1

Ted: ToIN Bed e 1,111 =3 |
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O @ (BN T G I, G 0T, 8 & A 01 eSS |
@ft AGI2 US> TS (T | JRENCH TS (PSS G =1 | Ba,
] S 93 B |

Step 1: 3% I, “T7 OO W0 ((F: (FFAM—ION T = %)
TR FACR O MR 40O |7

Step 2: Su- @17 FACS I |

Step 3: ¥ =T 3¢ T @l FaCe 97 |

Step 4:  &I¥ T (A 00 R T 47 |

Step 4: AI¢ T T b e @ o4 |

Step 6: &AI¥ T+ (AT €8 [ FaCo 37 |

Step 7: &i¢ Ters 2 ea o 39 |

Step 8:  &I¥ TR A TOMR G Sl (AN 2 O G =1
29 ) Q@ FACS I |

Step 9: &I¥ TowCT 5 ex w9 39 |

Step 10: AT FCF AN YHR @ FACS I+ |

Step 10: 2@ F=1cz 20 e @t 341 |

Step 11: &ff® TR AT TONE G IR GFP S ¥ G SF
TR NS AT @I FACS T (@NTE S Tl AT 20T o @l
IACO 7A@ |

Step 12: &I¥ T+ (AT 03580 R 34 |

TETIeB: NP1/ el /= (ACARBI Tl ors)

e, (SN &Y FETH AN G5 1 7fS TR IHF & W9, ©FF
AT G0 A GG MR OF S, IR (<ITTF Gf6 IR SIF SR
I |

"One thing I have learned in a long life: That all
our science, measured against reality, is primitive
and childlike — and yet it is the most precious
thing we have."

---Einestine
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GH(5 BRI THF F:

Step 1: €, IFF & W6 AT, LR ©1F 3
Step 2: St @ FRCO T, TR O+ =3
Step 3: &A¥ ToF ¢ T @l FA0O T, LR IIXGe= €6
Step 4: &le T (AF w0 [RE FACo =, TR €3¢-900=
Y
Step 5: e TF b MTT @4 T |1= S5IXb= 3¢ OV
Step 6: 2@ T (AF ¢¢8 R FC© o1, TR 3¢ 0Y-¢¢8
=5b2
Step 7:  oli® ToF 2 CT O 39 | = 5br3+3= 85
Step 8: &% T AL TOMIF & OIfFY (FN: 9 IfFL &
0 29 ) Q@ FACO 9, TR 85d+9= @b
Step 9: @ T=TF 5 T @9 9 1= @dbrxe= edo
Step 10: &I¥ TR AL L5 @ FACS o7, WL
EH0+UHI= 9
Step 10: &f® Tos 20 M &4 39 1= 93X 0= LE Y80
Step 11: &% TR Y TONR Gl AR GFF 8 T¥F FAI
W FAT ARG AT @I FACS I (@A v T N 2 o
@ O ), TR LEVBo+HHS= Y9
Step 12:  &ll® o1 (AT 9580 [ 3 | = Leaos-
CREY:EIURCTEN
TAEI: WPT/Me/q2d = ©/29/Sobs (NI AHSCD) |
oYY, (O I & WCHF Q4 I, Soos AT | (.27

Math Genius-11 325 g =
S O I @ IR(T | AT 8
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Trick 27: 266642998’s Trick!

1 AT o<, Wt @ trick-5% 91 266642998°s Trick.
T AT 266642998 =03 | 541, ¥ 41 IS

Step 1: 3% 3, “@ (@I GG TR 7 1"

Step 2: RIGT AL 4 @ 4 |

Step 3: T AN 10 @ F9 |

Step 4: &I¢ FoT 2 ca o 359 |

Step 4: &€ TeF 10 Tex @9 37 |

Step 5:  &1e T AL 50 QY F9 |

Step 6: @ @RI WraiReeT O 20 @t e T (AT [
Bl

Step 7: &I¢ T 10 ea wd 39 |

Step 8: & T AN 111 Q@ 9 |

Step 8: AI¥ T[T b T @ 4 |

Step 8: &I¥ T=CT © W &4 39 |

Step 8: &% T=F So T & 34 |

Step 8: &I¥ T[T dooo T & 354 |

Step 8: &I TCF AMCY 5L AN F9 |

TE4: TOINE Beq FPTIR 26, 66, 42, 998 =T |

The 9 best mathematicians:
Pythagoras (c. 500 B.C.)

Euclid (c. 300 b.c.)

Muhammed Ibn Musa Al-Khwarismi (c. 780-850)
Rene Descartes (1596-1650)

Isaac Newton (1642-1727)

Bernhard Riemann (1826-1866)

Georg Cantor (1845-1918)

David Hilbert (1862-1943)

Kurt Godel (1906-1978)

©oN kDR
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Trick 28: A Cool Multiplication Trick!

F. OIXE=?
« 3B BN S0 FITE FTS AR HFAG 9|

WRXIE=80o00
=Y X¢o=8o00
=b'X@¢00=8000
=8X3000=8000
g TS st REafs <= g e wede v,
i e fed Tare T | o= e SRR
I
IR A FERO SRP (T F4:
g, 8LXIE = €a¢o
=R XG0 = ¢q¢o
=M).¢X@o0 = ¢qeo
=@¢.Q¢ X000 = ¢q¢o
. LYY X €00 = 99000
=99 X Y000= 99000
q. qq X ¢o = Vb ¢o
=9Ob.€¢Xdo00=9b¢0.0
8.  Bb X 3¢0 = 38@00
=85 X @00 = 8koo
=R8.¢X 5000 = 8€00.0

Math Phobia:
Mathematical anxiety is anxiety about one's
ability to do mathematics. It is a phenomenon
that is often considered when examining
students' problems in mathematics.
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f5a e SRR AfSf 10 EIE 0P AAG 32 (ST
MYt 40f5, 5 ww: 7 ff+5)

* 64x50 = 3200 *96 x 25 = 2400
*104 x 250 = 26000 * 440 x 500 = 2200

*66x50 = 3300 * 88 x 25 = 22000
*400 x 250 = 100000 * 700 x 500 =350000

* 4500%50 = 225000 * 12 x 250 = 3000

* 5600 x 250 =1400000 * 800 x 25 = 20000
*640%500 = 320000 * 960 x 250 = 240000

* 850 x 500 = 425000 * 400 x 500 = 200000
*110%500 = 55000 *900 x 250 =225000
*100 x 250 = 25000 * 990 x 500 = 495000

* 770%x500 = 385000 * 650 x 250 = 162500

* 4500%250 =1125000 * 500 x 250 = 125000
*100 x 100 = 10000 * 200 x 250 = 50000

* 500%600 = 300000 * 700 x 400 = 280000

* 680 x 250 = 170000 * 320 x 500 = 160000
* 430%500 =215000 * 1000 x 250 = 250000
*900 x 250 = 225000 * 800 x 50 = 40000

* 600500 = 300000 * 800 x 25 = 20000

* 300 x 250 = 75000 * 225 x 500 = 112500
Trick 29: 5 facx ort w17 G

225+5 = ? b CLICE ([F FACO A2 HeL qe....
qroy: TRABTE & Wewr v 52 widie feed 1|

qroR: T e (ItF 9F &R A7 IS Pis |
T, TR ¢ | T =emz e

qI7: JEXR = 8¢0

qI7%: 8¢o—>8¢.o (TEA)

S
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feoa ot St St 6 Grared Ty TN F1:
(SR AT 406, GG 1w 4 ffG)

* u8+¢ = R.V
*J08+ € =0
* YU+ =d9.R
*8o0+& =bo.0
* 8¢oo+¢ = 500.0

* @Yoo + €& = 30.0

* Y8o+¢ = b .0
*peo+ ¢ =>3%0.0
* 3o+ = Q.0
*%0+€& =0

* qqo+¢ = 3¢8.0
* Yoo+ €& =230.0
*o+-¢ =80
*uro T ¢ =DOY

* 890+ = by
*poo+ €& =d%o

* oY+ ¢

* 880 ~ @
*pb - @

* qoo + @
*NR T e

* oo + ¢
* 5Y0 + ¢
* ¢oo + @
* 500 ~ @
* %0 + ¢
* ueo + ¢
* Y00 + @
* qoo + ¢
* 90 + ¢
* Y000 + @
*Re ¢

=30
=bb.0
=34.Y
= 380.0
=1.8
=dY%0.0
= d3R.0
= d00
=dro.0
= V.0
= 39%0.0
= R0.0
= 380
=8

= o0

=8¢

Trick 30: 50, 500, 5000.... fwex ot =97 GaT:
. 225+50 = ? b LIS @ FA0O A2 Feg ...
qrofy: AT e et w1 widie faed )
qIoR: T < (A ¥R TET 7 R S |

[T, JCW ¢ | Tt =ome e

qr: EXR = 8¢o
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qrR: 8¢o—>8.¢o (T&R)
¥, 225+500 = ?
qrofy: WA & W ed v widie s w9
4R T e (At fo7 Ta@ 21 wifss s |
T, T T | Ry =om A
qrd: RYEXR = 8o
qrR: 8¢o—>0.8¢ (TER)
. 225+5000 = ?
qrn: SRYIMBTE e o 37 e fawd 39|
qroR: ©F A< (U0 519 TCE1 217 v e |
T, JCH T | T = o e
qod: EXR = 8¢o
q7R: 8¢o—>0.08¢ (TEF)
« THCE 4 0N GG *7 I Sfa T IS T |

ST

5T ot SRPeTT &fSfb 6 EFTE T4y AN F3:
(I3 R4 4015, T ow: 4 ff 5)

* 640+500 = 1.28  * 244362646 + 50=4887252.92
* 104 +50= 2.08  * 444220 +5000=88.844

* 24422+50= 488.44 * 34248 + 500= 68.496

* 400 + 50= 8.00 * 404340 + 500= 808.68

* 42000+50= 840.00 * 124440 + 50= 2488.80

* 23420 + 50= 468.40 * 406420 + 50= 8128.40
* 2240+50= 44.80 * 44360 + 50=887.20

* 3300 + 500= 6.60 * 110+50= 2.20

* 22400 + 500= 44.80 *100 + 50= 2.00
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* 22340 + 5000=4.468  *2240+50=44.80

* 4300 + 50= 86.00 * 22200 + 500=44.40
* 42000+500=84.00 * 304300 + 500=608.60
*100 +500=0.20 * 204040 + 500=408.08

* 22000+50=440.00 * 70420 + 500=140.84
*6220 + 50= 124.40 * 36020 + 50=720.40

*430+50= 8.60 *120000 + 500=240.00
* 200 + 50=4.00 * 80000 + 500= 160.00
*6000+5000=1.20 * 2000 + 5000=0.400

www.facebook.com/TesolBangladesh

Mathematics:

The abstract science of number,
quantity, and space, either as abstract
concepts ( pure mathematics), or as
applied to other disciplines such as
physics and engineering

( applied mathematics).

Srinivasa Ramanujan: (December 22, 1887 — April
26, 1920)

He was an Indian mathematician. He is considered to
be one of the most talented mathematicians in recent
history. He had no formal training in mathematics.
However, he has made a large contribution to number
theory, infinite series and continued fractions.
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Trick 31: @36 <= QPR 377 Het:
. THCP I @ (FIF G0 > SRCPA TR LR &) | (@

YR [ PO R(S:
6 g ¢ ST SRFE @ B YOI WA
2 % ¢T4 | e ¢ goiT ke @Pl wea 8¢ A
8 o E I OB R T4 |
1g ¢ Pifae @31 Fe@ B9 (At e T q-ow
28 RATT X 5 = (G WG HATF T |
46 06 W))m@m@mﬂi@@@q
74 A YT RE | WY fGw-3 g1 wte wig

120 T 7t o

v 194
506

10.

Albert Einstein

Albert Einstein was born in Germany on 14 March 1879.

Einstein’s parents were both Jewish and he had a younger sister called
Maja.

Although he apparently didn’t like school, Einstein showed he had a
great mind for maths and science from a young age.

When he was just five years old, his father bought him a compass. His
enquiring mind immediately started trying to work out just why the
needle always pointed north!

When Einstein was 15, his family moved to Milan in Italy. From there he
attended the Polytechnic Academyin the Swiss city of Zurich.

In 1900 Einstein graduated with a degree in physics and maths.

Einstein began to make his mark after he took a job at the Patent
Office in Bern, where he looked into other people’s inventions. While he
was there he worked on his own discoveries and found out many things
that became of great importance in the world of physics.

Einstein is probably most famous for his ‘theory of relativity’ and the

equation he made famous, € = MC2, which proved that even the smallest
amount of mass (basically the stuff that’s in everything!) can be turned
into a huge amount of energy.

Einstein lived in Germany during World War 1 but he was a pacifist —
this meant he didn’t believe in war and violence and wanted
disagreements to be settled peacefully. In 1933 he moved to the USA.

On April 18 1955, Albert Einstein died at the age of 76 from heart failure.
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. IHCF I @ @ g0

@ 6,2

9
2
11
13
24
37

98
159
VL 257

671

x11 = 671
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S SRCPS RAT 4L G5 |

37 [Nog @t e 2fel v e w4

Ex-1 (2fsf or= v ¢twte 3300 =3 | First one is done for you.)

2 1 2 5 5 5

3 3 4 3 4 6

5 4 6 8 9 11

8 7 10 11 13 17
13 11 16 19 22 28
21 18 26 30 35 45
34 29 42 49 57 73
55 47 68 79 92 118
89 76 110 128 149 191
144 123 178 207 241 309
=374 | = 319 | =462 | =539 | =627 | =803
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Ex-11 (&f$f5 sz v @1twte F7cs =3 | First one is done for you.)

www.tesolradio.com

7 9 9 8 2

6 8 7 6 7

13 17 16 14 9
19 25 23 20 16
32 42 39 34 25

51 67 62 54 41
83 109 101 88 66
134 176 163 142 107
217 285 264 230 173
351 461 427 372 280
= =| =968 =726

=913 | 1199 | 1111
Ex-111 (2fSfs === v e F7re =7 | First one is done for you.)

8 q Y b 8 >
\ 8 > d > R
S0 h)) N¢g > 59 b))
oY é 28 S0 S N
Y QY IV hY>) (Vl¢e 8
8 8 LY > €q 09q
L vq Mol 8v o VY
30 Sob 2ue qq 285 ob
24vy da¢ Q9 RE 8 p(g>)
bt b9 89O 0 (L) 1o) ¢Aa
=qQ8b- | = QVq | =D | =@ | =DOd =b9)
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EX-1V (e == v-b ¢tate F9ce =7 | First one is done for you.)

4 5 1 4 2

3 1 4 8 6

7 6 5/ 12 8

10 7 9| 20| 14

17| 13| 14| 32| 22

27| 20| 23| 52| 36

44| 33| 37| 84| 58

71| 53| 60| 136| 94

115| 86| 97| 220| 152

186| 139| 157| 356| 246

=484 | =363 | =407 | =924 | = 638
e @ FAF AwOH*

TONIR 1 ey AUII AP do, 2w, Yo, gy
FERE 1 20 T oW fF do W T, wo = oft do
o1t | @ Bfl Soo, 200, Yoo G IRIYIA FARK I
Q@ P |

TI: d+0+5+3++Hr+30+u+8=FS?

e ofit o 7fo TR @M so =X ot fofes w1
GR WL FAG do =T | IV, (H CFT:

SO+ R+ +30+Y+H8= @
25%55" Od =
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Exercises

Exercises-01:

Solve each of the following addition problems in
your head. [Time: 4 minutes]

1. 9+3+1+7+8+5+2+5+10=

23+12+27+22+28+28=
43+32+27+42+98+98=
8+3+1+7+9+5+2+5+10=
45+23+21+27+29+25=
22+33+78+77+66+44=
11+22+12+33+55+44=

[ ]
[ ]
[ J
[ ]
[ J
[ )
[ ]
9+80+1+30+50+40= | |
[ ]
[ J
[ ]
[ ]
[ )
[ ]
[ J
[ )

© 0o N o g B~ W N

71+29+12+88+55+55=
8+8+8+2+2+2=
88+22+33+33+44+66=
8+7+9+7+8+6=
13+41+99+32+11+12=
1+2+1+3+5+4+9+7=
10+02+10+03+50+04=
22+22+22+33+55+44=

-
©

|
=

|
N

| —
w

-
B

| —
o1

| —
o
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Exercises-02:

Solve each of the following addition problems in
your head. [Time: 12 seconds for each problem]
1. 19+13+11+17+18+15+12+5+1( ]

2. 53+52+57+52+58+58= | )
3. 40+39+28+42+98+99= | ]
4. 18+73+71+75+2+5+10=( ]
5. 46+26+26+26+26+26= | )
6.  21+31+71+71+61+41= | J
7. 12+22+12+33+53+43= | J
8.  93+83+13+33+53+43= | )
9.  51+59+52+58+55+55= | ]
10. 85+85+85+25+25+25= | ]
11.  36+62+36+63+46+66= | ]
12, 82+72+92+72+82+62= | )
13.  53+51+59+52+451+52= | ]
14, 19+21+95+94+99+97= | J
15.  109+902+109+903+509= )
16.  122+122+122+133+155=( ]
17.  222+222+222+233+255= [ ]
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Solve each of the following addition problems in your
head. [Time: 12 seconds for each problem]

123 222 444 123
234 333 444 223
123 123 123 123
342 123 245 567
789 453 567 666
123 345 566 666
666 7 999 888
7 888 888 987
454 444 222 123
456 333 111 321
464 357 999 888
234 999 888 111
234 886 955 999
234 566 955 000
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Solve each of the following addition problems in your
head. [Time: 12 seconds for each problem]

123 222 444 123
234 333 444 223
123 123 123 123
342 123 245 567
789 453 567 666
123 345 566 666
666 a 999 888
Jaa 888 888 987
454 444 222 123
456 333 111 321
464 357 999 888
234 999 888 111
234 886 555 999
234 566 555 000
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Trick 32: e, ¢, So0, 3¢, ¢0, €oo, Sooo TATH
¥ W:

AN D: 8 X € =7?

FAGI: 833 G NEP I GR FEICBA ©ICA G35 %[y
e e |

TR, 82 T SCEF 21 R IF ©IG G0 ¥ FACT
3330 (TET)

&P R: 833 X E =2

TN 83 T WGP T GR (TG ©Ie GH(T
T ANG IR (GBI I FF GR T AT G5
X[y I AN |

AR, 8RR T LS 29 GR UF TG GG [y AT
3530 IR 20 7 LS Y0¢ ¢ GR T T G5 *7F
A Sokeo | (TEF)

&% ©: 83 X Y00 = ?
STAYI: 83 &7 ©IC 7fG *[5 IFICT WIS | 83300 (T&) |

oqq8:416 x 125=2

IAG: 416 @31 ©ies fowft ==y Ifiea wre widie 416000

G (TS NP 9, I (@E6CF A ML 39,

2% (@B AFE =CEP 4 | = 52000

=37, 416 @3 ©ite feafl =« 3frea wis s 416000

I erene 8 (eight) ez i+ <41 1 = 52000
www.facebook.com/TesolBangladesh
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AT, 416 @3 T foaft *=y P we =ik 416000

GJF @& 2 M o 9, i @@ 4 W o
391 =52000

e 8: 416 x 250 =

FAY: 416 @ ©ies fowfs *=y A0 are =ik 416000
IR (@EFBCE TESF 39, IS [FEBCF AKE SLF F9 |
= 104000

=237, 416 @3 ©ite foaft ==y 1 wis =< 416000
GJF @&IoeE 4 e o 391 = 104000

=237, 416 @3 ©ite foaft ==y 1 wis =< 416000
GIF @6 2 M o 9, i @@eocs 2 W o 34
| = 104000

2% 8:416 X500 =2

TYI: 416 @7 it fonfs ==y P wre =i 416000
O[T 1% (TP AES 39 |

= 208000

=31, 416 99 ©ite feafs ==y 3 v =i 416000
GIF @eene 2 e o 7 1 = 208000

&9 8:416 x 1000 = 2

IAY: 416 @31 ©ies fowft ==y Ifie e widie 416000 |

Algebra is one of the broad parts of mathematics,
together with number theory, geometry and analysis.
In its most general form, algebra is the study of
mathematical symbols and the rules for manipulating
these symbols; it is a unifying thread of almost all of
mathematics.
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EXxercises

Multiply with 5 and 25 [6 sec. for each problem]

202 | X | 51010 202 | ¥ | 25
206 | X | 51030 206 | X | 25
210 | X | 5| 1050 210 | X | 25
214 | X |5 214 | % | 25
218 | X | 5 218 | X | 25
222 | X |5 222 | X | 25
226 | X |5 226 | X | 25
230 | X |5 230 | ¥ | 25
234 | X |5 234 | X | 25
238 | X |5 238 | ¥ | 25
242 | X |5 242 | X | 25
246 | X | 5 246 | X | 25
250 | X |5 250 | X | 25
254 | X |5 254 | X | 25
258 | X |5 258 | X | 25
262 | X |5 262 | X | 25
266 | X |5 266 | ¥ | 25
270 | X | 5 270 | X | 25
274 | X |5 274 | % | 25
278 | X | 5 278 | X | 25
282 | X |5 282 | ¥ | 25
286 | X | 5 286 | X | 25
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Multiply with 50 and 100

[6 sec. for each problem]

202 | X | 50 202 | ¥ | 100
206 | X | 50 206 | ¥ | 100
210 | X | 50 210 | ¥ | 100
214 | X | 50 214 | ¥ | 100
218 | X | 50 218 | ¥ | 100
222 | X | 50 222 | ¥ | 100
226 | X | 50 226 | ¥ | 100
230 | X | 50 230 | ¥ | 100
234 | X | 50 234 | ¥ | 100
238 | X | 50 238 | ¥ | 100
242 | X | 50 242 | ¥ | 100
246 | X | 50 246 | ¥ | 100
250 | X | 50 250 | X | 100
254 | X | 50 254 | X | 100
258 | X | 50 258 | X | 100
262 | X | 50 262 | X | 100
266 | X | 50 266 | X | 100
270 | X | 50 270 | ¥ | 100
274 | X | 50 274 | %X | 100
278 | X | 50 278 | ¥ | 100
282 | ¥ | 50 282 | X | 100
286 | X | 50 286 | ¥ | 100
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Multiply with 125 and 250

[6 sec. for each problem]

www.tesolradio.com

202 | X | 125 202 | X | 250
206 | ¥ | 125 206 | X | 250
210 | ¥ | 125 210 | X | 250
214 | X | 125 214 | X | 250
218 | X | 125 218 | X | 250
222 | X | 125 222 | X | 250
226 | X | 125 226 | X | 250
230 | ¥ | 125 230 | X | 250
234 | X | 125 234 | X | 250
238 | ¥ | 125 238 | X | 250
242 | X | 125 242 | X | 250
246 | X | 125 246 | X | 250
250 | ¥ | 125 250 | X | 250
254 | ¥ | 125 254 | X | 250
258 | X | 125 258 | X | 250
262 | ¥ | 125 262 | X | 250
266 | X | 125 266 | X | 250
270 | ¥ | 125 270 | ¥ | 250
274 | ¥ | 125 274 | ¥ | 250
278 | ¥ | 125 278 | ¥ | 250
282 | ¥ | 125 282 | ¥ | 250
286 | ¥ | 125 286 | ¥ | 250
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Multiply with 500 and 1000

[6 sec. for each problem]

202 | X | 500 202 | ¥ | 1000
206 | X | 500 206 | X | 1000
210 | X | 500 210 | ¥ | 1000
214 | X | 500 214 | X | 1000
218 | ¥ | 500 218 | ¥ | 1000
222 | X | 500 222 | ¥ | 1000
226 | ¥ | 500 226 | X | 1000
230 | X | 500 230 | ¥ | 1000
234 | X | 500 234 | X | 1000
238 | X | 500 238 | ¥ | 1000
242 | ¥ | 500 242 | X | 1000
246 | X | 500 246 | X | 1000
250 | ¥ | 500 250 | ¥ | 1000
254 | X | 500 254 | X | 1000
258 | ¥ | 500 258 | ¥ | 1000
262 | ¥ | 500 262 | X | 1000
266 | X | 500 266 | ¥ | 1000
270 | ¥ | 500 270 | ¥ | 1000
274 | X | 500 274 | ¥ | 1000
278 | ¥ | 500 278 | ¥ | 1000
282 | ¥ | 500 282 | ¥ | 1000
286 | ¥ | 500 286 | ¥ | 1000
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Trick 33: X SRE RANE & @IATH GFF GAT ORF Y6 @ FICET do
TR qR TE AR T 6 qL AR GF (6 wrew Gt

F. b_Xbh = IS G 5 b EIET T @& IS A2

IA:

Y, G YN SR R 8 b R TR T So |

TS GO SR b, b | oAk Bt o

g 3: T G (¥ ORF A OILF OfF TS| @ kT WTx @l Fa00 TJ |
@ Xy = a

47 Q: IFF PTIR ORF GBF AT I 37 (TS ST P8 | ZCF (T |
@T: XY = DY | AR (& AdY

9, GEXEE =TS QA [F b EICST MY @B S A2

ITAYI:

@xY = 9o

exe= e

TSR FEIT V0R€ |

. 9axq0 = TS ¥ & Y ERTT WY @I FFCS ARCI?

IAYI:

WXt = @Y

QxXO= 33

SR FET GURY |

A Googol is 1 followed by one hundred zeros (10'%) :
10,000,000,000,000,000,000,000,000,000,000,000,

000,000,000,000,000,000,000,000,000,000,000,
000,000,000,000,000,000,000,000,000,000,000

A Googol is already bigger than the number of elementary particles in

the known Universe, but then there is the Googolplex. It is 1 followed

by Googol zeros. | can't even write down the number, because there is

not enough matter in the known universe to form all the zeros:

10,000,000,000,000,000,000,000,000,000,000,000,000, ...
(Googol number of Zeros)

And there are even larger numbers that need to use "Power Towers" to

write them down.
1nlon
For example, a Googolplex can be written as this power tower: 10"

That is ten to the power of (10 to the power of 100),
4 ~1plooD
But imagine an even bigger number like 104"

(which is a Googolplexian).
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Exercises
Ex-1: Solve each of the problems in 6 seconds.

99 | X |91 79| % |71
98 | ¥ |92 78 | % |72
97 | ¥ |93 77| % |73
96 | ¥ |94 76 | %X |74
95 | X |95 75|% |75
94 | X |96 74 | %X | 76
93 | X |97 73| % |77
92| %X |98 72|% |78
91| % |99 71(% |79
89 | %X |81 69 | ¥ |69
88 | ¥ |82 68 | % |68
87 | % |83 67 | % |67
86 | %X |84 66 | X |66
85| % (85 65| % |65
84 | % |86 64 | % |64
83 | % |87 63| % |63
82| %X |88 62| % |62
81 |% |89 61| % |61

www.facebook.com/TesolBangladesh

www.connectingteachers.online ~82~ www.eGirisValley.com



www.tesolradio.com

Ex-2: Solve each of the problems in 6 seconds.

59 | X |51 39 | X |31
58 | X |52 38| X |32
57| ¥ |53 37 | ¥ 33
56 | X |54 36| X |34
55| X |55 35|% |35
54 | X |56 34|% |36
53 | X |57 33| % |37
52 | X |58 32|% |38
51| X |59 31X |39
49 | %X | 41 29 | % |21
48 | X |42 28 | ¥ |22
47 | %X |43 27 | ¥ 23
46 | %X |44 26 | ¥ 24
45 | %X | 45 25 | ¥ 25
44 | X | 46 24 | % 26
43 | X |47 23 | ¥ 27
42 | X |48 22| X |28
41| % |49 21X |29

ST SR AP (I (rRICAT JeACR W1 fErferarr- 386w
(TN &Y SIBIEH | D S+ SIqRAT 203 AR | TR
IFA XA S | 9 (O FFTRCTBC (5rRe eI !
Believe it or not, this is TRUE.

Read Math Geniusi2, be Math Genius!

www.connectingteachers.online

~83~ www.eGirisValley.com




www.tesolhangladesh.com www.tesolradio.com

Trick 34: <=5 wpiRe Tl Her:

o2 >: @b= FO? (AT @b TMH CbrXEbr)

AYI:

QI S: 2RI WIS QAT T FAG I € X =3¢

g Q: AT GFF AT RI0F T F: b Xb =8

47l ©: G 90 @& AT Te: 3¢ L8

17l 8: G 1 SRIA 3P 8 THF AR SRP Af> @ F: ¢ Xb = 8o
47 @: GJ[ 417 8-9F (FEIBCE T @ F2: 80X =bo

4% b: G 4 ¢-4F T I G0 % TS boo

g7 qQ: G A © 8 G Y GF @ET @ F9: ¢ Y8+r00=00L8
¥ : b= F9?

AAY:

—>9Xq = 8%

—bXb = L8

—> 85UL8

—4Xb=@Y

—SEULXY =D

—d0

—>85L8+d530 = Yob8

Exercises

(12)2 (31)2 (50)2 (69)2 (88)2
(13)2 (32)2 (61)2 (70)2 (89)2
(14)2 (33)2 (62)2 (71)2 (90)2
(15)2 (34)2 (63)2 (72)2 (91)2
(16)2 (35)2 (54)2 (73)2 (92)2
(17)2 (36)2 (65)2 (74)2 (93)2
(18)2 (37)2 (56)2 (75)2 (94)2
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(19)2 (38)2 (57) (76) (95)2
(20)2 (39)2 (58)2 (77)2 (96)2
(21)2 (40)2 (59)2 (78)2 (97)2
(22) (41)2 (60)2 (79)2 (98)2
(23)2 (42) (61) (80) (99)
(24)2 (43)2 (62)> (81)
(25)2 (44)2 (63) (82)2
(26)2 (45)2 (64)2 (83)2
(27)2 (46)2 (65)2 (84)2
(28)2 (47)2 (66)2 (85)2
(29) (48)2 (67)> (86)
(30) (49) (68)> (87)

Trick 35: e W2fE FCea TR € ]T (@ I hwr:
(O THCF 1 OF A1 @ (I Jifed so fefersa National
ID Card-a3 == ¢ O I8 G SRF FAF WG 0T
face o A& @ <17 | Yoo TIER I A& = w1 58 TR
O TR TS AT | 06 QIoeteT Sepiae F:

Step 1: toNE IFF HEE WZfC Jicew so-fefacta TREG
FIPCAC o Face o1 | Sl & e wel e 37 |

Step 2: &g FC AL q @ FACS I |

Step 3: &I TS ¢o M &4 FACS 7 |

Step 4: 5T TR AL I I3 @7 FACO 4 |

Step 5: &l¥ T (AP e KA 0O 41 |

Step 6: TUR TR AN S¢ @7 FACS I |

Step 7: 5o T=TF 8 T @l TS I |

Step 8: po® TS X W o FCS 7 |

Step 9: §OR® TS X W ©rf A0S 741 |

JHCF I, TRGCHR 2 SP G/ G0 =0 ©IF T R TR
RIS R O A WIC FCCH T | GlS.......... EY
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Trick 36: =ta= SpidEe @t GF:

Q@ G0 5, 55, 555, 5655..... 297w WA @t Fa
P P |

o 3: I Xpod= FO?

HATHI:

b X 555 = {5000X(brdbr-3)H{555-(bdb-3)}
=bd9000+db R = HdANHR

o 5 aifde sweanfo s s @t = AT R 77 e @R

Ty RGBT > TN @ T G2 IR QAT L b FHT A wAyfs
(AT S FRAT S FN Q@ 9 | 97, 2 (OF |

Y v DO XDOd= FO?

FATHI:

SO X 585 = {boooX(aab-—b)}+{bab—(abb'—b)}
=95Q000+ = D00

Y 9: B XdH= FO?

RAIRICE

X 55 = {dooX(sb-d)+H{ds-(db-d)}
=900+ = Ho

Y 8: SEYLXDHDO= FO?

RRISICE

dEYHX aaaa:{soooox(mw-b)}+{ So55-(deYb-d)}
=o@Y0000+4+89 = HEVA08OY

Geometry is a branch of mathematics
concerned with questions of shape, size, relative
position of figures, and the properties of space. A
mathematician who works in the field of geometry is

called a geometer.
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Ex-1:
11 x (99 112 | % 999
13 X |99 113 | % 999
15 X |99 114 | % 999
17 X |99 115 | % 999
19 X |99 116 | % 999
21 X |99 117 | % 999
23 X |99 118 | % 999
25 X |99 119 | % 999
27 X |99 120 | % 999
29 X |99 121 | % 999
31 x |99 122 | % 999
33 X |99 123 | % 999
35 X |99 124 | % 999
37 X |99 125 | % 999
39 X |99 126 | % 999
VL] X |99 127 | % 999
43 X |99 128 | % 999
45 X |99 129 | % 999
47 X |99 130 | % 999
Time:

Time, a dimension, is the indefinite continued
progress of existence and events that occur in
apparently irreversible succession from the
past through the present to the future.
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Ex-2:

111 | ¥ | 999 1111 | ¥ | 9999
114 | ¥ | 999 1115 | ¥ | 9999
117 | ¥ | 999 1119 | ¥ | 9999
120 | ¥ | 999 1123 | ¥ | 9999
123 | ¥ | 999 1127 | ¥ | 9999
126 | ¥ | 999 1131 | ¥ | 9999
129 | X | 999 1135 | ¥ | 9999
132 | ¥ | 999 1139 | X | 9999
135 | ¥ | 999 1143 | ¥ | 9999
138 | ¥ | 999 1147 | ¥ | 9999
141 | ¥ | 999 1151 | ¥ | 9999
144 | ¥ | 999 1155 | X | 9999
147 | ¥ | 999 1159 | ¥ | 9999
150 | ¥ | 999 1163 | X | 9999
153 | X | 999 1167 | ¥ | 9999
156 | ¥ | 999 1171 | ¥ | 9999
159 | ¥ | 999 1175 | ¥ | 9999
162 | ¥ | 999 1179 | ¥ | 9999
165 | ¥ | 999 1183 | ¥ | 9999
Mental Math:

Simply put, mental math refers to the practice of
doing calculations mentallyor all in your

head. Mental mathis often used as a way to
calculate an estimate quickly through the use
of math facts that have been committed to
memory, such as multiplication, division, or
doubles facts.
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Ex-3:

11111 | ¥ | 99999 2222 | ¥ | 9999
11116 | ¥ | 99999 3333 | X | 9999
11121 | % | 99999 4444 | % | 9999
11126 | ¥ | 99999 5555 | % | 9999
11131 | ¥ | 99999 6666 | X | 9999
11136 | ¥ | 99999 7777 | ¥ | 9999
11141 | ¥ | 99999 8888 | X | 9999
11146 | ¥ | 99999 9999 | X [ 9999
11151 | ¥ | 99999 11110 | ¥ | 99999
11156 | ¥ | 99999 12221 | ¥ | 99999
11161 | ¥ | 99999 13332 | ¥ | 99999
11166 | ¥ | 99999 14443 | ¥ | 99999
11171 | ¥ | 99999 15554 | ¥ | 99999
11176 | ¥ | 99999 16665 | ¥ | 99999
11181 | ¥ | 99999 17776 | ¥ | 99999
11186 | ¥ | 99999 18887 | ¥ | 99999
11191 | ¥ | 99999 19998 | ¥ | 99999
11196 | ¥ | 99999 21109 | ¥ | 99999
11201 | ¥ | 99999 22220 | ¥ | 99999
Decimal:

The decimal numeral system is the standard system for
denoting integer and non-integer numbers. It is the extension
to non-integer numbers of the Hindu—Arabic numeral system.
The way of denoting numbers in the decimal system is often
referred to as decimal notation.
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Trick 37: 3 ftx wtom wpigEe <o G:
38%3% = F9? UG 5 W b CILHCT (7 FACO A2
g7 5: XD = 38
g Rz 41 3~ TIGICD TIL G5 * PTS T SRS
]9 8o
g7 ©: I8XR = 8t
g9 8: R80+8b =

| seox
o

X
[ 8X>=18 } [ \Qs;‘q

J

A 4 A 4

[ RBXH0=180 } [ 8v
] /

e

[ R80+8b =Rb'br }

> M vg, fov, o7, 45 ..... Toxfn fefenta @
(P TRACT IR AGSTS ¥ T AT |
Thanks to number system.
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Exercises-|

o7 elfft SRF (FIF FETHET6R FIL 1 ¢ b G P

12 [ X 12 52 | %12
18 | X |12 62 | ¥X[12
24 | X |12 72 [ ¥X[12
30 | X [12 82 |%X[12
36 | X [12 92 X 12
42 | %X 112 102 | %12
48 | X |12 112 | %12
54 | X |12 122 [ ¥ [12
60 | X [12 132 | %12
66 | X [12 142 | %12
72 [ X 12 152 | %12
78 | X 12 162 | %12
84 | X [12 172 | %12
90 | X [12 182 | %12
96 | X |12 192 | %12
10

2 X 112 202 | %12
10

8 X 112 212 | ¥ [12
11

4 X 112 222 | ¥[12
12

0 X 112 232 | ¥ [12
12

6 X 112 242 | % |12
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Exercises-I|
111 | X |12 2222 | %X |12
122 | %X [12 4444 | X |12
133 | X |12 6666 | X |12
144 | %X |12 8888 | X |12
155 | X |12 11110 | X |12
166 | %X |12 13332 | X |12
177 | X |12 15554 | X |12
188 | %X |12 17776 | X |12
199 | X |12 19998 | X |12
210 | X |12 22220 | ¥ |12
221 | X |12 24442 | X |12
232 | % |12 26664 | X |12
243 | X |12 28886 | X |12
254 | % |12 31108 | X | 12
265 | X |12 33330 | X | 12
276 | % |12 35552 | % | 12
287 | X |12 37774 [ X |12
208 | X |12 39996 | X | 12
309 | X |12 42218 | % |12
320 | ¥ |12 44440 | ¥ |12

RO 15 I TR 8 e @ Fare 20 &40 S e Soieaw
TR @l 9 qRR SIRPR WK R A e 9 | 9RO, 0L, 8,
Yo, 93, b8, bV AT @ MATFS @ F1 AT | IF2 AT LA
53 T oo 9 4R @@BF ©, 8, €, Y, q, b, 8 & T ea 4|
T, =0 T |
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Trick 38: 7% =z f{f® ufb Y™ (935 FT FeET
G So J0eT ) @O P «=fo {F:

77 x 73
78 x 72
79 x 71 Can you solve all of these 6
mulitiplication problmes in
32 x 28 48 seconds?
62 x b8
63 x 57
& a&*x9
FAAYI: TAY, A¢-=99 | AC3-3=?
¢ GF WC @7 7T F2 @ (F@ O WA A0S TI @
AR GFF J ¢ ACF OF TR T | AR /v | v
AT SRFX(FHF G TWF+) Xy = @b G G FA
SRTFF TWC —> ¢3= ¢ | TORR A€ = CUE |
TR foyam:
B q¢ (F 20 MG &9 Fq09, ©IR F1? a¢ (A F© A T
90 B(CI? JT, R | ORET O (AT a¢, 2 | ][ 8¢ O 9¢ @ 3
GF FAG-F RCAFT ([ 9 | I3, 20 (T |
HOAR, AC- —>ELRE-8 = ¢UY (TE) |
L HE U CRY
IAYIT: AER-9F >ELE-5 = CUdY
oqH: XD
IAAYI: AC2-83 >CYVE-DY = ¢Lob
ore: 0%
FA: 90232 —>500-8 = brHY
qu: YXEY
ATY: Yo3-J2 H>OWV00-8 = OCHY
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o¥: LOXeEq

AAG: Vo202 H>VY00-H = V&)

Trick 39: 9 vq & AL F© BT F(H AT ...,
R....., 999.... T IFTS ARCI?

T 9, U, 5, 5%, d¢, dbr, B, B, ¥ I IR |

[

37 x| 3 111
37 x| 6 222
37 x| 9 333
37 X | 12 | 444
37 x| 15 555
37 x| 18 | 666
37 x | 21 777
37 x | 24 | 888

x | 27 | 999

37
feos RS oy @G e Fed, o 9N =R
ATBH PR |

37 X | 30 1110
37 X | 33 1221
37 X | 36 1332
37 X | 39 1443
37 X | 42 1554
37 X | 45 1665
37 X | 48 1776
37 X | 51 1887
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37 X | 54 1998
37 X | 57 2109
37 X | 60 2220
37 X | 63 2331
37 X | 66 2442
37 X | 69 2553
37 X | 72 2664
37 X | 75 2775
Trick 40: SSC/HSC/Hons./Masters-ag
GPA/CGPA =15 &:

g 3: 97 1 faPa/ffERi ¢t it © e ea Face
I

g X: I FEF AN Y @ FACS I |

47 ©: S T[T © T St F0e I |

g 8: IS T (AT R [ Fa0e 397

T, TREIB (JF =0 (O |

ICLETLE

€@, T PR (o &g 8.58 ¢ItR |
qrof > 8.58 X9 = 38.b-]

qrof Q: 38.-3+Y= R0.b]

qr ©: 0. T9 = V.58

4 8: b.58-3 =8.58

T, TRGND (I = (T |

GFo Iy

o ¥ b 9= I Sooo TR FATS “ATA?
STT:
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bbb +bb+b+b+b =S000

Trick 41: o q @ @ RIYCF o A QT
oSS O FACO ARCI?

FAL: 38EAXQ = HHHHS

GG TGF T (A

iRl 9% & stubborn *=fba WY @y @ Wew =T
G (& | 38Weq 9 FRYIMDT @ (& Gy A
(&M FRAT ICCRA | (T2 IR @ TRYF L D, R, 9, 8,
¢, b, q 84 0T 1 B waiva R[Sy fefaberk frw
A | (A9

142857 | x | 1 142857
142857 | x | 2 285714
142857 | x | 3 428571
142857 | x | 4 571428
142857 | x | 5 714285
142857 | x | 6 857142

IQ: Anintelligence quotient (IQ) is a total score derived
from several standardized tests designed to assess human
intelligence. ... By this definition, approximately two-thirds of
the population scores are between 1Q 85 and 1Q 115. About
2.5 percent of the population scores above 130, and 2.5
percent below 70.

EQ: Emotional intelligence (El), Emotional quotient (EQ)
and Emotional Intelligence Quotient (EI1Q), is the capability
of individuals to recognize their own emotions and those of
others, discern between different feelings and label them
appropriately, use emotional information to guide thinking and
behavior, and manage and/or adjust emotions to adapt to
environments or achieve one's goal(s).
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Trick 42: JIcar TR1IRe = I Trick!

(O IHCF I O TR THE F© ¢ ©F T F© ©f
Of 51 TS SR (O F© BIpl (e AT 6 AT |
Soo BIFR W AfG =9 1 F@! FRA, N AR FeICe
AR | 063 rotel TP F:

Step 1: TN 3% TIRIZE RIS faed FH0o 37 |
Step 2: &I¥ FCER AL Q QM FACS I |

Step 3: &® T[T ¢o T @ FACO I |

Step 4: PO FCTF AL IFHF I3 (@1 FACO 7 |

Step 5: &g T (AP vy R FCo 41 |

Step 6: BTG FEF ANY d¢ @M FICS I |

Step 7: vo® TP 8 Mex wdl s 3 |

Step 8: YO TP X MG O TS <7 |

Step 9: YO T X WG O TS 37 |

JHCP I, WEICB A ORDP Yf0/ 930 2R O 307 GR
T SRR 2R OF (NEIRE N=IE | SAS!......... SIEY

ICLETRE

Step 1: odbdE809Eh X=0bVobr80adY

Step 2: ©LYoHr8oAY+I=VVLVOHBOARY

Step 3: YL VOr80AYXEO=DbdE8VYIEO

Step 4: Su3¢800VY¢0+J9=bdE800YYQ0 (T I
R0 =)

Step 5: Sb-3¢8090LYA0-VUE=db3¢8R09¢ o

Step 6: S3e80VEHob+5E= SrrdE8VEHR®

Step 7: SHdE800CHrOXB=AUDLIH8OIHI
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Step 8: AUILHHBOIBIFI=VOLVOHBOALEY

Step 9: ©LYOHBOABVBYFI=DIdE8VOECHR
G O (AR & QG (g 17 Z0R (A IS AR |

TAEI: IR e a7 T [ O do @7 I fFa1
B2 Yoo @a @ 4T | A FETCES SO (F2 | B 9N
(S &I RFCACHT TR 9 @3 >y Tefesa =37 | ©i2
W AT G0 * 47 OF (NRIZS FWH AL | IR
TR @ <Y =0 @ fefenit/fefabes A ©-8 siF
T | TR BWIRIC O T Q9 2T GR O (RIS
T odb3E800ey | U @I R w&gd e
e |

5-F (AN !
12345679 | x | 9%1 111111111
12345679 | x | 9%2 222222222
12345679 | x | 9%3 333333333
12345679 | x | 9%x4 444444444
12345679 | x | 9%5 555555555
12345679 | X | 9%6 666666666
12345679 | * | ox7 777777777
12345679 | * | 9xs 888888888
12345679 | * | 9xg 999999999
12345679 | * | 9%10| 1111111110
12345679 | * | 9%11| 1222222221
12345679 | * | 9%x12| 1333333332
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12345679 | * | 9%13| 1444444443
12345679 | * | 9%14 | 1555555554
12345679 | * |9%15| 1666666665
12345679 | * |o9x6 | 1777777776
12345679 | * |9%17| 1888888887
12345679 | * | 9%18| 1999999998

Trick 43: T O RS I e =

O T D T 0.000555539333305559933333333333393% e

LR T H T 0.0

7.9 + 5 = 0.999999 99 VYYVVOVVVYYOOOOYOOOOOVY, .. ...,
. 8 + 5 = 0.8888888888888888888888888888 ..........

8. &+ 5=0.LCECCCCCCCCCCCCCCECCCCCCtr............
.V =5 = 0. LLLLLLLLLLYLLLLYLLLLYLLYLYLLLLY..............
®. 9 + & = 0.9999999999999999999999999944..............

. T8 = o.bbbbbbbbbbbbbbb bbb bbb bbb..........

Arithmetic:

Arithmetic is a branch of mathematics that
consists of the study of numbers,
especially the properties of the traditional
operations on them—addition, subtraction,
multiplication and division.
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Trick 44; Y-9F (FANS AL
6 x 6 + 6 42
+
66 x 66 66 4422
666 X 666 + 666 444222
6666 | * 6666 + 6666 44442222
66666 | * | 66666 | T | 66666 4444422222
666666 | X | 666666 | T | 666666 | 444444222222
6666666 | * | 6666666 | T | 6666666 | 44444442222222
Trick 45 Y-G9 8 5-4F (FAN® AR
6 x 9 54
66 x 99 6534
666 x 999 665334
6666 x | 9999 66653334
66666 x | 99999 6666533334
666666 | x | 999999 | 666665333334
6666666 | x | 9999999 | 66666653333334

Trick 46: A W F=7 [{FoT! (T W == ©F |
QT NN ([T FACS T AT AL
Q 1 ifersls S Wen | [eva Awfs SepEd 39 |

IR JFA I (FTC TRGTT IFHCE (e | ©F g @rol-
R Fawe T3 |

www.facehook.com/groups/immii.hd

www.connectingteachers.online

~100~ www.eGirisValley.com



www.tesolhangladesh.com www.tesolradio.com

c d e g h i j
1 2 3 4 5 7 8 9 10
I m n 0 p q r S t
11 12 13 14 15 16 17 | 18 | 19 20
u v w X y z
21 22 23 24 25 26
ST A0 AT &y

Step 1. IH TR AT FHCIF THE (FCLCS [@ed FACS
3T |

Step 2: &IE T ACL © @A FIACS I |

Step 3: 2ie TF ¢ M @ FACS I |

Step 4: U T (AT & [T TS 7 |

ST IFY (FIC: @@ICB IFF FCTH SRIG (TP )
w5 TSfers /fefes et FIta S (F1E 7% |

T G AN &y

Step 1: IFF CNF T SHAA VWA (OB fqwe 0o
3 |

Step 2: &1e T AL © Q@A FACO© I |

Step 3: &ie TF ¢ M @ FAS 37 |

Step 4: TR T (AP b [CAm TS 3+ |

T F (FC: @EICD IFF GO SR (PR )
e o FCfEs/fefabet=T s {7 (P 77 |

R(J COINC= |
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Just be a human calculator!

dSies:

code | code | code | code | code | code | code
letter | letter | letter | letter | letter | letter | letter

GFfo BrIEe:

4, Go EF 9N Ohe. SF FTHE SFILEN (Fle
TR A 3¢, b, ¢ (THARE LT W) | 927
COTIT &+ BT AR IR (FIC NFAST SRF FCA

(T 40| (AR IR FIETPETBCR TS FAO
TS IR 8 5% RTS AT 1))

S RGNS Sy

Step 1. TIQAMGA R AT SFHEF THR (FIOGeD fawd
PACS T | Y& X=90

Step 2: &1 T AL © @ FACO© I 1=90+9=99

Step 3: 2ie TF ¢ M @ FACS 01 | =0OXE=db¢
Step 4: TU® T4 (AP Y RN FACS 397 | =dLE-Y=3¢s
O THY (FIC: @B P FCAA SRI0 (TP )
i ey fefebeted (Aba FTae ST SR (@6 ¥,
iR 3¢ |

T FRG AR &y

Step 1. QDT O T FEH THE (o faad
PACO I | brX=Y

Step 2: &1 T AN © @9 FACS I 1=30+0=15
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Step 3: &l T ¢ M @l FACS 97 | =DoXe=¢

Step 4: TUIB T (AP Y R FACO 7 | =5e-b=bd

T IF (FC: FEICH I A SRIO (FPTR )
v o= et /fEfebete = 7 @, IR b |

OF A AN Ty

Step 1. T TGR ©F IHEE WL (OB faad
PACS T | €X=)0

Step 2: A1 FCT ARL © @I FACS I 1=o+0=39

Step 3: &e TF ¢ M @ FACS 91 | =DOXE=YE

Step 4: OB T (AT & [T FACS 7 | =Ye-Y=Cd

OF THY (FIC: @G/ G3B JCF SRIL (PR 5)
I oy Fefes/fefEbet =0 oFl (Fe, JLR ¢ |

TAS0:

15/ 8 | 5
Ol h|e
TRfoF 9w =o=: Ohe.

Isn’t it an amazing trick? Cool, ha!

6 & 7-97 (FAfe:
7 |x 7 49
67 x 67 4489
667 x 667 444889
6667 x 6667 44448889
66667 | x| 66667 4444488889
666667 | x | 666667 444444888889
6666667 | X | 6666667 | 44444448888889
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What is a number?

A number is a mathematical object used to count,
measure, and also label. The original examples are
the natural numbers 1, 2, 3, 4, and so forth. A
notational symbol that represents a number is
called a numeral.
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7 x 9 63
67 x 99 6633
667 | x| 999 666333
6667 | x| 9999 66663333
66667 | x | 99999 6666633333
666667 | x | 999999 | 666666333333
6666667 | x | 9999999 | 66666663333333
Trick 48; b-97 (FAf® (A
1 x| 8|+ |1 9
12 x| 8| %] 2 98
123 x| 8|7%]| 3 987
1234 x| 8|%| a 9876
12345 x| 8| Y| 5 98765
123456 | x| 8 | ¥ | 6 | 987654
1234567 |x| 8 | ¥ | 7 | 9876543
12345678 |*x | 8 | + | 8 | 98765432
123456789 |* | 8 | + | 9 | 987654321

10 Base Math:

In mathematics, a base or radix is the number of different
digits or combination of digits and letters that a system of
counting uses to represent numbers. For example, the most
common base used today is the decimal system. Because
"dec" means 10, it uses the 10 digits from 0 to 9.
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999999999 | x | 1 999999999

999999999 | x | 2 | 1999999998
999999999 | x | 3 | 2999999997
999999999 | x | 4 | 3999999996
999999999 | x | 5 | 4999999995
999999999 | x | 6 | 5999999994
999999999 | x | 7 | 6999999993
999999999 | x | 8 | 7999999992
999999999 | x | 9 | 8999999991

999999999 | x | 10 | 9999999990
999999999 | x | 11 | 10999999989
999999999 | x | 12 | 11999999988
999999999 | x | 13 | 12999999987
999999999 | x | 14 | 13999999986
999999999 | x | 15 | 14999999985
999999999 | x | 16 | 15999999984
999999999 | x | 17 | 16999999983
999999999 | x | 18 | 17999999982
999999999 | x | 19 | 18999999981
999999999 | x | 20 | 19999999980
999999999 | x | 21 | 20999999979
999999999 | x | 22 | 21999999978
999999999 | x | 23 | 22999999977

www.connectingteachers.online

~106 ~ www.eGirisValley.com




www.tesolbangladesh.com www.tesolradio.com
999999999 | x | 24 | 23999999976
999999999 | x | 25 | 24999999975
999999999 | x | 26 | 25999999974
999999999 | x | 27 | 26999999973
999999999 | x | 28 | 27999999972
999999999 | x | 29 | 28999999971
999999999 | x | 30 | 29999999970
999999999 | x | 31 | 30999999969
999999999 | x | 32 | 31999999968
999999999 | x | 33 | 32999999967
999999999 | x | 34 | 33999999966
999999999 | x | 35 | 34999999965
Trick 50: 0q-9F &g (X!
99 x | 37 3663
999 x | 37 36963
9999 x | 37 369963
99999 x | 37 3699963
999999 x | 37 36999963
9999999 x | 37 369999963
99999999 | x | 37 | 3699999963
999999999 | x | 37 | 36999999963
9999999999 | x | 37 | 369999999963
99999999999 | x | 37 | 3699999999963
999999999999 | x | 37 | 36999999999963
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Trick 51: -4 &g (MY}

1 x| 1 1
11 x | 11 121
111 x | 11 1221
1111 x | 11 12221
11111 x | 11 122221
111111 x | 11 1222221
1111111 | = | 11 12222221
11111111 | % | 11| 122222221
111111111 | = | 11| 1222222221
1111111111 | x | 11| 12222222221
11111111111 11 | 122222222221

Trick 52: ©© W@mw @9

3367 x 33 111111
333667 x 33 11011011
33336667 x 33 1100110011
3333366667 | * 33 110001100011
33333366667 | * 33 | 1100001100011
3333333666667 | * 33 | 110000011000011

Infinity has no end...

Infinity is the idea of somethlng that has no end.

In our world we don't have anything like it. So we imagine
travelling on and on, trying hard to get there, but that is not
actually infinity.

So don't think like that (it just hurts your brain!). Just think
"endless", or "boundless".

If there is no reason something should stop, then it is
infinite.
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143 x [ 33 4719
1443 x [ 33 47619
14443 x [ 33 476619
144443 x [ 33 4766619
1444443 [x |33 47666619
14444443 |x [33]| 476666619
144444443 |x |33 | 4766666619
1444444443 |[x [ 33| 47666666619
14444444443 | x | 33| 476666666619
Trick 53: ®5-Mtx @t &g (!
99 x | 99 9801
999 x | 99 98901
9999 x | 99 989901
99999 x | 99 9899901
999999 [ x (99| 98999901
9999999 | x[99| 989999901
99999999 | x |99 | 9899999901

Digit:

A digit is an element of a set that, taken as a whole,
comprises a system of numeration. Thus, a digit is a

number in a specific context. ...

In the binary

number system, the digits are the elements of the set
{0, 1}. This system is used by computers because
the two digits can represent the logic low and high

states.
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A)

B)

C)
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33 x |33 1089
333 x |33 10989
3333 x |33 109989
33333 x 33| 1099989
333333 |x 33| 10999989
3333333 | x |33 | 109999989
33333333 | x | 33 | 1099999989
33 x | 5 165
333 x| 5 1665
3333 x| 5 16665
33333 x| 5| 166665
333333 x | 5| 1666665
3333333 x | 5| 16666665
33333333 | % | 5| 166666665
33 x| 7 231
333 x| 7 2331
3333 x| 7 23331
33333 x | 7| 233331
333333 x | 7| 2333331
3333333 x | 7| 23333331
33333333 | x | 7 | 233333331
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D)
33 x |9 297
333 x |9 2997
3333 x |9 29997
33333 x |9 299997
333333 | x | 9 | 2999997
3333333 | x | 9 | 29999997
33333333 | x | 9 | 299999997
E)
3 x 3 9
33 x 33 1089
333 X 333 110889
3333 x| 3333 11108889
33333 x| 33333 1111088889
333333 | x| 333333 | 111110888889
3333333 | x| 3333333 | 11111108888889
1122334455667789 | x | 9 10101010101010101
1122334455667789 | x | 99 1M 1111111111111
1122334455667789 | x | 999 | 1121212121212121211
1122334455667789 | x | 999 | 11222222222222222211
3003003003 | x | 37 111111111111
12345678987654321 | x| 9 111111110888888889

What am 1?

Ans: A Keyboard

Q: | have keys without key locks.
I have space without rooms.
You can enter but you cannot go outside.
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Trick 56: -9 &g (MY}

1 x 1 1
11 x 11 121
111 x 111 12321
1111 x 1111 1234321
11111 x 11111 123454321
111111 x 111111 12345654321
1111111 x 1111111 1234567654321
11111111 [ % | 11111114 123456787654321
111111111 | * | 11111111 12345678987654321
1111111111 | * | 1111111111 | 1234567900987654321
11111111111 | * | 11111111111 | 123456790120987654321
111111111111 | * | 111111111111 | 12345679012320987654321

ATGHG TS TR (Ol? TZAT FAF-FAACS 3o THAFS @Hfo
TS TACE | 3 0T T TFFAT | AT FCI (FATS 2T |

Trick 57: S W (XS AN 36 ©f =77 {F:

Step 1: SIQLF o1 OF (IO FIFTRCTHCR TS |

Step 2: IS MY Q @ FACS I |

Step 3: % @&IBCE 2 W @ 0O 99 |

Step 4: &% @G (A 8 [T F900 71 |

Step 5:  @i® @@IBCE X MEa oM F900 9 |

Step 6: ¥ @I (AP ¢ [T F900 77 |

TER: OIS (AEBR (SN K N1 (IO |

ICETEE

Step 1. €1, W] 8¢ o000 Bl (o A |

Step 2: TISCTF AN 9 @A FAC© I |

=8¢000+9=8¢009

Step 3: ¥ @EIBCE X T @ FACO I |
=8@00q4XI =5»0058
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Step 4: &% @@ (At 8 KT F90o = |

=50038-8=500%0

Step 5: 2i® @B 2 W o F90s 39 |
= 5000+ =8¢00¢

Step 6: @I¥ @& (A ¢ [T FA0S = |
=8¢0o0¢-¢ = 8¢0o00 |

GO OV (@ (I AT (TR AT FoI0o ARCS |

[P P WS K |

IR0 &g, (!

IR T&0eT 9 bx 00X 00va = FO? BN fF ¢ ETLFCTT 0Ly
IS ARCI?
e BT 2R T b e wd ace qeTR, @oe 209
bbb bbb |

1 x |33 |x 3367 111111
2 X | 33 |x 3367 | 222222
3 x |33 |x |3367| 333333
4 x | 33 |x | 3367 | 444444
5 X | 33 |x |3367| 555555
6 X | 33 |x |3367| 666666
7 x |33 |x 3367 | 777777
8 x 33 |x |3367| 888888
9 x |33 |x [3367] 999999

Q: Which seven-letter word contains dozens of letters?

A: MAILBOX.

Q: A grandfather, two fathers and two sons went to the movie
theater together and everyone bought one movie ticket each. How
many tickets did they buy in total?

A: 3 (the grandfather is also a father and the father is also a son)
Q: If you multiply this number by any other number, the answer
will always be the same. What number is this?

A: Zero
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Trick 58: TR ARG &7 (AY!
Q %S STORET (I FECE | ANST2 STYEe !

-9 Y br-R
X q X q-9 X b X -]
Y © Y 8

e
g7 : SRl @AY So fofes =ra 31, w2 @ Wyl 1foes
@9 IO FF (T AT FCOT (AF do I Ay F© ©f @4
A IR YOI (AT MO [REA FA0o 70T |
®-d
X 9-9
qrof Q: IR (O FLOT 2ICFF T© 2&: I 8 T 1% | GFF
AR SRR @ IR PN | (TR IFAF ARG = 37
G T AT TR & (@0 ANS) |
-9
XA

9O
g ©: GIF  THF FAT P (AF @O GFF G
RS0 [ 91 SRR, TF IR P @ FE o
(AT So A F9 | GIF @&ACH IPTT WS | 97, T (T |
(@AF: (5-9 = V) TQ1, (4-d = b) Q0 (549 = Sy -
So=V)

®-d
X 9-9
b o

JUST FUN!

A mathematician is a blind man in a dark room looking
for a black cat which isn't there.

Algebraic symbols are used when you do not know
what you are talking about.
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oft FACS A2 [9ATH Yoo @I AR]

Sb-0% Sbh-03 bb-dR bb-dR
X €-9¢ X 3¢-9¢ X Q-9 X 33-9b
9 s¢o 38¢o 30 50U 3590y
Exercises

4 |%x| 5 23 [x |24

6 |x| 7 27 |x|26

8 || 9 31 | x |28
10 | x| 11 35 |x|30

12 | x| 13 39 |x|32

14 x| 15 43 |x |34

16 | x| 17 47 |x |36

18 | x| 19 51 |x|38

20 | x| 21 55 | % |40

22 | x| 23 59 | x |42

24 x| 25 63 |x |44

26 | x| 27 67 |x|46

28 x| 29 71 | x| 48

30 x| 31 75 | % |50

32 |x| 33 79 | x|52

34 x| 35 83 |x |54

36 | x| 37 87 |x|56

38 |x|39 91 |x |58

40 x| 41 95 |x|60

42 x| 43 99 |x |62

44 | x| 45 x
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IR ST ST @ @ FI9 | QT 2T 3000, doooo oIV ([2&

S5 000 T3ZE, LR TOGT
| ey webT fUfes foca el
X3¢
PO RS |
>

DOH-00) ood-00
X QReE-R4¢ X Qe-4¢
o€ Q38 QA€
Y YY1
Xoooea
Do0db-0000 Doddb-0000
X 5555q-00009 X 55d»q-00009
0o000Y 5555¢0000Y

DODIOO
X 5055559

DOODDYV-0000009
X 5555d5q- 0000009

DOHDI®V-0000009
X 00995 q- 0000009

00000

SOOODH0 00000

S50
X 5555599

DD 9-0000039
X >Odd599- 000009
D000V 0 00009VHY

DOO®YV-0000004
X 5555>5>5q- 0000009
SOHOHH50 00000

Philosophy is a game with objectives and no rules.

Mathematics is a aame with rules and no obiectives.
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Exercises [10 sec. for each problem

999 | x | 998 9999 | * | 9999
998 | X | 997 9997 | X | 9998
997 | ¥ | 996 9995 | ¥ | 9997
996 | * | 995 9993 | ¥ | 9996
995 | X | 994 9991 | ¥ | 9995
994 | x| 993 9989 | * | 9994
993 | X | 992 9987 | X | 9993
992 | ¥ | 991 9985 | ¥ | 9992
991 | ¥ | 990 9983 | *¥ | 9991
990 | * | 989 9981 | ¥ | 9990
989 | X | 988 9979 | X | 9989
988 | * | 987 9977 | X | 9988
987 | ¥ | 986 9975 | ¥ | 9987
986 | * | 985 9973 | ¥ | 9986
985 | X | 984 9971 | X | 9985
984 | ¥ | 983 9969 | X | 9984
983 | ¥ | 982 9967 | X | 9983
982 | * | 981 9965 | ¥ | 9982
981 | ¥ | 980 9963 | ¥ | 9981
980 | * | 979 9961 | ¥ | 9980
979 | X | 978 9959 | ¥ | 9979

"A mathematician is a device for
turning coffee into theorems""
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Exercises [10 sec. for each problem]

99999 | x | 99999 999999 | * | 999999
99998 | * | 99997 999997 | * | 999998
99997 | * | 99995 999995 | * | 999997
99996 | * | 99993 999993 | * | 999996
99995 | * | 99991 999991 | * | 999995
99994 | * | 99989 999989 | * | 999994
99993 | * | 99987 999987 | * | 999993
99992 | * | 99985 999985 | * | 999992
99991 | * | 99983 999983 | * | 999991
99990 | * | 99981 999981 | * | 999990
99989 | * | 99979 999979 | * | 999989
99988 | * | 99977 999977 | * | 999988
99987 | * | 99975 999975 | * | 999987
99986 | * | 99973 999973 | * | 999986
99985 | * | 99971 999971 | * | 999985
99984 | * | 99969 999969 | * | 999984
99983 | * | 99967 999967 | * | 999983
99982 | * | 99965 999965 | * | 999982
99981 | * | 99963 999963 | * | 999981
99980 | * | 99961 999961 | * | 999980
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T, (55)3= (5343)/ 5 =53

A (5)%= (53+)/ 3 =188 921es / o= W
A (39)2= (59+9)/ O =dUd ol o 77 | @6
. (38) = (3848)/ 8 i /sumypy | A (CIODECT (T
B, (3¢) = (3¢+¢)/ @ =30/se=33e | T8 P
5. (V) = (SU+b)/ Ut =33/0b=3¢Y (AT == |
« Fozfoa “ffacs
R, (59)*=(59+9)/ A% =28/55=b>
FANG FIRT 1

. () = (Sb+b)/ b2 =)Y/,8=938

A (59) = (55+5)/ % =1/, d=0b

Trick 60: <0 F 55 @R o7, 57 8 A5 fefenwsa
TR TR G

TR A 2R (FIF TANE @ FAT FATT @ 47 | @H: 5% = 5IX®S |
2N d: BN =FO?

IAYI:

4I93: o0 (ATF 55-GF NLFT- 5 |
HOAR, G2 5-9F FTC b |

qIR: §3-5 = b

49 ©: b bd

o 3 D =F0?

IqY:

qI9: o0 (ATF brd-aF AFT =7 3% |
AR, 92 3 T TAC 0L} |

qIoI: brd-d% = LY

Q197 ©: YR LU

419 8: LELY
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oH ©: 98 = F9?
SAI:
qr7ly: Yoo (ATF 98 G AFT T QU |
SR, G2 Y GF FC YqU |
Q913 98-Y = 8b
49 ©: 8bru,qY
417 8: ¢8qY
2N 8: 8 = F6?
SAYI:
qI903: 300 (AF 58 U7 NLFT TT b |
SRR, U2 b GF FC 0L |
qIo1R: 58-Y = bbr
g7 ©: bboy
o @: 558 = T©?
IAY:
QI3 3000 (ATF 558 GF AILFT = v |
AR, 9% L G FAC 00V | (dooo ¢ Feafs fEear ©iR)
qIoR: 558-Y = Sbbr
g7 ©: Srbrovy
oY L: HHSYR = FS?
FAYI:
4193 30000 (ATF SodY GF AL 2 8 |
AR, U2 8-9F TC 003y | (30000-(S FRG &l ©1%)
qI913: 55dY -8 = HoHR
47 ©: 555005y
N Q: oSS = FO?
IALI:
q1: 300000 (ATF DOOY® IF ALFT =77 3 |
AR, U -G FAMC 0053 | (Sooooo & A &l ©i)
qrotx: HHBL® -3 = S

7 9: 589 ,Qb" ,00 ,9D
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&Y b: b brd 565 = Fo?
AAH:
qI7M: 50 ,00,000 (TF br ,rd ,HBS «F “I1FT =T 330003 |
AR, T 55-GF FC 5350033000 | (S00000 & AN fErar ©iF)
q7R: b ,br'® ,088 -3doood= 995oob
g o:
dV00I000)Y
+A9%oob
QOROBIR000D
THIB: O AR, QAT & FReAoT F0ET @7 @&l 3
efenta aait TR =J |

o b 5,595,555 = FO?

FAI:

qI7M: 0 ,00,00 ,000 (AF B ,OD , OO ,Ob-A-GF AT T do |
HOAR, €2 39-T FC 000005Y5 | (0,00 ,00,000- (S NG AT
°IR)

991 2 9,00 ,00,009-50 = 5,60 ,00,098

g7l 0: OSPHH980, 0o, 00, SV

THIB: T AR, QAT b {BRAET F 97 @& sy
fefenta «ofb TRy 207 | (of B3 W | 41 S @ 347

Tfre ffeve sufb | (FAF 9 O !

Q: What did one math book say to the other?
A: Don't bother me I've got my own problems!
Q: How do you make seven even?

A: Remove the 's'

Q: Why are diapers like 100 dollar bills?

A: They need to be changed.

Q: What goes up and never comes down?

A: Your Age

Q: Why is 6 afraid of 7? A: Because 7 8(ate) 9
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OO TRATSTTR FC (& (T T | (PN FIETLE07 AT
I | (7T fSfG weraa &y o A G 1)

99999% | 999999% | 99999978
99998% | 999997° | 999999793
99997° | 999995% | 99999980°
99996° | 999993% | 99999981
99995% | 999991 | 999999822
99994° | 999989% | 99999983>
99993% | 999987° | 999999843
99992% | 999985° | 999999853
99991% | 999983%* | 99999986°
99990% | 999981° | 999999872
99989% | 999979% | 99999988>
99988% | 999977 | 99999989°
999877 | 999975° | 999999903
99986° | 999973%* | 99999991°>
99985% | 999971 | 999999922
99984° | 999969% | 99999993
99983% | 999967% | 99999994>
99982% | 999965° | 99999995
999812 | 999963% | 99999996°
99980% | 999961% | 99999997>
99979% | 999959% | 99999998>
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Trick 61: Reaeiw «=fo spid=e 1!

4 TG ST [ TR TETR St RS (26 20Te Fo
2 | @t G T A TS GFE |

ob QY bb‘|cl\‘9
-90o db -9o oY

o
)+54 55+qY
90 Sb
Y+ vq o) + QY
L9 0)
19

wQq Q W

foa:

qrof 3: SRFHA I WD (AF Y (FIF ORP IR (068 =1F 0 8
TATT RF (R, GRITT (R GF(B Wl AT |

qrof Q: SR % 9 AW TS (A O I @ SRP SAEE SRS I8
8 foe T (@B, @ WF (AF > I & G AE IO @ TG
|

g7 ©: [ TSN A (AT SRPG /RPN A & T4 GRSy
SRIYE 5.7 T @ SR T4 |

4 8: GIIF T SRI(6 AP {CAT T4 (A (I TR FIf F0©
LR A

47 @: @[ AN 8 Tl AR AT 7f6 @I 30 [eareess A @
| A, B (T |
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RE: we ga-=at Inf 303 Reare Fa0e o5 A, Ok ©itwe &+ 9

HfoTT S | SIRUl, IRFWT TRIL Sty G “afere [
T, O &I AT e | Y G- 93w [Reat
T SR WY |

G AGOAE SRF: e JRFATAANCHR G FACS TS I

o AR NG SPRAT Sbr &I |

* 1T © (T Gl YA A |

o 2w QAR e @e ¢fF et <[ |

o 2S5 Fritacss 1o 37 8 5Tl |

o XA I (TR LT (B Tohs: O(HIB X e X8=bo (b BT |

o 5 IA FO: YoXOVE=1D Hoo (FIfG B |

o ARER HFO 9T 0ol 2 ,500X0=b¢ 900 FIFT |

® GOSTF 21?["{]‘%?[ Qe BfFT I AFREF: 000X ¢0 00 ,000=3000
@IS Brl |

o T 8 B SO Sy AT 4ab: ¢(FIGX9000BIF = S¢ooo (I
sl

Bt , (= ey =W, T I-aW IRFTITR o 46 A1 o effs =7

T FEA: 2D ,500+1E ,A00+5000+5€000=5 ,00 %00 (FG HIFT | € AR T!

ofS S¢ I=F 7 7T @ (TR BRI I3 7N Fwores:

e@FBx0 ,oooﬁ“WT=> ,00,000 I Bl |

forr syl ettt 5ot @ Jproca SwE g 0 (AR | AR AREACHHE

TR O S @ 07 R (T | CPITS JRFCH B1R |

Fibonaccl series:

a series of numbers in which each number ( Fibonacci
number ) is the sum of the two preceding numbers. The

simplest is the series 1, 1, 2, 3, 5, 8, etc.
0,1,1,2,3,5, 8, 13, 21, 34, ... The next number is
found by adding up the two numbers before it.

S: Teacher, I can't solve this problem.
T: Any five year old should be able to solve this one.
S: No wonder I can't do it then, I'm nearly ten!
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EXxercises

022222222 834444444
899989978 829989978

971111111 898766556
809989756 564789978

-
-
4
-

~
J
N\
J

998432882 898766522
899989756 564789978

-
-
4
-

978400000 898733333
899989756 564789978

- AN J

Trick 62: R wear gft: seg=e G
qE: V-8 =?

FATLI:

47 3: @Y = Co+Y, 38 = 048

g7 : €0-0 = 90, Y-8=

g7 ©: 9o+ = 9O

IRCFCA:

co+VYv

-(R0+8)

OO+ = O
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HH: 55-¢5 =?
do+d—d00
-(€5+3)—> Yo
= 80
2P: SUB-539 =2
So+8
-(520+9)
= 80+
=8
&%: €00-d9 =?

FAAY: €00-Y>00 = 800-0= Ob0-9 = V4q (T&H)

N A b-38b =2
Rbrb+—0

-(38+R)—d¢o

= 380
THIG: (AT 9, Wb (AF S8y [ T4 @ FU, Wo (AT d¢o
e Fae @32 T | @@ICBT @9 ARTST T W O RF
STIE IRIIE ACE Fica ~ARIET FACS AR =S FA9 F{4T
gl

REeR @ GF0e o | (A2 @10 ({9 FA00 RS |
43, ACR0-C3Y = F6?

AT, 2000 SAFGII @Y WS T B €20 (ATFE €O
A FACS ARE | ¢0-C00=0-33=br | JSAR,, (@&T
00V |
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ST OB (A2 SbAbbr-d5E88=9?

GEIRISIH
Dbr000-Y0000-br000-Y000=95000
q00-@00 =00

bb-88= 88
OAR , (FETH 988 | P, J(I (74T |
Exercises
F. bbb = ¥, 99-29 =
7T 98- = T, Y05-0 =
€. dob- WY = D. bd0-Ido =
R. 90d-bod = €. bbb-abbr =
A, doo-¢o = B, €08-dYo =
T, bLu-2¢b= 3. bbo-do -
©. qQL-98 = D. bq-9© =
q. 509-y0d = . 500-8¢¢ =
q, LE8-98 = M. 905-50d =
Q: How can you add eight 8's to get the number 1,000? (only using
addition)

A: 888 +88 +8 +8 +8 = 1,000
Q: Why is the longest human nose on record only 11 inches long? A:
Otherwise it would be a foot.
Q: | have forests but no trees. | have lakes but no water.
I have roads but no cars. What Am 1? Ans: A MAP.

Q: Do you already know the latest stats joke?
A: Probably...

Q: How do you teach a blonde math?
A: Subtract her clothes, divide her legs, and
square root her.
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Trick 63: @toq Sis SpigEe G

N 4 (AF &F T |

13
o SRDY 2
X3 13
13
2211 158743
=136633 = 158743

v

g VN
X9
=69639
Trick 64: =2y faed Fa7 !

of: -7 fagd o7
S

y

R 8

o 88-«F fawd T2
88

y

b b

Just be a human calculator!
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o) H6-9F e FTo?
oo

St |

[y |

2¥: So5-97 fae Fo?

Q: Why did the math book look so sad?

A: Because it had so many problems.

Definition: A circle is just a round straight line with a hole in
the middle.

Definition: The Decimal has a point. (Ha ha!)
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Exercises on Doubling

Number | Doubled | Number | Doubled | Number | Doubled
2 101 1283
5 111 2317
8 121 3351
11 131 4385
14 141 5419
17 151 6453
20 161 7487
23 171 8521
26 181 9555
29 191 10589
32 201 11623
35 211 12657
38 221 13691
41 231 14725
44 241 15759
47 251 16793
50 261 17827
53 271 18861
56 281 19895
59 291 20929
62 301 21963
65 311 22997
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Exercises on Doubling

www.tesolradio.com

Number |Doubled|Number DoubledNumber/Doubled
99821 78965 6666
99876 89651 7777
99931 100337 8888
99986 111023 9999
100041 121709 11110
100096 132395 12221
100151 143081 13332
100206 153767 14443
100261 164453 15554
100316 175139 16665
100371 185825 17776
100426 196511 18887
100481 207197 19998
100536 217883 21109
100591 228569 22220
100646 239255 23331
100701 249941 24442
100756 260627 25553
100811 271313 26664
100866 281999 27775
100921 292685 28886
100976 303371 29997
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Trick 65: :-féfes s wfR G

oY :8'=F9?
ITAI:

R X0=0¢Yo

AH: 583=o? @YO+>V=¢Y

bbXdoo=bboo ]

Y=oy ]

[ bbroo+9OY=bb9O ]

TRl 9T COMIITS T (AR 0O 7(F: @ A T F7 Ao
0, 0, 9o, 80, €0, Yo, 90, bo, o, Soo U fFFGIS! fFaT |
(T8 IR G G0 REefieaa AN Boiel ea 7ee 20, @ANA(G
TATT (MATS A1 | O, €0, S00, 0, So G AT 57 F1Z O |
T ORCE TN A FECR 58 WA doo-0F FFFIMG @R v
AT =T b | O 58 (AF b [T TN = by | @97 bb € doo
@0 TN FCACT R QIR AL o N =17 (v) Fe @
P RRACR | I, R T | (Squaring)-a= e ForeIs G oaa
Wiy W fefeet- 3257 ik &g <01 | )
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Exercises
Solve each of the following problems in your head in
just 8 seconds.

112 312 512 712 912
122 322 522 722 922
132 332 532 732 932
142 342 542 742 942
152 352 552 752 952
162 362 562 762 962
172 372 572 772 972
182 382 582 782 982
192 392 592 792 992
202 402 602 802
212 412 612 812
222 422 622 822
232 432 632 832
242 442 642 842
252 452 652 852
262 462 662 862
272 472 672 872
282 482 682 882
292 492 692 892
302 502 702 902
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Trick 66: o-fef&s Frs TR B!

2¥: Yog:=o?
SAI:

Yo Xdoo=yoboo

+

8=y

[ S0br00+3Y=10bdY

A 55y =F0?
FALI:

dhIXdooo=pHk000
+

=b

[ Sb000+bd=bb0bd

Q: When I’m first said,
I’m quite mysterious,
But when I’m explained,

I’m nothing serious.

What am 1?
Ans: A Riddle.
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Solve each of the following problems in your head in
just 8 seconds.

1012 1422 1832 285°
1032 144? 1882 290?
1052 1462 1932 2952
1072 148 1982 3007
1092 1502 2032 3052
1112 1522 2082 310
1132 1542 2132 3152
1152 1562 2182 3207
1172 1582 2232 3252
1192 160? 228 330?
1212 1622 2332 3352
1232 164 238 340?
1252 166 2432 3452
1272 1682 248 350
1292 1702 2532 3552
1312 1722 2582 3602
1332 1742 2632 3652
1352 1762 2682 370
1372 1782 273 3752
1392 1802 2782 3802
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Solve each of the following problems in your head in

just 8 seconds.

3872 5552 6352 7542
3902 5592 6402 7552
3982 5632 6452 7562
4062 5672 6502 7572
4142 5712 6552 7582
4222 5752 6602 7592
4302 5792 6652 7602
4382 5832 6702 7612
4462 5872 6752 7622
4542 5912 6802 7632
4622 5952 6852 7642
4702 5992 6902 7652
4782 6032 6952 7662
4862 6072 7002 7672
4942 6112 7052 7682
5022 6152 7102 7692
5102 6192 7152 7702
5182 6232 7202 7712
5262 6272 7252 7722
5342 6312 7302 7732
5422 6312 7302 7742

www.facehook.com/groups/immii.hd
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Solve each of the following problems in your head in

just 8 seconds.

7742 7982 8762
7752 8022 8772
7762 8062 8782
7772 8102 8792
7782 8142 8802
7792 8182 8812
7802 8222 8822
7812 8262 8832
7822 8302 8842
7832 8342 8852
7842 8382 8862
7852 8422 8872
7862 8462 8882
7872 8502 8892
7882 8542 8902
7892 8582 8912
7902 8622 8922
7912 8662 8932
7922 8702 8942
7932 8742 8952
7942 8782 8962
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Solve each of the following problems in your head in
just 8 seconds.

8972 9172 9382 9592
8982 9182 9392 961°
8992 9192 940? 963
9007 920? 9412 965°
9012 9212 9422 9672
9022 9222 9432 9692
9032 9232 9442 9712
9042 9242 9452 9732
9052 9252 9462 975°
906 926 947 977°
9072 9272 9482 979
9082 9282 949 9812
2909 9292 9502 9832
9102 9302 9512 2985°
9112 9312 9522 9872
9122 9322 9532 9892
9132 9332 9542 9912
9142 9342 9552 9932
9152 9352 9562 9952
9162 936 9572 9972
9172 9372 9582 9992

Y fEf -3 26 e |
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Trick 67: FoeII PN ©q IS /1=

111 = 3 37
222 = 6 37
333 = 9 37
444 = 12 37
555 =+ 15 37
666 =+ 18 37
777 =+ 21 37
888 =+ 24 37
999 =+ 27 37
Trick 68: TP TR &7 (74!
1+2=3
4+5+6 = 7+8

9+10+11+12 = 13+14+15
16+17+18+19+20 = 21+22+23+24
25+26+27+28+29+30 = 31+32+33+34+35
36+37+38+39+40 +41+42 = 43+44+45+46+47+48
49+50+51+52+53+54+55+56=57+58+59+60+61+62+63
9f5 o Fifaer | 9 o1 = A | SR TRIR G IS FACETS 9
PrisceR =@ 71t /1 | Amazing, hal

DVD of Math Genius-1 book will be available in the
market by March 31, 2019 if Allah wills. Please don’t
forget to collect your copy. Learn math, make our
country rich! Good Luck!!!

Visit our website: www.tesolbangladesh.com
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Trick 69: 4 tx wto &g (MY
143 x |7 1001
1443 x | 7 10101
14443 x | 7 101101
144443  |x | 7 1011101
1444443 [* [ 7 [ 10111101
14444443 [*x | 7 [ 101111101
144444443 [x | 7 | 1011111101
1444444443 |* | 7 | 10111111101
14444444443 [* | 7 | 101111111101

Trick 70: ST FARR @ &7 (A9

24 3 (35)3= F©?
:

g9 3 OB A SRIHF FAC 39 | (3)3=D
QI 3 (O A SRIXTHF FIAT SLF)XQ = (5XD)X =

7 ©0: WIS ZAIR SRIGF FC = (3)* =
TIAGTB: 4120 © 419 R 4177 S = 53D

oY R (€8)3=F9?
STAYI:

g1 y: GFF G SRIPOF T 79 | (8)°=dY

Q9 3: (IFF GAIT TEXTHF G GF) XS = (€X8)XY = 80
I ©: WHIT ZRIR SRIGF TWIC = (¢)* = ¢

TGIG: 417 © 19 Q 49 S = ¢50,0= WdY

oY 90: (58)=F9?
FAAI:

g1 y: GFF G SRIOA T 79 | (8)°=dY

QI 3: (AT GAIT TREXTHF G ORF)XY = (5X8)X = A
M ©: T¥F AT SKI0F FTAC = (5)* = brd

TIAGB: 4170 © 417 R 417 5 = A€0,U= bdaQb = bbrOY
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Y 8: (558)= F9?
SAI:
for fEfEoa AR (i@ TIF 8 *[6F FIT TRIFACE I F N
FACS (A |
g y: TS ZAR I0F FAC 79 | (8)*=dY
g Q: (GFF FAR SRIXTHF FAAT SRF)XQ = (39X8)XQ = by
g ©: IFF FAR SRP AN N SRIFREF FAC = (53)% = 53D
TREID: 490 © G171 2 417 D = S, b= d0dY

Exercises

E-1: Solve each of the following problems in your head.
Time for each problem: 6-8 seconds.

112 225 319
21? 229 341?
312 233? 363
412 2372 3852
51° 241? 4072
612 245° 4292
71? 249? 451>
812 253? 4732
912 2573 495°
1012 2612 5172
1112 2657 5392
1212 2693 5612
1312 2732 5832
1412 2773 605>
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1512 2812 627>
161° 285° 649°
1712 289° 671°
1812 2932 6932
1912 297° 7157
2012 3012 737°
2112 305° 759°
2212 309° 7817

E-11: Solve each of the following problems in your head.
Time for each 6-8 seconds.

782° 8872 9093
7857 888 910
788° 8892 9112
7912 890° 912?
794* 8912 9132
7973 892° 9147
8007 893? 915°
8032 8942 9167
8063 8957 9172
8093 8963 9182
8122 8972 9192
815? 8982 9203
8182 8992 9212
8212 9003 922°
8242 9012 9232
827° 9022 9243
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8307 9032 9252
833? 904? 926
8367 905 927°
839° 9063 9282
842° 907? 929
8452 9083 9307

E-111: Solve each of the following problems in your head.
Time for each problem: 6-8 seconds.

9312 953* 975°
9322 9542 976
933? 955° 977%
9342 956° 978
9352 957° 979
936° 958 980°
9372 9592 981?
938 960° 982°
9392 961 9832
940° 962° 984>
9412 963 985°
942° 964> 986°
9432 965° 9872
944> 966° 988
9452 967° 9892
9463 968> 990°
9473 969> 9912
9482 970? 992°
9493 971 993?
9503 972? 9942
9512 973? 9952

www.connectingteachers.online

~13~ www.eGirisValley.com




w;lglz.tfsnlnangladesg.;::!nl wrWWQIgSGIIZHILIHOGO%

Trick 71; SCIR(6 ¥TIF &7 (!

5,55, 5, 95, 85, &5, Us, a5, b, b T wraF =&
Aafe.....

&Y 3: VOXds = FO? [T b CLID]

formT:

2ATT 0O (F SH-UF TS AT fFR Soo T @ F7 @R
T (ACF 00 [EAM @ w8 | @7 I F? 0oXsd
QIF G WG [F2 TH T 00-(F do I 2 41| f[F8 @
WRAE ©e G0, qfo, fonlb.... % AP 7 3= TRAT
0T wel 1 972 | OI2 SN[ 5o-aF ARRCS Soo T wo-
(& @ TN | 94T F6T 0 O-(F FOJF (@ @ FIAN? TE3
S IR SX0O=09 | TZ, VOX300=9000 | AT VY00
@ vo [JEm 91 @ R e F4 @ Geiss
\9200+(300-90-9) =000+ (90-9)=90+Y4=VJV1 |

[fRsms @ Rt =52 o forr 63 Face 24 |

o Q: @EXbd = TO? PR b CILFD)

IAI:

(€&X50)-¢&= 85C0-¢&= 8b'>C

AT, (€€ X300)-(@EXDS)=€C00-Yot=8b5¢

&N 0: YIX® = FO? [T b CLIO]
IAI:

(LXb0)-Y= 85V0-YR= 8bdbr

SR,
(LRX500)-(UIXRID)=YR00->903= 8b-dbr
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Trick 72: SIAP(G &R &I (AL

b, S, b, Ob, 8, &b, Yb, A, bb, Sb W @9 =&
A%fe.....

oW d: @EXbb = IO? I br CLFO)
IAHI:

(€@&%X50)-(€@&X)=85¢0-dS0= 880
ST,

(€@X%500)-(€EXd)=CCo0-YYo= 8b80
o R VXY = FO? [FIT: b CFG|
IAHI:

(LIXB0)-LIXI= 8HYO-3I8= 8 OY
9T,
(LRX>00)-(VIXIR)=YROO-HOV8= 8bOY
&N 0: VXY = FO? [T: b CFD)

IAAYI:

(LX90)-(UIXI )= SbrYo-d8= H>AOY

9T,

(U%X500)-(LIXAR)=Y00- 88L8= 3q90Y

Exercises-1

Solve each of the following problems in just 8 seconds.
11 (% |19 12 | % | 79
14 | % |19 14 | % | 79
17 | % |19 16 [ ¥ | 79
20 | x |19 18 [ % | 79
23 |x |19 20 | %X | 79
26 [ % |19 22 | X | 79
29 [ ¥ |19 24 | % | 79
32 | ¥ |19 26 | * | 89
35 (% |19 28 | % | 89
38 | * |19 30 | * | 89

www.connectingteachers.online ~145~ www.eGirisValley.com



www.tesolhangladesh.com

www.tesolradio.com

41 | % |19 32 | * | 89
44 | * |19 34 | % | 89
47 | * | 29 36 | * | 89
50 | % |29 38 | * | 89
53 | % |29 40 | ¥ | 89
56 | * |29 42 | * | 89
59 | ¥ |29 44 | % | 89
62 | % |29 46 | * | 99
65 | % |29 48 | ¥ | 99
68 | * | 29 50 | % | 99
71 |* |39 52 % | 99
74 | * | 39 54 | % | 99
77 | * | 39 56 | * | 99
80 | % |39 58 | ¥ | 99
83| % |39 60 | ¥ | 99
86 | * |39 62 | % | 99
Exercises-11
Solve each of the following problems in just 8 seconds.
54 | |18 77 | * | 98
58 | |18 78 | * | 88
62 | * |18 79 | * | 78
66 | * |18 80 | * | 68
70| % [ 18 81 |x | 58
74 | x |38 82 | x | 48
78 | * |38 83 |x | 38
82 | x |38 84 | x | 28
86 |* |38 85| | 18
90 | x | 38 86 | * | 99
94 | x | 38 87 | x | 89
98 | *x |78 88 |* | 79
44 | x | 78 89 | * | 69
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49 | *x |78 90 | * | 89
54 |[x |78 91 | * | 49
59 [x |78 92 | x | 39
64 | |78 99 | * | 29
69 [x |78 99 | x |1 19
74 | X |78 99 | x | 99
79 | X |88 99 | x | 89
84 | x |88 99 |[x | 79
89 | x |88 99 | * | 69
94 | x |88 99 | X | 89
99 | x |88 99 | x | 49
33 | x |88 99 | x | 39
45 | *x | 88 99 | x | 29

Trick 73: 3 Taex wtaw &g (v
Example 1: ¢a x 53 = Lb8
qrof 52 (S IRATT IFS JIIT RFX T TRATF AFSF JIT o) [Ff
I ACAMEC] = A% =18
o1 Rz (ST IRYI W FAT SREX )+ (ST TR G55 FAT 0F)
[ 9 Grareme] = (€%R)+(q) = do+a =34
qrof ©: S IR F¥F FAT T = ¢
TISTD: 417 © 417 Q €171 > = ¢,9,8=Yb8
58

N

¢

b8
Example 2: 55 X 53 = 35bb
= 5XI=dbr
= 5X+H(d)=R4
=5
= T= 5, b =ddbbr
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S
29
)
Sl
Example 3: va X 33 = o8
= AX3=>8
= LXH()=>6
=
= T= Yy5,8=b08
58
N
Y
bo8

GOLDEN RATIO:

The Golden ratio is a special number found by dividing a line
into two parts so that the longer part divided by the smaller part
is also equal to the whole length divided by the longer part. It is
often symbolized using phi, after the 21st letter of the Greek
alphabet. ... Phi is usually rounded off to 1.618.

In the golden ratio, a + b is to a as a is to b. The Golden
ratio is a special number found by dividing a line into two parts
so that the longer part divided by the smaller part is also equal
to the whole length divided by the longer part. It is often
symbolized using phi, after the 21st letter of the Greek alphabet.

Q: Why shouldn’t you argue with stubburn
circles?
A: There’s just no point...

Q: What do you call an adorable angle?
A: Acute angle




www.tesolhangladesh.com www.tesolradio.com

Exercises
Solve each of the following problems in just 15 seconds.

11 1% [ 12 66 | X |12 85 | x [12
14 | * [ 12 67 | %12 86 | * [12
17 | % [ 12 68 | X |12 87 |* [12
20 | % [ 12 69 | X [12 88 | x [12
23 | X [ 12 70 | * |12 89 | x [12
26 | * |12 71 %112 90 | X |12
29 | X |12 72 | ¥ |12 91 | X |12
32 | ¥ |12 73 | %12 92 | X [12
35 | % |12 74 | * 12 93 | X [12
38 | * [12 75| %12 94 | X |12
41 | % [ 12 76 | * |12 95 | X |12
44 | % |12 77 | % 12 96 | * [12
47 | % [ 12 78 | * |12 97 | X [12
50 | * |12 79 | %12 98 | X |12
53 | % |12 80 | %12

56 | * |12 81 %112

59 | X |12 82 | X112

62 | X |12 83 | %12

65 | * [ 12 84 | %12

T @ X fefess UTF 28, Vv, 8, Yo, a3, b8, Y, Sobr,
320, Y9, $88... 25 WM @t e =0, AV 32 MEw @ I
QIFE R, 9, 8, €, Y, q, b, 5, 30, 33, O ... e e A0S
T | @

&Y S WX Ou=?

FAAYN: Qb X OV= QurXIIX©

Qb X 3

= XD [IFF GAT SRIXGFE G SR

= AXAH(b)=RR (T3 G IFXR) +(3F- 57 93 g o)
= q = 3%- {67 7 g_T F

= F= QRY = 50Y

TEAXO

DOYXY = ot
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&Y R @ Xdob=?
FAY: A Xdob= QrXdXH
b X 3
= XY [GFF G REXGFF G SRF]
= AXUH(b )= (T IR RFXR) +(3TBT 3 g7 oeF)]
= q = y7-fb7 7T g T
= = %Y = HOY
= XS
= 50UXH = 1838

Exercises
Solve each of the following problems in just 15 seconds.
11 1% 12 10 | * | 12 58 | *| 12
14 | *| 24 12 % | 24 60 | *| 24
171 *| 36 14 | *| 36 62 | *| 36
20 | *| 48 16 | * | 48 64 | | 48
23 | *| 60 18 | * | 60 66 | *| 60
26 | X| 72 20 | % | 72 68 | X | 72
29 | *X| 84 22 | *| 84 70 | X | 84
32 | %] 96 24 | *| 96 72 | X | 96
35 %108 26 | * | 108 74 | X108
38 %120 28 | * 120 76 | * | 120
41 | * | 132 30| %132 78 | X132
44 | * | 144 32 | % | 144 80 | *| 144
47 | *| 12 34 | *| 12 82 | x| 12
50 | *| 24 36 | *| 24 84 | *| 24
53| *| 36 38| *| 36 86| *| 36
56 | | 48 40 | * | 48 88 | *| 48
59 | *| 60 42 | * | 60 90 | | 60
62 | x| 72 44 | * | 72 92 | x| 72
65| *| 84 46 | * | 84 94 | *| 84
68 | *| 96 48 | * | 96 96 | X | 96
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71 %108 50 | * | 108 98 | * | 108
74 | * 120 52 | * 1120 87 | * 1120
77 | * 1132 54 | * | 132 86 | * | 132
80 | *|144 56 | * [ 144 85| %144

Trick 74: % Taex fov fSferba Yyts wro &g (4!
o >: Hhaxd=?

FAYE: Sb-AXIY

= XQ=38 [IFF GAIT SRIXGFF A SRI|

= BUXH(A)=00 [(TF 8 *OF AT RIXR)+H(3ABT & g =kF)
= b = - 67 W 8 *oF ZT =P

= T=

bd |bc+ad |[ac
8x9  Bxe+x9 xR

In logic, proof by contradiction is a form of proof, and more
specifically a form of indirect proof, that establishes the truth
or validity of a proposition. It starts by assuming that the
opposite proposition is true, and then shows that such an
assumption leads to a contradiction.
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Y LAXI0=2?
FATYH: LAAXIIXdo
= XQ=0) [4FF YA MIXIFF FIT NI|
= BAXH(3)=DOC (T 6 *oF FAT TIXR +3-407 7 g
=)
= ¥q = YT-57 7% @ *IoF ZPAT KT
= =
0}

0¢

va

o
= TFEIXH0= boCIXH0 = broRo

Exercises
Solve each of the following problems in just 15 seconds.
111 [ *] 12 205 | *| 12 320 | * 12
115 | *| 24 210 | *| 24 345 | * 24
119 | *| 36 215 | *| 36 370 | * 36
123 | *| 48 220 [ *| 48 395 | *| 48
127 [ *| 60 225 | *| 60 420 | * 60
131 [ *| 72 230 [ *| 72 445 | * 72
135 [ *| 84 235 | *| 84 470 | * 84
139 [ *| 96 240 [ *| 96 495 | *| 96
143 | * | 108 245 | * | 108 520 | * | 108
147 | * 120 250 [ * | 120 545 | * | 120
151 | * | 132 255 | * | 132 570 | * | 132
155 | * | 144 260 | * | 144 595 | * | 144
159 | * | 12 265 | *| 12 620 | * 12
163 | *| 24 270 | *| 24 645 | * 24
167 | *| 36 275 | *| 36 670 | * 36
171 | * | 48 280 | *| 48 695 | *| 48
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175 | * | 60 285 | *| 60 720 | *| 60
179 | *| 72 290 [ *| 72 745 | X | 72
183 | * | 84 295 | *| 84 770 | *| 84
187 | *| 96 300 | *| 96 795 | *| 96
191 | * | 108 305 | * | 108 820 | * | 108
195 | * | 120 310 | * | 120 845 | * | 120
199 | ¥ | 132 315 * | 132 870 | * | 132
203 | * 144 320 | * [ 144 895 | *| 144

Trick 75: =% @6 @rad Gy (!

Vo Xb= VYo
. Us [vots] e
XY 858

858

boXyo = boo

aq%: bb [bo+b] | voxy =>dwo

X33 [y6+ bXs = bo
So@Y XX = Sy
doeY

Q: y0q [doo+4] dYo00XE¢o = €000
XEE [Q/O>-Ig] JooXg¢ = oo

aX¢o = 9V¢o

Corbre
aXxe = ¢
e

+ Why do math teachers make good dancers?
Because they have algorithm.

+ | used to hate math until | realised that decimals have a
point.

+1 should never have become a math teacher.
It was a miscalculated move.
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Trick 76: =ta(0 =% @6 @rad By !
@ RALTA Y00-GF FFIMR: O (G AN ([
Z(J Y00 | I T NPT, (& =0T <A1 A0S (A |

bb-d%
95-5 X58-b -5
X58-Y W Xqo-9o
v @8 Ud:90=Y99q0
9 (G I Q@5 FO 2 |
dYou+s / SO -0x \ 3-8
Xdo+R Xd98-0Y Xqo0-9o
53 3t TN 13:90=Y V90
(55IXR)3
= Ob8 3
Co5+d 4 OSb-03 ) [ es+s \
XG0+ X358->0Y XGE+G
@Y v W W ¢ o
=(@35X&)Sbr (WIXB)WR V3
=¢CC v = IN —sbole
B — MR
\_ 5 a0 )
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: Y00 ([T A R T ¢4, woo «FT+T © T, 8oo

0= 8 MTA....... .09 FACO TJ | IANAHCS GOITF 2 FACS

TJ | TRIF ¢o (AR K0T N 1% ey ot are =9
IR G doo-G7 G |

A

Solve each of the following problems in just 15 seconds.

55 | x| 54 205 | x | 201 971 | x | 971
65 |x | 64 210 | x | 202 972 | x | 973
75 | x| 74 215 | x | 203 973 | x | 975
85 | x| 84 220 | x | 204 974 | x | 977
95 | x | 94 225 | x | 205 975 | x | 979
105 | x | 104 230 | x | 206 976 | x | 981
115 | % | 114 235 | x | 207 977 | x | 983
125 | x | 124 240 | x | 208 978 | x | 985
135 | % | 134 245 | x | 209 979 | x | 987
145 | x | 144 250 | x | 210 980 | x | 989
155 | x | 154 255 | x | 211 981 | x | 991
165 | x | 164 260 | x | 212 982 | x | 993
175 | % | 174 265 | x | 213 983 | x | 995
185 | x | 184 270 | x | 214 984 | x | 997
195 | x | 194 275 | x | 215 985 | x | 999
205 | x | 204 280 | x | 216 986 | x | 981
215 | x | 214 285 | x | 217 987 | x | 982
225 | x | 224 290 | x | 218 988 | x | 983
235 | x | 234 295 | x | 219 989 | x | 984
245 | x | 244 300 | x | 220 990 | x | 985
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255 254 305 | x | 221 991 986
265 | x | 264 310 | x | 222 992 | x | 987
275 | x | 274 315 | x | 223 993 | x | 988
285 | x | 284 320 | x | 224 994 | x | 989

Trick 77: *RrFE @ (@9 436 [RAQOT F© T IETR
of F= 7 i !

BRI | SRR (@ (I GG ARCECET 94 Of 0+ e 211 |
49, O IH9 RS 75 G BIBR |

g 5: T RSl T T (ricaer oIt © ew wet Face 397
qrof X: I FCET ANY Y @ FACO I |

g7 ©: efie FToF © W Ot 900 I |

qrof 8: g T (AL { [_eam sace 991

o, TREIB (JF =CH (O |

IETEH

4F, # 9 five [RE@MH pv.¢ =R IR |

QA 5U.€ X9 = Ipd.¢

qof Q3 d.CHY= R9¢C.¢

g7 ©: BE.CHO = dbr.¢

g 8: Sb.¢-] = dHY.¢

o, TREIB (FF A (O |

Negative Numbers:

In mathematics, 3 negative number is a real number that is less
than zero. Negative numbers represent opposites. If positive
represents 3 movement to the right, negative represents 3
movement to the left. If positive represents above sea level, then

nedative represents below sea level.
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@6 TR B e

1=1 =1x1=12

14241 = 242 =2x2=22

14+2+3+2+1 = 3+3+3 =3x3=32
1+2+3+4+3+2+1 = 4+4+4+4 =4x4=42
1+2+3+4+5+4+3+2+1 = 5+5+5+5+5 =5x5=52
1+2+3+4+5+6+5+4+3+2+1 = 6+6+6+6+6+6 =6%x6=62
14243 4+4+5+6+7+6+5+4+34241 = T+T+T+T+T+7+7 =TX7=72
1+2+3+4+5+6+7+8+7+6+5+4+3+2+1 = 8+8+8+8+8+8+8+8 =8x8=82

1+2+3+4+5+6+7+8+9+8+7+6+5+4+3+2+1 = 9+9+9+9+9+9+9+9+9 =9x9=92

Trick 78: %-9% o %R HF1!

Wiyt s

9X1=9 9X2=18 9X3=27

3 34 3 3
200 128005 200/ L6 hbs Afina

9X4=36 9X5=45 9X6 =54

Y Wty 1

9X7 =63 9X8 =72 9X9 =81
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3 4 7
1
0
9X10=90
o
5Xd: TOME TS 7CGT B T© ¢ FFAl F4 AN QTS
JRILE0 RO SO AT I P T ¢ (AL 1P S¢S
(TP ST ST NG TR | GF W T 5Xd-BRA D 3-
O3 S I AR |
XY IR AW M @A o T Wi @ TR, &y
ST ST ATSICAT AP | (R T OIS AN T ST
T ST S ST SR IR T > IR Oy F4T AR
AR b0 S ACICAT SR IR T b | (5 WS > 8 b
S St | OIRCET HX=br |
5>Xx0: IR AN e (AT B 0T NEE I FER, N
SR ST WIGTCA] RS | (AT B O T OF WAL
e fF ST AISTAT SiTR IR T AR ©f6 FA WA
At afb e NSl SR I A Q| (T WIS 2 8 q
SR 29 | SR HX0=31 |
5>x8: YT IN WS (AT o 8¢ ST IFT IR, S
TR SE MOl APC | (AT F7 oer a1 84
SR AT oG ST AISICAT ST A [ © GRSy [

SHER A Yo N NI SR IR T & | (6 S
© 8 U TR Y | ST HX8=0Y |
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Aaol THIE JACS (AR | GOIC 2[Cal AT 71y 9 |
M, TRE FB WNME R @ RF [@ifge o

R | &, 9Ir6d 26q@ o I 91! Thanks Allah.

T G5 TEE Gy !
R,00R X 8 = b ,oob
R ,00R X 9©q = 48,098
RQ,00R X db = 5V ,30Y
,00% X d9 = Y WY
Q,00R X 888 = bbb bbb
R,00R X €& = 5,955,550

Trick 79: JIRECHRr O TR 512 SqA&
P &) I (T FAF @ !

AT FIfF & Ot & AT FoI0o I I | A
(TR SR VRS- NRASIRT CO7 ©Y & SIFAT 1R §f; &) AT
TR AT @ I 1 | O, @ TS @A 20 S
SR G2 @ @FED | DN W (P TR G oI, AT
8 J2F 1 MCo AR | IFMF AR (SF @ @ 79
e O] e AR | OF G @re Qe q1 | w2
B Aifer a1 qe (oned difer | ez #ird Wre ug wrorw
& I Wers(o !

4 5: TOINI IHCP o1 O G OIfIfG Ferpeetoed #ree |
(RT: AT FACA @ RCF @F A T | O 12
fRTY AT | FIEPEDE A (TR (FIAR FEAPCEOR
LI PICAT WA AR 1 | 9P BEAIS, =71)

g7 Q: G 4171 SR RAFIBTF 20 WA @ 0o 947 |
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G O QEFCETT AT R QA FACO I |

g9 8: i TF ¢ WeT @ FCF & N AT @9 FACO
3o (N: WCE & T ©)

g9 @: IS TACF Soo T 8 FACS 74 |

qrof : &I FER L 35S @M FACS I |

g7 q: 2@ TR A 57 & A +1F qfo ffes @y
S T (S AT Sodb A, dbr I FACF) |

qI9 b: QTS T (ATF 5,55 ,558 e s 27 |

0 = /P7/qd 35184 |

GG THIRAY 4T T<:

41 5: TOMNIE 9% & ey » oF ©ifed |

g9 2: YX0=0

49 ©: 0+333=383

ol 8: RBIXE= dAV0+H9=3D9

47 @¢: SA0Xd>00=3d900

qI91 U SRD9V00+355=D]385d

g7 Q: 3I8IV+Hb= dd¢od (T AR dodb, dbr WY

@) |

91 br: SDEOD-3 .35 SS=300dlr

;e /T / 32 3512+ |

e, O T 5/09/5b (5 W, Sodb) | 2M........... g....!
fog yety fofen (e

QU539 X 3 = 5¢9 ,b8Y /chcer, @ECoT en%ﬁ‘s‘\
QU 539 X q = ¢Ob,8b3 M fefeoeEr

QU 59 X ¢ = 98 ,Ld¢E TARAT G938 AR |

QU 539 X 35 = B8Y 3¢ iz, & @@ 6%

QU 539 X b = 8UY @Ob &bt !

QU 59 X b = UdE 08 - /
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Q: How do you stay warm in an empty room?

A: Go stand in the corner—it’s always 90 degrees.

S1: | just saw my math teacher lock himself in his
office with a piece of graph paper.

S2: I think he must be plotting something.

Trick 80: Vv (ATF do0-4F (oo @ (I A
Y o e I Gy

I (SN 2ITed ©F (SR ot 1 SR <7 (2
TO) | CONE R QTS JAIFET N Y, G S SAFTT
W BRCS (A9 | (L, (1N Y2 ZICST FDEFT T So |
IR 4T G Q8 5 @ FACE LR X | (AR 4
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@1 B AT FEC: COMIR &N fefenfb q, B} 1% =/coe 4

NS (TR Y-OF 8 9-6F VT ) OISt 4 | S7p !
o s RAIG & , O T 0o b 8 (L-9F, a-
¥, b-O¥, 8 5-OF V[TV W) ©fer T | (M

TSI ©Ier FAT SFCer TR U6 @7 W =3 7T (bXdo = bo) Gk
AT SIPCER (e I 210s oft @ T 7ee S, 7 R4 Bfir e
FACI (TR, OXS = ©) | GIF ©IE T N T Yo 8 NG
IFEE W ©, (N6 Lo | NS TS FRCAL, 4X6=1\9 |

7x9=60 7x9=60+3 =63

n

I HEFD B F: b XY=FG?

8 x6
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TSIV ©TeT FI SR AT 8% @7 I 203 w1 (8% 30 = 80) €
ATSITAT SR CFea I s 6 8 v 2jre 8%, 7@ a4t ofit wd
FACI (e, X8 = br) | YA ©& AT AR A 8o '€ WIGITAT
IR A b, (D 8 | G T, b XY=8b- | THAT & COTNH?

Trick 81: wtg=fo FAK G (3!

0«9+1=1
1+9+2=11 G . T @
12« 94+3=111 o=
123 « 9+4=1,111
1,234 « 94+ 5=11,111
12,345 « 94+ 6=111,111
123,456 « 9+7=1,111,111
1,234,567 « 9+ 8 =11,111,111
12,345,678 « 9+9= 111,111,111
Gty fefeb:
583 ,b¢a X 2 = Qb€ ,a58 T, (@B
383 b@a X © = 83b,¢Qd %@;ﬁgﬁ TR
I (SN e)
583,b:¢q X 8 = ¢9d,8%br a2 ATz | Sz,
383 ,b¢Q X ¢ = D8 b€ g @ R

583,b¢Q X U = bq 583

Trick 82; JICAT SIR-QITT YT 717 Ty

(S12 A & T 8 (@ A & TF 20O 2(J, 97 @ 2T
« G0 Fe T3 7 FRS @ GFhs i JET ox
AR 1)
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G 2R ¢ &, BNeIRog FPT (T I T2 Fe

T A6 MRF S PEIN | 8 e Siiows we w4 a9
@ (& FT TS AT | (S N AT (AF2 SO
TS 38 TN B2, © &I @ | (O N2 436 5hw %
TN “GPRAYT Jaed T FRA” | KR R oA e
GRS SN | R 2T ! T AN, S L..... |
BRI, ST I BRI T ©IR-, (F 5 3 &lfe =7 ¢oT |
INE V@ G O | WF IV | A e G
ICD2........8 T S WF T | S[2-(QMCF M Fgros
T 9| TN, SCF, (SNEF I mEDE (12 | 9N 8y
GFH] T Y | 8 I, OF ACE....... | TONANE NHG 4l |
[F ©IR-(JICHE WA SIS Ble.....

4 5: (O SIRCAF IR FIFTPETOCR 1Y |

g9 Q: U919 ¢ Q@9 99 |

g9 ©: i TP ¢ e @ 39 |

417 8: &T¥ FEF AL do @ F4 |

q9 ¢: i T R M e 59 |

ol b: &S T AL QICHF IR @ FACO 47 |

«rof Q: e T (ACF o0 [ 79 |

FE0:

OFF G TFF TR (@ R THF FAT AR
MPRATSE O3 |

G5 THIzF K&
47l »: OIZCAF TR &
q9 3 5+€¢=>8

g7 9: 38X ¢=90

g7 8: Qo+do=bo

g9 €: broXI=>Yo
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47 L: SVo+5=dVY5 (I AT 5 &)

4I9 Q: SUS -90=b%
TOR @ & T 8 B2 & T | 8 T WP (ATF T |
A2 IS AT AMCF TS T4 | (*I0T AGCF
TN, (APTS, OB 90 a1l AT g (72 1 ...
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it AR G e

0
l . 8 = 8 kﬂ
11-88 = 968 [.] S

111 -888 _ 98568

1111 -8888 _ 9874568 Nl

I1111-88888  — 987634568 5% |
I11111-888888 = 08765234568

I111111-8888888 = 0876541234568 —

I1111111-88888888 =  987654301234568

ITT1111111 - 888888888 = 98765431901234568
ITTTT11111 - 8888888888 = 987654321791234568

2 S5+P=FO?

ST W AT Q@M 1 T IR A G0 TR A 9L IR
Qo-fEErst I R TR0 AR (@ Ao =27 91 | @«:
5+d = R0
(5+3)+(33-5)= 20
OIRET, S9+0= (55+43)+(WD-3)=0+0=80
o by+59=2?
-
FAL: bo+55+R = 50+50+I=3bR

o S5+d0d=?

+y -
IAHN: 55+30d= doo+doo = o0

“Mathematics expresses values that reflect the cosmos, including orderliness,
balance, harmony, logic, and abstract beauty.”

— Deepak Chopra

“The difference between the poet and the mathematician is that the poet tries to get
his head into the heavens while the mathematician tries to get the heavens into his
head.”

— G.K. Chesterton

“My first feeling was that there was no way to continue. Writing isn't like math;in
math, two plus two always equals four no matter what your mood is like. With
writing, the way you feel changes everything.”

— Stephenie Meyer, Midnight Sun

“I know that two and two make four - and should be glad to prove it too if | could -
though | must say if by any sort of process | could convert 2 and 2 into five it would
give me much greater pleasure.”

— Lord George Gordon Byron
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Exercises

Solve each of the following addition problems in just 8
secodns.

19 |+ | 21 659 | + | 761
29 |+ 31 669 |+ | 771
39 |+ M1 679 | + | 781
49 |+ | 51 689 | + | 791
59 |+ 61 699 | + | 801
69 [+ 71 709 | + | 811
79 |+ 81 719 | + | 821
89 [+ N 729 | + | 831
99 |+ /101 739 | + | 841
109 |+ | 111 749 | + | 851
119 |+ [ 121 759 | + | 861
129 |+ | 131 769 | + | 871
139 |+ [ 141 779 | + | 881
149 | + | 151 789 | + | 891
159 | + | 161 799 | + | 901
169 |+ [ 171 809 | + | 911
179 | + | 181 819 | + | 921
189 | + [ 191 829 | +| 931
199 | + | 201 839 | + | 941
209 |+ | 211 849 | + | 951
219 | + | 221 859 | + | 961
229 | + | 231 869 |+ | 971
239 | + | 241 879 | +| 981
249 | + | 251 889 991
WWW. tesnlnangladesh com
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Trick 84: Ig oFRE FOIN TS (IF AR O =71 Trick!
CONIF (T I T TOPFT/TS HYMR FOF KO ({7
W@ﬁﬁﬁ%%@ﬂ@@%ml oo
B N e =7 1 58 SR N O2 e AR |
0T qrolete SR F4:

Step 1: TONR IFHCF I GG IRAT 4= Q|

Step 2: g -G A COMF IF TSI GACS (I TRACR O
@9 PACS e |

Step 3: &1 T AL © Q@ FACO© I |

Step 4: &ie T=TF ¢ M @9 TS I |

Step 5: GO T (AP b [CAm TS 3+ |

THS T, TED T2

TIAGICBR (*ITTF SRPIG ZOR & R U SRS AT SRPSTIR
I RSN (T IO (I ACE |

ICLETRE

Step 1: €3:

Step 2: IXCONE IF b I FACS (FF AACT = IXY =3
Step 3: &1 T AL © @A FACO 6T 1=D+H9=>¢

Step 4: 2i® TF ¢ M @ FACS @ | =dEXE=9¢

Step 5: 5O T (AP Y RO TS 37 | =9¢-Yb=Ys
TFE[RFeT:

GFF A I (I & GR I SRIGET TRAF (T O
(99 AR |

Mental Math makes you
genius!
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Trick 85: T3 LI ITG ([95 FS SR ©f I Trick!
CONE IR o1 O A O FO& WA I AR O N
3T TS 21T (OIITE F© BIPl (AT | @oo BIFR I e
I A 58 IR o ARG IFCS SRR | WoR arefecet
NOUERISEE

Step 1: TONR IFW W@ To&H FT &FG O aad
PACS ¢ |

Step 2: 21 FEE ANY © @ FHC© ¢ |

Step 3: 2@ TF ¢ M @9 TS 37 |

Step 4: T (0P S R FAC© 97 |

Step 5: 5O TCEF AL Y @7 FICS I |

IHCP I, TREID $0? AN QN 0 ATS |

TAGNCBA (HICE SRI(G J00R AT & AR LW RS 1
TRYTAI T RS O 5 L |

Trick 86: “&tw 31 <& 3o Bt =i Bremfit] coitar
o T Trick!

COTNI IFCF I T %M 1 F[ay T Gl T (i o
Ol A0 TS AT (SIS 6 B (TS | Sooo BIBIF I
Afe =7 w1 58 TRA oW AR wwS Mmoo
YIAGT PR e

Step 1: ToNE IF T© Ol B0 (it ©f IR @ S
| (€9: Soo BRI X8 = 8oo Gl

Step 2: &1 F=ICF X T ©F F90O 91 | = 8oo+3=300
Step 3: AI¥ FER AL © @ FACS I 1=300+H9=309
Step 4: ¥ TP do MTT @ FACS I | =0WXYo=20Y0
Step 5: @@ Ted 2 M@ o I T, WR
ROVOTRI=J0dC
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Step 6: T (AT > R T F77, TR 305¢->3=3009
Step 7: FOR T AL b @7 FACO & | =doo9w+b=dood
JHCS 1, TAGID 3O? N[ GNE 0T WIS |
TASICDA (<ITTF SRI0 ZCHR TMI & R 2 SR SRR
ST SAfe BIel (7 %em AT e o5 TGieR | =doo B |
Trick 87: MR ORI RYF &R Trick!
2 0R*
FATLI:
g 3: (9P AT =RKH)*
47 X: (G GAR SRPXAAET FAR WRP) XY
g7 ©: (A1 G OKF)*
TRGIT: ArAOGRLN
©/(0X2)X3/3
=5/53/8=>0/3/8=>038
o9 by
v/ (rrX5)X3 /et
=Us/358/,5=/5/3/5 [(©)(58+8)(b+8)>—>AbR] atea ey @I % |
@z~ for fefercsa sR2yIRe FMfRR T
oz S}
=3 [(dax0)x3] (%)
=388/43/6 = 3¢/5/3/5=¢>%

Puse

MATHEMATICS
Sy, W Sy cuny

Wy, the

POETRY
~ )=
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o¥: 06°
=20% [(20%9)x3] (5%)
= N
Y

8VYL)

Trick 88: ‘@o (A= &5 @7 TR Trick!
q: ¢ O=FS?

g7 3: (9T G oK)

49 Q: REHGFF G NF

TAGIB: Q171 4171

TR, (WC+9)9*

b0 [0d (AT o FTs *=y fcx et =63 1)

&q: e}

AR, (E+9)Q% = 0385

Trick 89: ‘8o (% 85 T FIR Trick!
o: 85 =797

4 5: ¢o-85 (€0 (ATF AWG TR AT (T F9) IR ©F FWIRR
T4 | (0 (ATF o e =7y fea *orics =03)

49 R: {¢ -(€o-2AMe IR TF FWMfhe FACO =)
TAGIB: G171 4171

TOAR o1 1(RE- )i s(€0-85 )= 380)

oH: 8)=F©?

TERAIL, (€-5)(€0-85 )= dubd

Trick 90: ‘@iz 9fb 7R FARR GF @APIT (7
A Trick!

o: 8¢ +8L3=FS?

IYI:

qrofy: (FECHT IFSF IO > @7 |

g 2z (=I5 IRAT + €) X I IR
TAGIB: qroiR 411

BCEIE

qr: y

Q7 3: (8¢ +@)X8Y = 5 X8Y = 838
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TASI0: 4171 471> = 858

PY: SRHI=FS?

g S

A2 (0D T@)XdY = 2IXDI =L 8

TG0 4I7R 4I7D = Q0.8/% = ¢ [QLITT WHRIHT TR IR AN S
@ R Mee 23]

o&Y: SR =F©?

q: S

4 Q: ()Q +<t)><)\') = A.8X39 = 0VH.]

TIGT0: AR 417 = ©3.3/> = 939 [QITF TNTFT T TR L S
@ I Tee = q]

Trick 91: %% =3 RF® 9ft YT @ T2 B
T GFF G SRIGY 2 IR TP FAIT SRPH

QA FACET @I T do!

qroly: (AT G oLF)?

Qo 2: (ST TR TS G SFX T TR F¥F AT ORF )+ 955
Rl

TG LA

oH: 99 X Q9 = F9?

A (9XQ)+9/0% = 3805 (03 (AF ob 7@ *Fy Wrx F1eTe =J)
Y b X b =FO?  AWYN: (5X5)+b/b* = 5aL8

GMW-QWQTW: \
T, TRE EoeR @20 <, TR PievE feofe
1. *[ely foycy fm eI q. SR G et
8. fITS I T b. SRS @ IR 2ot
%, @-feanes fofe 8 @ . oreF fofe @ @
A, oo fofe 8 @t @, SR fofe @ e
5. quefa fofe e e 5. f5aw fofe ¢ e
T. €oo (FBIFT NI SegAlleTell T. |Q-97 o e Sy

K A e gL /

“Women have a passion for mathematics. They divide
their age in half, double the price of their clothes, and
always add at least five years to the age of their best
friend.”

— Marcel Achard
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Trick 92: Sa gNIT N9 @ @ WA ERIF Gt

[W][W][W] o= ]
[ I r 7 7

29,500 ¢
[

(=] (o]

[mmﬁmwwwmwm]

NN\
[@@]

THI0: | S[® = Yo 000 (W &)
fS®(= S0 ,00 ,000 (WH #75)

F. 3= T WD (5X30)+ YR GFD (X)) = S0+ =HR

9. 29 = 78 WP (3%50)+ o7 €T (0x3) = 0+9 =39
o
q,

. Db = T WS (5X50)+ Wb UFF (bXd) = 5o+ =dbr
Sbd = T ¥OF (5X00) + G W¥F (bX30)+ dF TS (3X3)
= 900+bo+d =5
8. 5bd¢ = T TG (5X3000) + WG *6F (bX300) + GF WHH
(3X30) + 6 GFF (€Xd) = 5000+b 00450+ =5b>¢q
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B. 5b>¢q = T SO (5X30,000) + S6 TEH (Xd000) + GF

MOF  (5X%00) + B WHF (€Xdo) + WO GFF (aXd)=
50,000+t ,000+300+€0+9 =dbd&Q

R, Sbdeh = T S (5X30,000) + WG &R (FXd000) + aF
oF (3%X00) + AB WE  (€X30)+WT @I (bXd) =
50 ,000+b000+500+€0+b =db SCb

. 5,0 ,¢bo = T TF (5X3,00,000) + |G S (bXdo ,000) +
T TG (5X500) + A6 *TF (€X500)+AT WHF (bXd0) + *AF
GdFF (0Xd) = $,00,000+10 ,000+5000+€00+b0+0 =d ,brd ,&bo
A o Ydeho = WG RS (rXd0,00,000)+ T TH
(5%5,00,000) + G SO (brXd0,000) + &F TG (3X300) +
A6 T (€X300)+AG AT (bXd0) + ¥ G (oXd) =
® ,00,000+b0 ,000+5000+¢00+b0+0 =b'® ,brd ,€bobr

A Iuobdebo = BB @I (%d00,00,000)+T e
(bX50,00,000)+ T &TF (HX),00,000) + B TS (brX30,000)
+ O3 TG (3X500) + *fb 6T (€ X500 )+AT WP (bX30) + W

aFF (oX%xy) = $,00,000+b0 ,000+5000+¢00+b0+0
=bd WS ,ebo

GO AR T A4:

GFF=€ ™= d SF=S Tee=h
o= a o= | foe=n I =C

76 443 AT SRS T (O

=, T O A S I | <, Bforer zw < o G |
TR0 1B FRAT TPTH FTSA I e AT R O IR |
A G YT FTIF GHA G S: !

There shovuld be
NO SUCH THING

as boring
mathematics.

-Edsger Dijkstra
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>
=, «, I 7, 7y 4o a6
c, nl, ah, sde RS
0, 00, 00, 000 Wl
Rt
1, 20, 20, 220
a3 @G, 7 7%, [ greq, 2 *1o e
AT 9@
1, 00, 20, 220
@ @I, ™ TEE, 12 *re G o
9, 00, 00, 220 R
- i, e || SN PR
e

5, 99, 01, 020 |\ MEH! )
A5 @5, R o, @ Taw,

105, 99, 01, 220
a3 A5 @I, FAwRE 7%, 93 TR, 42 =

999, 99, 99, 999

2999, 99, 99, 999
72 TER T fReRE @I, Fawe o, faewe gwm, 79« ffamwe

22999, 99, 99, 999

2 TEE T fReRe @i, Famws o ffaeRs gwie, 99 e famRs
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122999, 99, 99, 999

GF 7TF 12 TR W TR @I, fRaRe o, R gww, 7 o
IREICRSEY

9122999, 99, 99, 999

L ICAERIDECEY

99122999, 99, 99, 999

T (@I GFERS TF 2 IS T R @I, e o, FRews

109 91 22 999, 99, 99, 999

G 7T (6 GFRS 7% 2 2 N7 Fawwe @I, Famws o5,
e TwE, 79 *re fFamRs

9 109 91 22 999, 99, 99, 999

T O G T (@I PR T e Fred T Famwe @i, RewRe

99 109 91 22 999, 99, 99, 999

RRRE ST G T (S GFTRS 7% 2+ AG TI RS @I,

199 109 91 22 999, 99, 99, 999

OF T RS TS GFH T (P GFEHRS 7% 124 ST T foRe

<) g - WnY
31 (o U8 R F02 12 99 109 9122 999,99,99, 999
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Trick 93: wteg &g Hie!

o2l (SN IM I 2 O kP [RE 9 A ed
FIETHC0A RCT [So CTURCTIFAN X Y FACO ARC?
4 RAT UG 2002 0S8, 8 8889 | 541, I A Wl
QR ! oRTT TRE R[FE ot epfre <mafels e
T |

AT S 33x21
FATLI:
epfee afe: 33
x21
CRY)
6 6 X
693 [am s iG]

GF T2 Teq Amfe: 33 x 21

| X1 33 33
33 .
21 vy 24
693 6 6+3 3
=6 9 3
N/
= 693

IR WG do CLF &9+ |
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TR @fe: 33 x 21

w

=9 I¢ ¥ T
=6 6-3 3
= 693
AN TG 3¢ GLIS F |
wrefifeer s&fe: 33 x 21

V| |9 0

Ed

YV4+© ) 9

=9 494 F =Y L9 ©=UHY

Odd - Even Poem
Zero, two, four, six, eight
Being even is just great.
One, threg, five, seven, nine
Being odd is just fine.
Zero the hero came to school.
Zero the hero knows a rule:
Zero the hero stays in a space,
So all the other numbers get in the right place!
Zero the Hero came to school,
Zero the Hero, he's no fool
Zero the Hero keeps his place
so all the other numbers stay in their place
Yeah!
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AT R 98 x 45

AAYI:
epeTe mfe: 98
x 45
490
392x
4410

-T2 ©eF Aafe: 98 x 45

9 9 8 8
98 i,
45 v il
4410 % 810
=44 1 0
\thl
= 410
e f&fwaeT, % 3!

O @7y PR @A G “ew “Math Genius-11”
T | Sffols BT (ST FISFE P | 4 FifFels 1ere g
P 20T FTNREP G !

Trick 94: eteg Yoo ARG A& (S: [bro TATF doo

a9 ]
orsy: 5, 98X98 = 2 4. 98%96 = ?
I - 2/.'02
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3. 98 x 98
=08-2 2x2
=96 04| = sb 2 Soo (AF 2 FN R 5
AT Yoo (AT b I | B2 T G
(AT *AACR |
A EL
B g Xb= 3V [ SIFEF TITF G0 NRF|
<. 98<v96 :Q—Q:bo L@T @ngﬂzﬂ]
=98-4 02x04 L—/— =
=94 08
=9408
7. S XSO
SAHI:
ob- R
oR-| b
0 MY

Dare to solve the following in your head in 8

seconds:
fCER AT 9T 4GS, AR @@ S, TOR AT,

Yoo ([2& M&fe 8 TifaE Aafore AT F4:

a. 11x55 K. 99x91
b. 23%65 l. 97x99
C. 99x98 m. 96x95
d. 87x99 n. 89x95
e. 35%35 0. 88x93
f. 66x77 p. 91x94
g. 88x99 g 77x12
h. 91x92 r. 89x56
. 11x55 S. 11x22
J. 93x94 t. 23%x46
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u. 99x92 X. 68x79
V. 87x88 y. 68%86
W. 76x99 Z. 96x95

Trick 95: T¥ (BT IRACF A6 (AT S EUICLT CLF
¢ At ed a9 TRICK!

TS RN CFCA: 49, 64x5 =7

g 3: AT =ds 391 e.9. 32

g7 Q: 417 5-93 Tl G0 *=5 e, @3 320
I, T (T |

fRrena A CF@: €7, 93x5 =?

qro >: AT EF F9, @I 46.5

g7 3: 417 3-9F @R WAt St wre, @wws 465
[, T (T |

G G JTNPR TER IRGTE ¢ fex ot =
864268648x5=?

g7 >: 4 32134324 (rnfoT wcds w41 2e7)

gl 2z 417 -3 (FEICD T GG =7y PTG |
4321343240

[T, T (!

G G5 R Reens RAYWIE ¢ Mo o w2

964567643 x5=?

qo13: 48228382 1.5 (anfoT wede 7 z°7)

g7 3: 4190 5-9F @ECF NG ST wre |

4822838215

T, 70T (1T !

Y, R: T (I TRYICS Alb (AP AS ERICST WG ¢,
¢o, oo, €000, €000O0......... e ot FaF Aafe
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TG S: 44+5="

4ol »: 88 (RWIG fawq F4r 277)

g9l Q: 4171 3-9F (FEICDHF ©F (A S-TF 217 7NF P18 |
8.8

A, = (94T !

G Rz 8 9+5="

qror S:

8-a7 Tk 16

9-gg Tt 18

178
g7 : O [0 (/0P S IS 1N [0 7P e 209, 39.b

99 +5="?
qrr :

9-¢37 TR 18
9-ggTest 18

198
g Q: Ol 7 (P S 9FF IV e e e 209,

wdre 19.8

T O

12343443212+5=?

gl y: 24686886424 (RUIGT fed 7= 2e7)
g9 Q: 49 5-UF (FEICHF ©F (ATF S T9 217 7 P8 |
2468688642 .4

T, 20 (T !

Toed SR 50 e ot w9t == [ F91?

ST 8:
12343443212 +50=?
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24686886424 (kG faw BT 2e7)

Q CF(E T W (A0S 2 A 7 7T PICo 21 |
Ce:246868864.24

Toitam sRFBee 500 e ot F3ce 20+ [ F90a2
T @

12343443212 +500=?
24686886424 (et fawd Far 277)

9 (0@ T W (A0F © TR 27 7INF PIce 209 |
Te7:24686886.424

Toitzd 2o 5000 W ot Face =6 & Fae7?
R I IVE

12343443212 +5000=?
24686886424 (kG 4w BT 2e7)

9 @ TN S (ACF 8 T AT WF 0o 2 |
Ce:2468688.6424

Trick 96: 2 (ACF U MRAF 50 W e
AT ARS !

Can you multiply any number with 50 in just 6
seconds in your head?

ST S: 24%50=7

ITAI:

qrofy: 24 +2 =12

419 : 4T%f 5S-G (B ©IC LT Xy AT AS | TTA:
1200

[, = (COFT |

fog Tfw il fee =2 @ @ wUifbe 2 e o
AR 77 ey IE Bidca e =@ aa |
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T R: 25%50="

FAI:

g 3: 25 + 2 =12.50

qof Q: 4Tof H-9F @B NG B Wi | wwe: 1250
T, =[G (T |

THIG: (1 RGP 2 e o Fa1 1e “afo 21 AT
AT IEF FAE | @ 88+2 | T 4, 88-7 WEF
44

Dare to solve each of the following problems in
your head in just 6 seconds.

1.66x50 2.6x%50 3.88x50 4.345x50

5.67x50 6.56x50  7.63x50 8.634x50

9.663x50 10. 78x50
Trick 97: 219 QSR BT (S !

@ @I 2 ReF RYIE 101 ew et 3217 ~fe:
Tl 23%101=?

STAY: (T IR @6l FACI T TR AT 7=
[RRGEEICH

@e: 23%x101=2323

SR, BN @ © FLRCS I+ (O3

22x101=? 24x101=? 66x101=?
34x101=? 44x101=" 65x101=?
76x101=" 69x101=" 99x101=?
12x101=? 54x101=? 89x101="

Trick 98: O SR [Taaa g
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T 3: 6589734102+99999 ¢ w3 & of¥t Wiw 8
FTITT AT F0O ART? A 100% RI-TaIma Tex
TR A1 | 54, Ao T T |

IAAY:

6589734102+99999

Bex: 65898 | 5y T2 WY 8 @ETeFce Tex ¢+ =i | 547,
JMfB T I |

T @ e B T FAE:

3. 49 10 wea wAes 56 9 ey ot w4 =19 | °w A, 4
SEd RN 2- 9 e st 41 21, 6-9wF A 3-F
9 futa o F41 7q, 30 WA wAE 15-6 9 e o w4
2(q oy |

<, ST TR T AN PN FAC:

€7 10 SRCFF TAEE A 56 9 Wex ot F4¢3 | @ ¢F@ N
A (AT DR T 278 FTA0T IR AN NHF A 1 @
0 0T | T, = R |

65897 34102+99999
2/ ] N\

| v
6 5 8 9 7+1
_ \ /

N\ e
i
65898

TP Q: 99787650021234+9999999 ¢ wk3fh 5 o
& 6 GRS AN FACO ARCL?
Answer: 9978766

99787650021234+-99999
/L VNN
\V
o Wo N7 g8 |7 ||6 5+ fecom
AN \ / pd

 ~
NS & fC
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Exercises (a): Now it’s your turn. Can you mentally
solve each of the follwoing division problems in your
head in just 4 to 5 seconds? (Total Time: 1.5 minutes
for 15 problems)

a. 2178+99 b. 21777822+9999
c. 788211+999 d. 78792120+9999
e. 6534+99 f. 53614638+9999

0. 5467745322+99999 h. 234677765322+999999
1. 567298432701+999999

J. 35456454+9999 k. 7896421035+99999

l. 33344546665545+9999999

m. 2423423475765765+99999999

n. 12345678898765432110+9999999999

0. 53534536756884646546324311+9999999999999

Trick 99: Fifte/@R= WUy APFT (7 F9K &I !
S Afer2 e @, 9© Fo @ ite/@heE O™
@ (R A AW | SAERNGERR, @ (@R (SN
TEAICS (I SATE AP OF AR | (SRRl &% o7% g@-
QAIA (50T AR FF5 ST P/ TRAT @rewe
(FF FACS AR, SR ! OIECET I (AT 13
TI0: &fSfb AT AT T 20e = |

o »:
SR+0+8+@+Y+A+b+5+d0 = FO? @ KA VN Y
CTLICT FACS ARCI?

www.tesolradio.com ~ 186 ~ www.bdolympiad.com



www.tesolhangladesh.com www.eGirlsValley.com

ﬂ@:
et @I = (2T IRAYTHEHT TRAT) X CGSIF TR
Summation =
(First NumberxLast Number)xNumber of Pairs
S= (f+)xp
= (3430)X€ = ddX¢ = e
G IREr (MCAR?
L RIRE
+8+V+b+30+d+58+3U+3b+R0++8 = FO?
Q SRHG PN Y EIICC FACS ARCI?
S= (f+))xp
= ()XY = QUXY = H¢Y

The spiral shapes of sunflowers follow the Fibonacci
sequence, where adding the two preceding numbers
in the sequence gives you the next.

www.tesolradio.com ~ 187~ wwwhdolympiad.com



www.tesolhangladesh.com www.eGirisValley.com

o ©:
R0+80+Y0+b0+d00+d0+580+dV0+db0+V0+0+
80 = F©? Y TRIG B b ELFCT FACS HCI?
S= (f+)xp

= (0+380) XY = JVoXY = 3¢Yo

o 8:
RO0+8o+JVo+bro+900+90+980+9Vvo+9bo+800
+8%0+880 = F©? ¥ TRIH PN Y FIFCT FACS ARCA?
S= (f+)xp

= (Q0+880)XY = VYO XY = VHVO

o ¢:
REHBE+HAVC+HITC+HO0E+HORE+HO8C+HOVE+HObE+80¢
+83¢+88¢ = T9? Y IV P Y CTLHCT FACS 2IR(?
S= (f+)xp

= (RE+88C )XY = YqoXY = 800

Exercises on Series Summation

N 8 q Yo V] M) % W e R =

N ¢ ) MV b D e W U 0q =

R (4 b N o8 ) R0 RY QY W =

ee be e be s¢ do¢ NeC RNE o€ | 8¢ =

800 | 890 | 8% 0o | 8% | @0 | &ko ¢bo | Lo V8o | VMo =

b 50 1Y 58 oY k14 o0 o} | do8 peIl) =

300 | 3@0 | RO | @0 | Yoo | VEo | 8oo 8¢o ¢oo | @eo =

300 | 309 | 0V | dod | MR | N¢e Ny 3 8 x4 =

Q: Can you find the numbers A, B, C, and D so that the
following calculation is proved?

ABCDx4=DCBA
Ans: A=2,B=1,C=7,and D =8.
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Trick 100: =M Q€T @4 FAF AF ! !
9, 99, 999, 9999, 99999... M T & fefEn At Toitzm
@ TRATE ¢ AR &S
. o & 787x999 @ @t kI b THICS AN

FACS AACA?

SRR S: (87%x999

i

g >: 787-1
X
786
1 786 || 97 ’L9-8 9-6
786 2 13

Q7 3: @ RYIMBTE  FA0S 201 ©f (eF S Rt 9

g7t Q: 49 H-GF @EICDBR ©ICT & (P 4P+ dF [eariweE=
ofSfb = e 33|

T, T CFT |

Ol T ARCI:  REFXR ORF, © F X © T, 8 X8
RF, ¢ T X ¢ |F, Y W|F X Y W|F, 9 RF X q

Y G TN (A ARCE QNP (JF I T | (T
N X5, VEOXSSS, 8OBIXHEHHHY
I AUEBOIXODODODOD enrerrereererrnes 77 |

A e cof Y &= =e?
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Exercises (a): Now it’s your turn. Can you mentally
solve each of the follwoing multiplication problems in
your head in just 4 to 5 seconds?

(Total Time: 4 minutes for 40 problems)

10| x |99

101 x 999
102 x 999
103 x 999

11 x 99
12 x 99

13 x 99

104 x 999
14 x 99

105 x 999
15 x 99

106 x 999
16 x 99

107 x 999
17 x 99

108 x 999
18 x 99

109 x 999

19 x 99

110 x 999
20 x 99

111 x 999
21 x 99

112 x 999
65 x 99

998 x 999
66 x 99

999 x 999
67 x 99

1000 x 9999
1001 x 9999
1002 x 9999
1003 x 9999
1004 x 9999
1005 x 9999

68 x 99
69 x 99
70 x 99
71 x 99
72 x 99
74 x 99
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Exercises (b): Dare to solve each of the
following problems without calculator in just

8 seconds:
1. 22x99 2. 57%99 3.98%99

4. 96x99 5. 123%999 6. 978x999
7. 345456x999999 8. 987979756x999999999
9. 98678685757588954x99999999999999999

10. 876x99 11. 3445%9999

12. 999999999999999999x999999999999999999
13. 888888888888888888x999999999999999999
14. 989898989898989898x999999999999999999
15. 222222222222222222%x999999999999999999
16. 999999999999988888x999999999999999999
17.797979797979797979%x999999999999999999
18. 893957394576049987x999999999999999999
19. 927292398909008789%x999999999999999999
20. 988676655444335667%999999999999999999

Z

MNOFO:
TS JC @ (P FFFICOCAS T A 1 | 58
A1 Y TSR FEE e of 398 Fare
e | Cool, ha!
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101. AWOW SQUARING TRICK!

What is the squared value of the number 1087
(108)?2

Let’s think only of the excess "8", saying how much
is 108 more than the Base of 100. It is "8". So we

will just add this "8" to the number in question
"108" and tag on the squaring of this excess:

108 Squared = 108 + 8/ 8x8
= 116 /64 = 11,664
Its very simple!

Exercise:

(101)2 = (102)2 =
(103)2 = (104)2 =
(105)2 = (106)2 =
(107)2 = (109)2 =

102. By the excess the Multiplication of
Numbers over a Base

(108 x 109) can be computed in one second by
understanding this Pattern:

Let’s add the excess of "8" to the other number 109"
and then tag on the multiplication of those two
excesses: "8" and "9".

108 x109=109+8/8x9

= 117/72

= 11,772
Exercise:
101 x 102 = 102 x 103 =
103 x 104 = 104 x 105 =
105 x 106 = 107 x 108 =
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103. R0 PR FRifeR A& !

Squaring a TWO Digit Numbers (81 to 99)
7R 3 R T (@I U R (rd-55)
Q % (oM 100 @ A0S *(A | 9 Amhors oy 81
@CF 99- ¢T @ (P AT T @&ls & Yo TR
QO (JF PACO A | GRICT (A0S = @0 7RG 100
(AT F© Y |

et (AT F4:
N
F.98%2="? ¥, 98x96 = ?
SATYI:
02 -2

. 982=98 x 98

=08-2 2x2

=96 04

= 9604
% 96 1T

3. ob A doo (AWF LA, ©% 98 @I TAW 2,
(TR 297 |

¥, G919 98 (ACF 2 IW (M == |

A AT 2 8 2 o A | @ @t T 10 @7 I A
(B =y I Sy SRBG 7ee =6 1 10 a1 10 (e &
QTS (T ¥ PACS Z 7 |

T ! = (O |

There are 12 kids in a classroom. 6 Kids are wearing socks and 4 are
wearing shoes. 3 kids are wearing both. How many are bare feet?
Ans: As we know, 3 kids are wearing both. So, only 3 kids are wearing only socks (6 - 3 =

3), and 1 is wearing only shoes (4 - 3 =1). So, in total, 3 + 3 + 1 = 7. Now, 12 kids are there,
s0, 12 - 7 = 5. That means 5 kids are bare feet.
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-02 04

q. 98 x 96
=08-4 02x04
=94 08
=9408

= 6 oT?

3. 98 4G 100 (At 02 99, 6% 98 ¥ T=itx 02, 4k
96 =G 100 (A 04 T 6% U TAR 04 =147 =7 |

. G799 98 (AeF 02 IW (=10 = |

7. @37 02 ¢ 04 o9 31 297 | @ &t T 10 @7 7 TF
G0 *F] I S SkF(H 77408 =63 | 10 A1 10 (A @
QI (AT *[A) AT RCI AT | 53T ! =0 8T |

Dare to solve each of the following in your
head in 5 seconds:

a. 91? i. 992

b. 922 i, 94x93
C. 93? K. 95x94
d. 942 . 96x92
e. 952 m. 97x98
f. 96 n. 98x99
g 972 0. 99x91
h. 98

W NI T2 - 0 @ A" © KT 8 8 SR
TRYICE I FAT LR T | o o1 =0J e !
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104. (FITIT aARw “ineaw @y & s

TR Aafo!! [ Just Fun! ] (sfey <=ifr, Seirgr=ert)

& (T PN W @ { SR Y[ I FAOCS ARE @
FITRCEBT ROIR AW Y0 GILRCS | RYRT =007 2 OIREET (A2
(9} = F? WY F(E.... 2. dol8 | FSIT I7T? 47 2!
qo1-3¢ S AT oA [}] 3 7

-2 GFF '8 TP G ORF 0 ¢ I, (FEI-HCP BT 9 |
(TS I )

qI71-03 T FAIT SRPOF o 7 R I F1 IR @1 39|

[, O (AT | a b
P
L Q
3(9xR) /
+) (32) &
A
\—
3538
Formula: a2 2.a.b b2<—

32 232 92 THETH
9 1 4 =1024

{@—/’%

Q: What is the value of 1/2 of 2/3 of 3/4 of 4/5 of 5/6
of 6/7 of 7/8 of 8/9 of 9/10 of 1,000?

Ans: 100
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103. Writing very big numbers just by

listening...
Can you write “Ten thousand trillions, 122 billions, 200
millions, 5 thousand, 9 hundred and fity” just by
listening?

To learn how to write very big numbers like millions,
billions, trillions etc., you need to know:

1000,000,000,000 =1 trillion (12 zeros)
1000,000,000 = 1 billion (9 zeros)
1000,000 = 1 million (6 zeros)
1000 = 1 thousand (3 zeros)

S0, Ten thousand trillions will be:

10000, 000,000,000,000
122 billions will be:

122, 000,000,000
200 millions will be:

200,000,000
5 thousand, 9 hundred and fity

5,950

S0, “Ten thousand trillions, 122 billions, 200 millions, 5
thousand, 9 hundred and fity” will be:

10000, 122, 200, 005, 950

Write in number:

“100 thousand trillions, 999 bhillions, 888
millions, 125 thousand, 5 hundred and
ninety”
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106. Is 0.999... really equal to 1?

The meaning of 0.999... is a tricky concept, and
depends on what we allow a number to be.

For most mathematicians, 0.999... represents a
series of numbers: 0.9, 0.99, 0.999, 0.9999, and
soon

09999993598

A common assumption is that numbers cannot be
“infinitely close” together — they’re either the
same, or they’re not.

=

If we assume infinitely small nhumbers don’t exist,
we can show 0.999... =1.

For non-math persons, you will probably disagree
with the equality, but there are many elementary
proofs that could show it.

Proof 1:

1

—=0.111 ...
|

Multiplying both sides by 9 we have

1=0.999...

Proof 2:
1/3=0.333
2[3=0.666
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L + 2 0.333 ... + 0. 665
3 3= 0 .

3
3= 0.999 ...

But§ =1 , therefore, 1 = 0.999

107. Interesting Property of the Fibonacci
sequence

In the Fibonacci sequence, if you take any
three consecutive numbers, add them, and
divide the sum by 2, you always get the third
number.

Let’s take a Fibonacci sequence 1, 2, 3, 5, 8,
13, 21, 34, 55, 89, 144, 233, 377 ....

1+2+3=6 and 6/2=3

5+8+13=26 and 26/2=13
8+13+21=42 and 42/2=21
21+34+55=110 and 110/2=55
89+144+233=466 and 466/2=233
377+610+987=1974 and 1974/2=987

...and it goes on to infinity.

Puzzles:

A puzzle is a game, problem, or toy that tests a person's ingenuity
or knowledge. In a puzzle, the solver is expected to put pieces
together in a logical way, in order to arrive at the correct or fun
solution of the puzzle.
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108. Sum of squares of 2 consecutive
numbers

Finding the sum of 2 consecutive numbers’
square sometimes get hard and time
consuming. Here is a simple trick to do it
easily:

Step-1: Multiply the numbers to be squared
and divide by 5 (15t number x 2" number +5).
Write the result down.

Step-2: If the result is a round number
append 1 after that. If the result is a fraction
one, ignore the decimal and add 1 to the last
number.

242 + 252 =?

Step-1: (24 x 25) -+ 5=24x5=120
Step-2: 120 is a round number; so, append
1 after that to get 1201.

The answer is 1201.
312 + 322 =?

Step-1: (31 x32)+5=6.2x32=198.4
Step-2: 198.4 is a fraction; so ignore the
decimal and add 1 to the last digit 4 to get
1985. So, the answer is 1985.

752 + 762 =?

Step-1: (75x76) + 5 = 15 x 76 = 1140
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Step-2: 1140 is a round number; so, append 1
after that

The answer is 11401.
112 4+ 122 =?

Step-1: (11 x12) +5=11x2.4=26.4
Step-2: 26.4 is a fraction; so, ignore the
decimal and add 1 to the last digit 4 to get
265.

The answer is 265.

Among all shapes with the same area, the
circle will always have the smallest perimeter.

O
HALO X
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109. Crazy Times Table Tricks by
Muriam Akter Suraiya (my student).

¢ 99 Times Table:

Step—1: Multiply 1’s digit of 99 with 5 and spread the
digits (45) so that you can put another digit in between.
Step—2: Put 9 in between 4 and 5, i.e., 495.

¢+ 89 Times Table:

Step—1: Multiply 1’s digit i.e. 9 of 89 with 5 and
spread the digits (45) so that you can put another digit
in between.

Step—2: Subtract 5 from 9 and put the result (4) in
between.
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MATH GENIUS COMPETITION

Name:
iCenter Branch:
Mobile Number:

Father’s Name:
School/College:
Marks: 30 Time: 12 Minutes
SCORE............... Merit Position:..................

[N.B. Write the answers on the right side of each uestion.
You cannot use any calculating device.

1) 10000000000 — 8997122879 =

2) (95 =
3) (65)* — 4200 =
4 (72)* =

5) 10,000 — (65)* =
6) Double of 1235656747 s =

Write the next number in each of the following
numerical patterns (7 to 11):

7) 8, 27,125, ?

8) 4,18, 50, 98, ?

9)  3,8,24,48,7

10) 5,10, 26, 50, ?

11) 2,6, 20,42,7?

12)  3+5+8+13+21+34+55+89+144+233 =?
13) (985)%=

14)  (99980)° =
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15)
16)
17)
18)
19)

20)
21)
22)

23)
24)
25)
26)
27)
28)
29)

(999995)° =

2345678901239 X 9999999999999 =
32266773 + 9999 =

(10)" — (107 x 10% + 10) + (85)* =
18+27+92+82+73+8+100 =

5566 3344 =
9999 x 9999 =
50% of 50% of 60 is =

300% of 3is =

(200% of 2) + 120% of 1 =
0.1+0.01+0.001+0.0001 =
100x%200x300%400x 107 x 10% x 10* =
(100 + 200)* =

987654321:x999999999 =
72#S VR &R @If, foq =

Draw 12 angles by using 3 straight lines:

WWWW e

e ST I WS |
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MATH GENIUS COMPETITION

Name:

iCenter Branch:
Mobile Number:
Father’s Name:
School/College:

Marks: 30 Time: 6 Minutes

1) (1,000,000,000 )? - 1,000,000,000 - 1,000,000,000 =

2) (95)% - {(85)*+ (5)* + (5)°} =

3) Double the number: 99999999 =

4) Which one is bigger: (0.05)x2 , (0.007) x2 =

5) What is 50% of 50% of 50% of 50% of 1000 =

6) Which number is divisible by 4, 5 and 10: 999, 990, 2500?
7) Write the next number of the numerical pattern:

100, 98, 94, 88, 80, 70, ........

8) What is the half of 50% of one-fourth of 204?

9) % 7fS R @I 8 REAPIEER @i {8 IR R Fiog @I 8
REreER R sv & R GH F 2 ... ) e

10) 11 +22 +33+55+ 88 + 143 + 231 + 374 + 605 + 979 =
11) 1234567890000999 x 9999999999999999 =

12) 1800+200+920+80+730+70+1000 =

13) 509 of 509 of 6,00,000 is =

14) 4009 of 400 is =

15) 1,000,000,000,000 — 123456789987 =
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MATH GENIUS COMPETITION

Name:
iCenter Branch:
Mobile Number:

Father’s Name:
School/College:
Marks: 30 Time: 10 Minutes
SCORE.:....ccoovvvens Merit Position:..................

Instructions: Solve each of the following mathematical
problems. You are NOT allowed to use any calculating
device.

1. If two numbers, say a and b, are added, the result is x and if
the same two numbers are subtracted, the result is y. If the value
of x+y is 8, and x-y is 4, what are the values of a and b?

Ans.

2. Is 382886 divisible by 7?°
Ans,

3. 100000-63480 = ?

Ans.

4, (125)? x (125)>=?

Ans,

5. Solve: (0.00001x 0.00000001 x0.01) x
1000000000000000 = ?

Ans.

6. 33445566%99999999 = ?
Ans,

7. 244362646 -+~ 5000000 = ?
Ans.

8. 12000011 +5="7

Ans,

9, 12000011 x5 =

?Ans,
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10. 412000000000 x 500 =?

Ans.

11. 4160000001111 x 10000000 = ?
Ans.

12. 1+9

=Ans.

13. 9999993 x 9999997 =

Ans,

14, Double the number: 99999999

Ans,

15. (991)% + (991)% =

16. {(99100)? x (99100)? } = {(99100)? x (99100)? }
17. (100) 2x(100) 2x(100) 2x(100) 2 =

18. Which one is bigger: (0.05)?, (0.007)? ?

Ans,

19. 22343443212+5=7

Ans,

20. (99999)% x 0 x 1000 x (0.98589) x 0 x 8908340298
=? Ans.

21. What is 50% of 50%0 of 50% of 50%0 of 10007?

Ans,

22. 504+60+70+.....o oo +120 =?
Ans,

23. 99 x99 x 100 =?

Ans.

24, Which number is divisible by 2, 5 and 10: 999, 990,
25007

Ans.

25. Which one is bigger: (0.00001)* or 1?

Ans.
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MATH GENIUS COMPETITION

Name:
iCenter Branch:
Mobile Number:

Father’s Name:
School/College:
Marks: 30 Time: 10 Minutes
SCORE................ Merit Position:..................

Instructions: Solve each of the following
mathematical problems. You are NOT allowed to
use any calculating device.

1. If two numbers, say a and b, are added, the result is x and if
the same two numbers are subtracted, the result is y. If the value
of x+y is 8, and x-y is 4, what are the values of a + b?

Ans.

2. 15382889 divisible by 9?°

Ans.

3. 100000-63480.20 = ?

Ans.

4. (125)2 x (125)2 - (125)2 =2
Ans.

5. Solve: (0.00001x% 0.00000001 x0.01) x
1000000000000000x1000 = ?
Ans.

6. 334455667x999999999 = ?

Ans.

7. 244362646 + 5000000 =7
Ans.

8. 12000011 +50="7

AnNs.

www.tesolradio.com ~ 207~ www.hdolympiad.com



www.tesolhangladesh.com www.eGirisValley.com

9. 12000011 x50="7?

Ans.

10. 412000000000 x 5000 =?

Ans.

11. 4160000001111 x 10000000 = ?

Ans.

12. 1+9=

Ans.

13. 9999993 x 9999997 =

Ans.

14. Double the number: 888889999

Ans.

15. (991)2 + (991)2 =

16. {(99100)3 x (99100)2 } + {(99100)2 x (99100)3 } =?
17. (100) 2x(100) 2x(100) 2x(100) =?

18. Which one is bigger: (0.05)2 , (0.007)2 ?
Ans.

19. 22343443212+50=?

Ans.

20. (99999)2 x 0 x 1000 x (0.98589)2 x 0 x 8908340298 =?
Ans.

21. What is 50% of 50% of 50% of 50% of 50007
Ans.

22. 504+60+70+.....cccoiiiiiiee s +130 =?
Ans.

23. [(99 x99) + {(100-1)x (100-1)}] x99="?
Ans.

24. Which number is divisible by 2, 5 and 10: 999, 990, 25007
Ans.

25. Tasnim, Sumi and Hafsa wish to share out a certain sum of
money between them. Tasnim gets two-fifths, Sumi gets 0.45
and Hafsa gets 21.00. How much is the original sum of money?

"Pure mathematics is, in its
way, the poetry of logical
ideas."

--Einstein
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1. 100000-45789 =
2. 568594- 456726 =
3.  135264-12346 =
4.  (T1)2=

5. (44)2=

6.  (255)2=

7. (25)2=

8.  (23)2=

9.  (925)2=

10.  (94)2=

11.  (35)2=

12.  24x23 =

13.  894x504 =

14.  893+102=

15.  460240%7703 =
16. 11+22+31+52+83=
17.  9568-8390 =

18.  1000001-36264 =

19.  981324-47712=

20. (54)2x (12)2=

21. 522x525=

22. 3050+ 5000 =

23. 1385+15=

24.  2910+100 =

25. 484845+ 20 =

26. 356x43=
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27. 9+7+8+3+5=

28. 332%158 =

29. 68+ 31 =

30. 10979% 99890 =

31.  (99951)2=

32. (93)2=

33. (953)2=

©8. 27 faed 7 : 81245

oe. @ 9 3 35+801+95+61+71=
36. 36+48+767+951+1220=
37. 10001% 6189 =

38. 8881234x9999999 =
39. 503478 + 671220 =

80. Rt 323 7312683- 31205
41. 459299

-39008

42.  (516)2=

43.  (737)2=

44, 100 + 100001 =

45. 100010100- 3100100 =
46. 800000+ 5000 =

47. 888888+ 2 =

48. 85321 + 5319 =

49. 8907-7701 =

50. (501)2=

Since the mathematicians have invaded
the theory of relativity, | do not

understand it myself anymore.
— Albert Einstein
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10000010-73299=
10000100-102010=
898989-98989=
(56)2 =

(75)2 =

(9009)2 =

(493)2 =

(98)2 =

9.  (422)2=

10.  3003x1001=

11.  100x10001=

12.  32x42x36 =

13.  142+3+907 =

14.  (3210+56)-789=
15.  76+83 =

16. (108)2=

17.  3303+3308 =

18.  99999x55555=

19.  983221+10=

20.  323+100=

21.  900000%10000=
22. 11111 + 897245 =
23.  3+5+25+500+4137 =
24. (22)3=

25. 12775+100 =

26. 33333:+5=
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27.  (88+57)+(87-50)=
28. 99+10=

29.  10011+100=

30.  11111+10=

31.  83210x83293=

32. 83289x273=

33.  610000071-81=

34.  3111910+1000007=
35. 20+323=

36. 99999x2=

37.  100000+512=

38. 502+10=

39.  60010+10000=

40. 50001010+5=

41. 1898-631=

42.  416x500=

43. 8318380-83450=
44. 25252525+25=

45. 82x88=
46. (987)2=
47.  (51)2=
48. (6323)2=
49. 954x913=

50. 100% of 200% of 300% of 100% of 1000 =

There exists a passion for comprehension, just as
there exists a passion for music. That passion is rather
common in children but gets lost in most people later
on. Without this passion, there would be neither
mathematics nor natural science.

— Albert Einstein
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1010101010-10001=
100000000-99=
333333333-222222201=
71727374-473727=

(55)2=

(5855)2=

(99955)2=

(44)3=

9.  (99999)2=

10.  (61)2=

11.  (325)=

12.  (397)=

13.  7971+7273=

14.  4335+8321=

15.  41+42+43+44+45+46+47=

16.  25+27+29+31+31+7007=

17.  11+101+1001+10001+100001=
18.  10+20+30+40+50+60=

19.  36+48+50+66=

NSO A BN

20. 832+10=

21. T77%x73

22. 40000040+5=
23. 470+100=

24. 666666+1111=
25. 233343x555670=
26. 62+91=

www.tesolradio.com ~ 213 ~ www.bdolympiad.com



www.tesolhangladesh.com www.eGirisValley.com

27. 836781152-3839900=
28. 246757-153571=

29. 932105-93=

30. 383+10000=

31. 121212+12001=

32. 631+35=
33.  (3535)2=
34. (97)2=
35.  (1000)2=
36. (880)2=
37.  (97)=
38.  (404)=
39.  (8420)2=
40. (32)3=

41. 8321+3985=

42.  99999999x84567985=
43.  (83)2=

44.  (60)2=

45.  (8356+100)=

46.  226x500=

47.  3853x125=

48.  8484+22=
49.  5000+6000=
50. 132x12=

One reason why mathematics enjoys special
esteem, above all other sciences, is that its laws
are absolutely certain and indisputable, while
those of other sciences are to some extent
debatable and in constant danger of being

overthrown by newly discovered facts.
— Albert Einstein
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100000000-10101=
100101010-120=
88809999-222220=
361320-8312=
(36)2 =

(3000)2 =

(988)2 =

(85)2=

9.  (84)2+(33)2=

10.  50+51+33+35+37=
11. 3453+10000=

12. 98x96=

13.  12211x13=

14. 1250+367=

15.  (40x80)+51=

16.  (300+100)+503=
17.  (1000+30)-30=

18.  3331+90=

19.  (0+10)x5=

20.  (30-20)x30=

21.  (8840-100)x 90=
22.  6834+500=

23. 700070+10

24.  (550)2=

25.  (37710)2=

26.  (100+5)+35=

N AON S
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27.  2457+320=
28.  4444+8888=

29. (7334)2=

30.  500+600+700+300=
31.  (38994050%x99999999)=

32. 79+81=
33.  10+11+111+1001=
34. (T73)p2=

35. 673x111=

36.  46+31=

37. 48771-1134=

38.  81080+10=

39.  15+25+40+50+60=

40.  (200x200)+300=

41.  (100-100)x909=

42.  33+10+70=

43.  1+10+100+1001+999=
44.  25+50+25+75+25+90=
45. 666+777=

46. (666+389)-777=

47. (88)2=

48. (68312)2=

49. (64841)2=

50. 33x99=

The physicists say that | am a mathematician, and
the mathematicians say that | am a physicist. I am
a completely isolated man and though everybody
knows me, there are very few people who really

know me.
— Albert Einstein
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1. 100000-25981=
2. 100000-81025=
3. 100000-58928=
4.  100000-77878=
5.  (55)2=

6.  (26)2=

7.  (885)2=

8.  (4585)2=

9.  (105)2=

10.  (156)2=

11.  (154)2=

12.  (1805)2=

13.  97x98=

14.  88+82=

15.  29+24=

16.  825520x999999=
17.  55+18=

18.  182+78=

19. 18+18+18+18+18=
20.  22+18+22+12+24=

21. 27859
-18590

22. 138705
-87287

23. 28028
-11220

www.tesolradio.com ~ 217~ www.hdolympiad.com



www.tesolhangladesh.com www.eGirisValley.com

24. 97025
-19702
25.  2490x1028=
26.  680+100=
27.  9001x240=
28.  320+50=
29.  4310+500=
30.  1000+5=
31.  350x111=
32.  2040400-120001=
(33-38)

1 +13 | 17 | +44 | +80 | +24 | +38 | +42 | +89 | =

+18 | +27 | +51 | +20 | +50 | +32 | +48 | +40 | =

+11 | +23 | +69 | +43 | +15 | +565 | +45 | +60 | =

+20 | +31 | +37 | +70 | +75 | +25 | +70 | +50 | =

Al ©| Wl N

+24 | +43 | +80 | +78 | +28 | +65 | +30 | +10 | =

11 | +16 | +28 | +51 | +90 | +40 | +80 | +90 | +35 | =

39. 23+18+17+82+15=
40. 37x42=
41.6+10=
42.9998x9999=
43. (99964)2 =
44. (93)2 =

45. (76)2 =

46. (182)2 =
47.123456+500=
48. 48+8=
49.1875+1227=
50. 91287-2020=
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Human Calculator Round

11x 13

Minus 43

Times 10

Divided by 500
Times (100)?
Divided by 20,000
PlUs 99 RESULT?
Plus (23)?

Minus 29

10 Divided by 300
11.Plus (10,000 — 8999)
12.Plus 1000

Set:1

CoNoOk~wNE

200,000

Minus 445
Minus 99,555
Divided by 50,000
Times (10)?
Times 100 p)
Divided by 20,000 RESULT"
Plus 199

Plus (35)?

10 Minus 25

11. Divided by 700
12. Minus 2

13.Plus (96 x 95)

14. Minus 9000

Set:2

CoNok~LNRE
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1. (102)2

Minus 10,000
Minus 304
Divided by 100
Times (100)?
Times 4
Divided by 40,000
Times 112x 11
9. Minus 1200
10.Divided by 8
11.Times 25

12. Minus (10)?
13.Plus (99 x 98)
14. Minus 9000

NIk W

RESULT?

(22)°

Minus 648

Minus (95)?

Plus 25

200% of your result
Times 5

Divided by (100)?
Times (99 x 9)
Minus 91

10. Plus 200

11. 300% of your result
12. Plus 97000

13. Divided by 50,000
14. 900% of your result
15. Divided by 0.5

16. 200% of your result

W Yo~ WNE

RESULT?
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One-go Round:

1.
2
3
4
5.
6
7
8

9.

10.

11.

12.
13.
14.
15.

16.
17.
18.
19.
20.
21.

(109)?
500% of 5
97,875 by 99,999
(99,999)2- (99,998)>
3+7+10+17+27+44+71+115+186+301="?
(95)2 + 975-10000 + (31)?
(4500)>
90,805 x 99,999
(109)2- 11881 x 99,580 + (100)
(95)2 + 975-10000 + (22)?
200% of 300% of 400% of 100% of 1000
(999)2- (998)>
(105)?
201231123x 11
(10,000 — 8999)
(96 x 95)
(9996 x 9995)
(102)>
(15001)2- (15000)>
(1500)2- (1499)?
(150)2- (149)?
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22. 100000000000
- 90125

23. Centillion=7?

24. Googleplex

25. (4500)2

26. (850)°

27. (9500)

28. (64)2

29. (32)2

30. (42)?

31. (74)2

32. (87)?

33. (73)?

34. (109)2

35. (108)2

36. (105)?

37. (107)?

38. (104)2

39. 6+5

40. 6+50

41. 6120 + 5000

42. 12000012001 + 50
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43.
44.
45.
46.
47.
48.
49.
50.
51.
52.
53.
54.
55.
56.
57.
58.
59.
60.
61.
62.
63.
64.

3232014231 + 500
1234221200+ 50000
12123241 + 5000000
123032547%x999999999
410%x999

2362%x9999
23620215%99999999
1425367841 x11
123456789 %11
(9,99,99,987)2

23x 35

78x74

45x65

89x23

56x43

(999)2

(123)2

(224)2

If X=99,50,000, then X times X is
(92)

(9,99,992)2- (9,99,991)?
If x=314323 and y=50000
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then x +y =?

65
66

67.
68.
69.
70.
M.
72.
73.
74.
75.
76.
77.
78.
79.
80.
81.
82.
83.
84.
85.

. (11)3
. (12)3

(13)°

(14)°

(22)°

(23)°

(55)°

(21)°

(41)°
900% of 9
1000% of 9
25% of 4

120% of 4
100% of 100
(410)2 - (400)?
(1041)? - (1039)2
100% of 200% of 300% of 3
89 x5

79 x 6

99 x 3

89 x7
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86. (85)% -225

87. (985)% -225

88. 0.5x0.5x0.5

89. 1000 x 0.5

90. 1000 =0.5

91. 3,5,8,13,21,?

92. 25,24,22,19,15, ?

93. 1,2,4,6,10,7?

94. 3,6,8,12,14,?

95. 4,8,12,18,24,?

96. 4,9,25,49,?

97. 1,4,9,16,?

98. 1,8,27,64,?

99. 0,4,18,48,?

100. Which one is odd: 2,3,4,5,7
101.1fFA =100, E =500, Y=?
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Math Poem
ONE god created the world
TWO eyes to read the word

THREE daughters for king Lear
FOUR seasons in a year

FIVE fingers in the hand
SIX musicians made a band

SEVEN days in one week
EIGHT boys played hide and seek

NINE planets around the sun
TEN hundred kilos equal a ton

MATH FUN

1. Why should you never talk to Pi?
Because she’ll go on and on and on forever.

2. Why do teenagers travel in groups of 3 or 5?
Because they can’t even.

3. Why should you worry about the math teacher holding
graph paper?
She’s definitely plotting something.

4. What did the zero say to the eight?
Nice belt!

5. What do you call a number that just can’t keep still.
A roamin’ numeral.
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6. Why is it sad that parallel lines have so much in
common?

Because they’ll never meet.

7. Are monsters good at math?
Not unless you Count Dracula.

8. Why are obtuse angles so depressed?
Because they’re never right.

9. What'’s the best way to woo a math teacher?
Use acute angle.

10. Did you hear about the mathematician who is afraid of
negative numbers?

He'll stop at nothing to avoid them.

11. How come old math teachers never die?
They tend to just lose some of their functions.

12. My girlfriend is the square root of -100.
She’s a perfect 10, but purely imaginary.

13. How do you stay warm in any room?
Just huddle in the corner, where it’s always 90 degrees.

14. Did you hear the one about the statistician?
Probably.

15. What’s the best way to serve pi?
A la mode. Anything else is mean.

16. A farmer counted 297 cows in the field.
But when he rounded them up, he had 300.
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17. Did you hear about the statistician who drowned
crossing the river?

It was three feet deep on average.

18. Why don’t calculus major throw house parties?
Because they know firsthand that it's a bad idea to drive and
derive.

19. Why did the chicken cross the Mobius Strip?
To get to the same side.

20. Why do math teachers love parks so much?
Because of all the natural logs.

21. How do you do math in your head?
Just use imaginary numbers.

22. Why was the math lecture so long?
The professor kept going off on a tangent.

23. How many mathematicians does it take to change a light
bulb?

One—she just gives it to three physicists, thus reducing it to a
problem that’s already been solved.

24. Why do plants hate math?
Because it gives them square roots.

25. Why are math books so darn depressing?
They’re literally filled with problems.

26. Why does algebra make you a better dancer?
Because you can use algo-rhythm.

27. What kind of snake does your math teacher probably
own?

A pi-thon.
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28. What'’s the best place to do math homework?
On a multiplication table.

29. How do you get from point A to point B?
Just take an x-y plane or a rhom’bus.

30. How do you make seven an even number?
Just remove the “s.”

31. Where do mathematicians like to party?
In bar graphs.

32. Why shouldn’t you let advanced math intimidate you?
It’s really as easy as pi!

33. What happens when you hire an odd-job guy to do 8
jobs?
They only do 1, 3,5and 7.

34. Why should you never mention the number 2887
Because it’s two gross.

35. What do you call dudes who love math?
Algebros.

36. Who is the father math?
Imaginary Problem Maker.

37. Why is six afraid of seven?
Because seven eight nine!

38. Why did seven eat nine?
Because you're supposed to eat 3 squared meals a day!

39. Why didn’t the Romans find algebra very challenging?
Because they always knew X was 10.

www.tesolradio.com ~ 229 ~ www.hdolympiad.com



www.tesolhangladesh.com www.eGirisValley.com

40. Why do they never serve Pepsi at a math party?
Because you can’t drink and derive...

41. Why couldn’t the angle get a loan?
His parents wouldn’t Cosine.

42. Why was the math book sad?
Because it had so many problems.

43. Why did the obtuse angle go to the beach?
Because it was over 90 degrees.

44. Why do plants hate math?
Because it gives them square roots.

45. What do you call an angle that is adorable?
Acute angle.

46. Why does nobody talk to circles?
Because there is no point!

47. Why didn’t Sinthia drink a glass of water with 8 pieces of
icein it?
It was too cubed.

48. What does the little mermaid wear?
An algae-bra.

49. Why didn’t sin and tan go to the party?

Just cos.

50. Why should you never argue with decimals?
Decimals always have a point.

51. What do you call a number that can’t keep still?
A roamin’ numeral.
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52. Dear Algebra, Please stop asking us to find your X.
She’s never coming back—don’t ask Y.

53. What did the student say when the witch doctor removed
his curse?

Hexagon.

54. Who invented the Round Table?
Sir Cumference.

55. Why did the two 4’s skip lunch?
They already 8!

56. Why did the student get upset when his teacher called
him average?
It was a ‘“mean’ thing to say!

Math Quiz— Set: 1

. What is the next prime number after 7?

. The perimeter of a circle is also known as what?
.65-43="?

. True or false? A convex shape curves outwards.

. What does the square root of 144 equal?

. True or false? Pi can be correctly written as a fraction.
. What comes after a million, billion and trillion?

. 52 divided by 4 equals what?

. What is the bigger number, a googol or a billion?

© 00 N o O B~ W DN P

10. True or false? Opposite angles of a parallelogram are equal.
11.87 +56 ="

12. How many sides does a nonagon have?

13. True or false? -2 is an integer.
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14. What is the next number in the Fibonacci sequence:
0,1,1,23,5,8,13,21, 34,7

15.7x9="?

16. True or false? In an isosceles triangle all sides are unequal.

17. In statistics, the middle value of an ordered set of values is
called what?
18. What does 3 squared equal?

19. True or false? -4 is a natural number.
20. 5 to the power of 0 equals what?

Answers:

1.11 2. The circumference 3.22 4.True 5.12

6. False 7. A quadrillion 8.13 9. A Googol

10. True 11.143 12.9 13.True

14.55  15.63 16. False (2 sides are equal)
17. The median 18.9 19. False

20.1

Math Riddles

1. Add the number to the number itself and then multiply by
4. Again divide the number by 8 and you will get the same
number once more. Which is that number?

Answer: Any number

2. At the time of shipping, Tom can place 10 small boxes or 8
large boxes into a carton. A total of 96 boxes were sent in one
shipment. The number of small boxes was less than large
boxes. What is the total number of cartons he shipped?
Answer: 11 cartons

4 small boxes (4*10 = 40 boxes)

7 large boxes (7*8 = 56 boxes)

S0 96 boxes and 11 total cartons
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3. X is an odd number. Take an alphabet away from X and it
becomes even. Which is that number?
Answer: Seven (Seven-S=Even)

4.You are given 3 positive numbers. You can add these
numbers and multiply them together. The result you get will
be the same. Which are the numbers?

Answer: 1,2 and 3

5. | have a barrel of wine and your job is to measure out one
gallon from it. I can give you a five-gallon container and
three-gallon container? How can you help me?

Answer: First of all fill up the 3 gallon container with wine.
After that you have to transfer the same to the 5 gallon
container. Then fill up the 3 gallon container again and
transfer the wine to the 5 gallon container until it is full. The
left over in the 3-gallon container is 1 gallon of wine.

6. Tom was asked to paint the number plates on 100
apartments which means he will have to paint numbers 1
through 100. Can you figure out the number of times he will
have to paint the number 8?

Answer: 20 times. (8, 18, 28, 38, 48, 58, 68, 78, 80, 81, 82,
83, 84, 85, 86, 87, 88, 89, 98)

7. What is the maximum possible number of times you can
subtract number 5 from number 25?

Answer: Only once. This is because when you subtract 5
from 25 for the first time, it becomes number 20, then 15 and
SO on.

8. William has a toaster with 2 slots. So he can toast one side
each of 2 breads simultaneously which takes 1 minute. He
wanted to make 3 pieces of toast for his breakfast. What is the
minimum time required to do so?
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Answer: 3 minutes! First of all, he can put two pieces of
bread in the toaster. After 1 minute, one side each of the 2
breads get toasted. He can then flip a side of bread and take
the other one out. And he can place the 3™ piece of bread into
the free space of the toaster. After the second minute, he can
take the completely toasted bread out and flip the other one.
Then place the half toasted bread into the free space to toast
the fresh side. After 3 minutes, all 3 pieces of breads gets
toasted.

9. I am a three digit number. My second digit is 4 times bigger
than the third digit. My first digit is 3 less than my second
digit. Who am 1?

Answer: 141

10. You are given a telephone and asked to multiply all the
numbers on the device’s number pad. What will be the
answer?

Answer: zero (The number pad contains number 0. When you
multiply any number by zero, the answer will be zero)

11. Raj has 2 books. One of the books is faced upside-down
and the second book is rotated which makes the top of the
book facing Raj. Then what will be the total sum of the 1st
pages in each of these books?

Answer: 2. Regardless of how the books are oriented, the first
page of every book is page number 1. So 1 + 1 = 2!

12. | have a pound of feathers and a pound of iron? Can you
please tell me which one weighs more?

Answer: Both of them would be of same weight. A pound
remains a pound despite the type of object.

13. Mary bought a round cake for her kid’s birthday and saw

6 unexpected guests at house. So she has to cut the cake into 8
pieces. As her kid was 3 years old, they insisted on making 3
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cuts on the cake during the celebration. How can she make
this possible?

Answer: Consider a middle point of the cake in its vertical
position. Make a cut horizontally till it makes a round to reach
the same point again. This makes the cake into exactly half
(two round cakes as if placed in a stack). Second cut has to be
made in a vertical fashion that passes through the two round
cakes. This makes it 4 pieces of cakes. Now make a horizontal
cut in the similar fashion that cut these 4 pieces into half again
which makes it a total of 8 pieces.

14. A mobile phone and its case cost Rs. 110 in total. The
price of the mobile phone is Rs.100 more than its case. What
is the price of the mobile phone?

Answer: Rs.105 (not Rs.110)

15. 100 coins fell down and got scattered inside a dark place.
90 of the coins fell with heads facing up and the rest 10 coins
fell with tails up. You are asked to sort out these coins into 2
piles. However, each pile should have the same count of tails
up coins. How is it possible?

Answer: First of all the piles need not be of the same size. |
can make 2 piles, one with 90 coins and the other with 10
coins. Now 1 just flip all of the 10 coins on the pile. So the
piles will have the same count of tails.

16. Robin tosses a coin 10 times and it landed in the heads up
position all ten times. So what are the possible chances for
him to toss it up again and gets landed in heads up position?
Answer: He has a 50 percent chance to toss the coin and see
the heads up position. This is because the coin toss is not
dependent on the first 10 tosses.

17. There are 100 pairs of dogs in a zoo. Two pairs of babies
are born for every dog. Unfortunately, 23 of the dogs have not
survived. How many dogs would be left in total?
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Answer: 977 dogs (100 x 2 = 200; 200 + 800 = 1000; 1000 —
23 =977)

18. If you multiply me by any other number, the answer will
always remain the same. Who am 1?

Answer: zero

19. The price of a duck is Rs. 9, a spider costs Rs. 36 and a
bee was priced Rs. 27. By taking into account this
information, what will be the price of a cat?

Answer: Rs.18 (Rs. 4.50 per leg)

20. It takes 12 men 12 hours to construct a wall. Then how
long will it take for 6 men to complete the same wall?
Answer: No time! There is no need of constructing it again as
the job is already done.

21. There are 6 black socks, 8 brown socks, 4 blue socks, and
2 red socks in my sock drawer. Can you figure out the
minimum number of socks to be pulled out in order to get a
matching pair for sure?

Answer: At least 5

22. 1/2 of 2/3 of 3/4 of 4/5 of 5/6 of 6/7 of 7/8 of 8/9 of 9/10
of 10,000. Can you solve this in a single step?

Answer: 1000! 1/10 of 10,000 give 1000. (Everything gets
cancel out if you multiply all of these fractions and the
remaining will be 1/10)

23. A man is twice as old as his little sister. He is also half as
old as their dad. Over a period of 50 years, the age of the
sister will become half of their dad’s age. What is the age of
the man now?

Answer: He is 50 years old.
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24. Tom and Peter live in different parts of city but studies in
the same high school. Tom left for school 10 minutes before
Peter started and they happened to meet at a park. At the time
of their meeting, who was closer to the school?

Answer: They are both at the same distance from school as
they met in the same place.

25.You are given a sequence: 1 11 21 1211 111221 312211.
Can you figure out the next number in this sequence?
Answer: 13112221 (Each of the number in the sequence is
the description of the previous number. If you start with 1, the
2nd number is 11 (one 1), third number is 21 (two 1’s), fourth
number is 1211 (one 2, one 1) and so on.

26. Seven boys met each other in a party. Each of them shakes
hands only once with each of the other boys. What is the total
number of handshakes that took place?

Answer: Twenty one

27. Amir has 2 buckets with him. The first bucket had only
red marbles and the other one had only brown marbles. The 2
of these buckets has equal number of marbles. What type of
arrangement can he make to increase the possibility of
grabbing a red marble from each of the buckets?

Answer: Keep only a single red marble in one bucket and the
remaining red and brown marbles in the other bucket. This
increases his chances of grabbing a red marble from each of
the bucket (75% approx) which is not possible with any other
arrangement.

28. Ravi has two Kkids. If the elder kid is a boy, then what is

the possibility that his other kid is also a boy?
Answer: 50 percent
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29. A group of students were standing in the blazing sun
facing due west on a march past event. The leader shouted at
them: Right turn! About turn! Left turn! At the end of these
commands, in which direction is the students facing now?
Answer: East. They will turn 90 degrees in a right turn, and
they turn180 degrees in an about turn, and finally they turn 90
degrees in a left turn. Therefore, the students are now facing
east.

30. Tom was on the way to KLCC Park. He met a guy with 7
wives and each of them came with 7 sacks. All these sacks
contain 7 cats and each of these 7 cats had 7 kits. So in total,
how many were going to KLCC Park?

Answer: 1. Only Tom was going to KLCC Park.

31. There are a certain number of books on my bookshelf. |
took a book which is 6th from the right and 4th from the left.
Can you find out the number of books on my shelf?

Answer: 9 ((6+4)-1. Or you just arrange a set of 10 books and
see how it works)

32. A grandfather, two fathers and two sons drove to park
together. Each of them bought one entry ticket each. How
many tickets have they bought in total?

Answer: 3 (there were only 3 people as the father is also a
son and grandfather is also a father)

33. Two aeroplanes started the voyage. One flight is flying
from London to KL at a speed of 400 MPH. The other flight
is flying from KL to London at a speed of 600 MPH. Both
these flights met at a point. Which of these flights will be
closer to KL?

Answer: Both these flights will be at the same distance from
KL when they meet.
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34. 5+5+5=550. You can draw just a single straight line to
make this equation true. How is it possible?

Answer: You can draw a straight line on the first plus sign.
This makes it number 4. Now the equation looks like
545+5=550 which is true. Or you can simply draw a cross line
on the equal symbol to make it “not equal to”.

35. Tom weighs half as much as Peter and Jerry weigh 3 times
the weight of Tom. Their total weight is 720 pounds. Can you
figure out the individual weights of each man?

Answer: Peter weighs twice the weight of Tom, and Jerry
weighs three times of the same. So you can divide their total
weight by 6 to get Tom’s weight

X+2x+3x =720

By dividing 720 by 6, we can understand that Tom weighs
120 Pounds. Considering this value, Peter weighs 240 Pounds
and Jerry weighs 360 Pounds.

36. Mary has 7 daughters and each of them has a brother. Can
you figure out the total number of kids Mary have?

Answer: 8 kids because the sisters have just one brother in
common.

37. There is an empty basket that is one foot in diameter. Can
you tell the total number of eggs that you can put in this
empty basket?

Answer: Only One Egg! Once you put an egg into the basket,
it doesn’t remain empty anymore.

38. When my dad was 31 years old, | was just 8 years. Now
his age is twice as old as my age. What is my present age?
Answer: When you calculate the difference between the ages,
you can see that it is 23 years. So you must be 23 years old
now.

39. There is a golf club that is formed for men only. The club
comprises a total of 600. 5% of the total men in the club have
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one tattoo. By taking into account the other 95% members,
half of them have two tattoos and the remaining men have no
tattoos. What is the total number of tattoos that you can see in
the club?

Answer: 600. According to the information 5% or 30 of them
are having one tattoo. Among the other 95% or 570 men, half
of them have two tattoos and the rest half have none. This is
equivalent to all of them having a tattoo.

40. 27 hens were marching towards the farm. 5 of them lost
their way, 13 hens returned, and 9 hens finally reached the
farm. What happened to the remaining hens?

Answer: None of the hens are remaining now! (27-5= 22; 22-
13=9, 9-9=0)

41.1=3, 2=3, 3=5, 4=4, 5=4, 6=3, 7=5, 8=5, 9=4, 10=3, 11=?
12=? Can you complete the sequence?
Answer: 6! The numbers indicate the number of letters in the
spelling of the corresponding number.

42. X is a three digit number. The tens digit is 5 more than the
ones digit. The hundreds digit is 8 less than the tens digit.
What is X?

Answer: Number 194,

43. 100 girls were attending a party. 85 of them had a red bag,
75 of them have worn brown shoes, 60 of them came with an
umbrella and 90 girls wore a ring. How many girls have had
all these four items?

Answer: 10

Divide by 3. All the girls had three items. The remainder
indicates the number of girls with 4 items.

44. When you add eight 8’s, the result you get will be number
1,000. How is it possible? You are permitted to use only
addition to solve the problem.

Answer: 888 +88 +8 +8 + 8 =1,000
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45. Thomas saw some cigarette butts on the ground on his
way home. He thought to make cigarettes with these buds and
4 butts makes one cigarette. There were 16 cigarette butts on
the ground. What is the maximum possible number of
cigarettes he can make out of them?

Answer: 5. First he can make 4 cigarettes with those 16 butts.
When he smokes those 4 cigarettes, he will get 4 more butts
and he can make one more cigarette with it.

46. Ravi had two ropes with him and both these ropes need
exactly 1 hour in order to get burnt from 1 end to the other
end. There is no option to cut the rope. So what is the
possibility that he can burn the 2 ropes in just 45 minutes?

Answer: Light up both sides of the first rope with fire so that
it starts burning from both ends and fire up the second rope on
one side only. In half an hour, the first rope will get
completely burnt and the second rope will be burnt only half.
At this particular time, you have to light up the second rope
from the other side. So rest of the rope gets burnt in 15
minutes. This makes it a total of 45 minutes for two ropes to
burn entirely.

47. Suppose 1+9+8=1, then what can be 2+8+9?

Answer: 10! (Consider the first letter of the spelling of each
digit, One+Nine+Eight= ONE, similarly Two+Eight+Nine=
TEN)

48. Two hens can lay two eggs in two minutes. If this is the
maximum speed possible, what is the total number of hen
needed to get 500 eggs in 500 minutes?

Answer: 2 hens

49. Sam was born on January 1st, 23 B.C. in KL town and
passed away on January 2nd, 23 A.D. What was his age when
he died?
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Answer: 45 years old! There are 23 years in both periods in
actual calculation but there is no 0 year. So you can add up
these periods and subtract 1 year. That means 23 + 23 — 1 =
45 years old.

50. Peter was asked how old he was. His reply was like this
“In a period of 2 years my age will be twice my age when you
asked this five years ago” How old is he?

Answer: Let Peter’s age be X Years

X+2=2(X-5)

X+2=2X-10

X=12

Math: Who said what...

1. “Do not worry about your difficulties in mathematics. I can assure
you mine are still greater.” — Albert Einstein

2. “The study of mathematics, like the Nile, begins in minuteness but
ends in magnificence.” — Charles Caleb Colton

3. “Without mathematics, there’s nothing you can do. Everything
around you is mathematics. Everything around you is numbers.”
— Shakuntala Devi

4. “In mathematics the art of proposing a question must be held of
higher value than solving it.” — Georg Ferdinand Ludwig Philipp
Cantor

5. “The only way to learn mathematics is to do mathematics.”
— Paul Halmos

6. “Obvious is the most dangerous word in mathematics.”
— Eric Temple Bell

7. “Mathematics is the music of reason.” — James Joseph Sylvester

8. “You don’t have to be a mathematician to have a feel for numbers.”
—John Forbes Nash, Jr.
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9. “Life is a math equation. In order to gain the most, you have to know
how to convert negatives into positives.” — Anonymous

10. “Arithmetic is being able to count up to twenty without taking off
your shoes.” — Mickey Mouse

11. “It is clear that the chief end of mathematical study must be to make
the students think.” — John Wesley Young

12. “One of the endlessly alluring aspects of mathematics is that its
thorniest paradoxes have a way of blooming into beautiful theories.”
— Philip J Davis

13. “Go down deep enough into anything and you will find
mathematics.” — Dean Schlicter

14. “Just because we can’t find a solution it doesn’t mean that there
isn’t one.” — Andrew Wiles

15. “Mathematics is the gate and key to science.” — Roger Bacon

16. “Mathematics is not about numbers, equations, computations, or
algorithms: it is about understanding.” — William Paul Thurston

17. “There should be no such thing as boring mathematics.”
— Edsger Dijkstra

18. “Nature is written in mathematical language.” — Galileo Galilei
19. “Mathematics is a language.” — Josiah Willard Gibbs

20. “Mathematics is, in its way, the poetry of logical ideas.”
— Albert Einstein

21. “Sometimes the questions are complicated and the answers are
simple.” — Dr. Seuss

22. “It’s fine to work on any problem, so long as it generates interesting
mathematics along the way — even if you don’t solve it at the end of the
day.” — Andrew Wiles
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23. “If you stop at general math, then you will only make general
money.” — Snoop Dogg

24. “Mathematics is the most beautiful and most powerful creation of
the human spirit.” — Stefan Banach

25. “Millions saw the apple fall, but Newton asked why.”
— Bernard Baruch

A Math Story

That year, in the local school, there was a new Math teacher, as
well as some new pupils. One of the new kids was the stupidest
child anyone had ever seen. It made no difference how quickly
or how slowly they tried explaining numbers to him; he would
always end up saying something enormously dumb. Like two
plus two was five, seven times three was twenty-seven, or a
triangle had thirty corners...

Before this boy arrived, Math lessons had been the most boring
of all. Now they were great fun. Encouraged by the new
teacher, the children would listen to the pieces of nonsense
spouted by the new kid, and they would have to correct his
mistakes.

They all wanted to be the first to find his mistakes, and then
think up the most original ways to explain them. To do this they
used all kinds of stuff: sweets, playing cards, oranges, paper
planes...

It didnt seem like any of this bothered the new kid.
However, little Lewis was sure that it was bound to make him
feel sad inside.

So, one day, he decided to follow the new kid home after school;
Lewis was sure he would see him crying.

On leaving school, the new kid walked a few minutes to a local
park, and there he waited for a while, until someone came along
to meet him...

It was the new teacher!
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The teacher gave the new kid a hug, and off they went, hand in
hand. Following from a distance, Lewis could hear they were
talking about Math.

And that stupid new kid knew everything about it, much more
than anyone in the class!
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Always ask yourself, &In what ways am I exceptional?”
Knowledge is a JOURNEY, not the DESTINATION!
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How Math Turned into.... (story)

| dreaded it and as such hated it.

Then came a new teacher to our village class
The first day, he entered the room with huge steps,
reached the blackboard in a few seconds, and wrote his
name. Some letters were in upper case and some in
lower; some were as big as the board itself and some
so small that we had to strain our eyes to see them.

Some were dark and bold and some were lean and thin.
As he turned around, the class suddenly became still
and silent, trying to make out what it was, and as we
read his name, we were all smiling, no laughing out
loud. Soon we realized that he had an enduring and
perpetual sense of humor and we began looking
forward to it.

The clouds started disappearing, the barriers began
crumbling, and the fears commenced evaporating.

What was dull and drab suddenly became exciting,
challenging, interesting and above all simple fun.
There was some humor added to every sum and there
was fun in every problem. Detest turned delight and
math became most enjoyable.
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